Form No. MGT-7

Annual Return (other than OPCs and Small Companies)

[Pursuant to sub-section (1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11 of the Companies (Management and Administration) Rules, 2014]

All fields marked in * are mandatory

Refer instruction kit for filing the form



Form language

I DECICED ATION		0.TI.ED	DET 4 11 C
I REGISTRATION	AND	OTHER	DETAILS

i *Corporate Identity Number (CIN)	L/4899DL1994PLC0	063708
ii (a) *Financial year for which the annual return is being filed (From date) (DD/MM/YYYY)	01/04/2024	
(b) *Financial year for which the annual return is being filed (To date) (DD/MM/YYYY)	31/03/2025	
(c) *Type of Annual filing	Original	Revised
(d) SRN of MGT-7 filed earlier for the same financial years		

iii

Particulars	As on filing date	As on the financial year end date
Name of the company	RAMSONS PROJECTS LIMITED	RAMSONS PROJECTS LIMITED
Registered office address	201, Empire Apartments, First Floor, Sultanpur, Gadaipur, New Delhi, South West Delhi, Delhi, India, 110030	201, Empire Apartments, First Floor, Sultanpur, Gadaipur, New Delhi, South West Delhi, Delhi, India, 110030
Latitude details	28.497913	28.497913
Longitude details	77.15841	77.15841

Longitude details	77.13841	77.13641
(a) *Photograph of the register showing external building	red office of the Company and name prominently visible	Reg office_merged.pdf
(b) *Permanent Account Numb	per (PAN) of the company	AA*****4F
(c) *e-mail ID of the company		*****elations@ramsonsprojects.
(d) *Telephone number with S	TD code	01******00

(e) Website					www.ramsonsprojects.com		
*Date of Incorporation	*Date of Incorporation (DD/MM/YYYY)				12/1994		
(a) *Class of Company (as on the financial year end date) (Private company/Public Company/One Person Company)				Pub	lic company		
		as on the financial year end date) Company limited by guarantee/Unlimi	ted company)	Com	npany limited by shares		
(c) *Sub-category of the Company (as on the financial year end date) (Indian Non-Government company/Union Government Company/State Government Company/ Guarantee and association company/Subsidiary of Foreign Company)				l l	an Non-Government comp	any	
*Whether company is	having sh	are capital (as on the financial yea	ar end date)	Yes	es ONo		
ii (a) Whether shares li	sted on re	cognized Stock Exchange(s)		⊚ Ye	es O No		
(b) Details of stock e	xchanges	where shares are listed					
S. No.	Stock Ex	change Name		Code	Code		
1		Bombay Stock Exchange ((BSE)	A1 - Bc	A1 - Bombay Stock Exchange (BSE)		
ii Number of Registrar a	and Trans	fer Agent		1			
CIN of the Registrar ar Transfer Agent	ıd	Name of the Registrar and Transfer Agent	Registered office ad the Registrar and Tr Agents		SEBI registration numbe of Registrar and Transfe Agent		
U67190MH1999PTC	OOMH1999PTC118368 MUFG INTIME INDIA PRIVATE LIMITED MUFG INTIME INDIA PRIVATE LIMITED C-101, 1st Floor, 247 Lal Bahadur Shastri Vikhroli (West,),,,Mumbai,Muml City,Maharashtra,Indi			ri Marg, st, nbai	INR000004058		
(* (a) Whether Annual	General N	leeting (AGM) held		Yes	es O No		
(b) If yes, date of AGI	M (DD/MI	M/YYYY)		19/0	06/2025		
(c) Due date of AGM (DD/MM/YYYY)			30/0	30/09/2025			
(d) Whether any extension for AGM granted				○ Ye	es No		
		equest Number (SRN) of the GNL	-1 application form				
filed for extension	on						

(f) I	Extended due date of AGM a	ofter grant of extension	on (DI	D/MM/YYYY)						
(g)	Specify the reasons for not	holding the same								
PRIN	CIPAL BUSINESS ACTIVITIES	OF THE COMPANY								
*Nu	mber of business activities						1			
S. No.	Main Activity group code	Description of Mai Activity group	in	Business Act Code	ivity	Descrip Busines	tion of ss Activity	% of turnove the company		
1	К	Financial and insur activities	rance	nce 64 activ		activi insu	ncial service vities, except urance and sion funding		0	
PAR ⁻	FICULARS OF HOLDING, SUE	SSIDIARY AND ASSOC	CIATE	COMPANIES (I	INCLUD	ING JOINT V	ZENTURES)			
i *No	. of Companies for which inf	ormation is to be giv	/en				0			
S. No.	CIN /FCRN		ther rounder	egistration	Name	of the any	Holding/ Subsidiar int Ventu	ry/Associate/Jo ire	% of shares held	
SHA	RE CAPITAL, DEBENTURES A	ND OTHER SECURITI	IES OF	THE COMPAN	IY					
	RE CAPITAL) Equity share capital									
Pari	ticulars	Authorised Capital	I	Issued capita	al	Subscribe	d capital	Paid Up capital		
Tot	al number of equity shares									

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of equity shares	400000.00	3006500.00	3006500.00	3006500.00
Total amount of equity shares (in rupees)	4000000.00	30065000.00	30065000.00	30065000.00

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Equity Share of Rs. 10 each				
Number of equity shares	400000	3006500	3006500	3006500
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	4000000.00	30065000.00	30065000	30065000

(b) Preference share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of preference shares	0.00	0.00	0.00	0.00
Total amount of preference shares (in rupees)	0.00	0.00	0.00	0.00

Nun	har	of c	lasses
nun	nber	OT C	iasses

0			

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)				

(c) Unclassified share capital

Particulars	Authorised Capital

Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Particulars		Number of share	es	Total Nominal Amount	Total Paid-up amount	Total premium
	Physical	DEMAT	Total			
(i) Equity shares						
At the beginning of the year	1139246	1867254	3006500.00	30065000	30065000	
Increase during the year	0.00	198207.00	198207.00	1982070.00	1982070.00	0
i Public Issues	0	0	0.00	0	0	
ii Rights issue	0	0	0.00	0	0	
iii Bonus issue	0	0	0.00	0	0	
iv Private Placement/ Preferential allotment	0	0	0.00	0	0	
v ESOPs	0	0	0.00	0	0	
vi Sweat equity shares allotted	0	0	0.00	0	0	
vii Conversion of Preference share	0	0	0.00	0	0	
viii Conversion of Debentures	0	0	0.00	0	0	
ix GDRs/ADRs	0	0	0.00	0	0	
x Others, specify Dematerialisation of physical shares		198207		1982070	1982070	
Decrease during the year	198207.00	0.00	198207.00	1982070.00	1982070.00	0
i Buy-back of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	
iv Others, specify Dematerialisation of physical shares	198207		198207.00	1982070	1982070	
At the end of the year	941039.00	2065461.00	3006500.00	30065000.00	30065000.00	
(ii) Preference shares						

	Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium	
	At the beginning of the year	0	0	0.00	0	0		
	Increase during the year	0.00	0.00	0.00	0.00	0.00	0	
	i Issues of shares	0	0	0.00	0	0		
	ii Re-issue of forfeited shares	0	0	0.00	0	0		
	iii Others, specify			0				
	Decrease during the year	0.00	0.00	0.00	0.00	0.00	0	
	i Redemption of shares	0	0	0.00	0	0		
	ii Shares forfeited	0	0	0.00	0	0		
	iii Reduction of share capital	0	0	0.00	0	0		
	iv Others, specify			0				
	At the end of the year	0.00	0.00	0.00	0.00	0.00	0.00	
i	ISIN of the equity shares of the compa		each class of sh	ares)	INE609D01	014		
	Class of sha	res						
	Before split / Consolidation	Number of sl	hares					
		Face value po	er share					
	After split / consolidation	Number of sl	hares					
		Face value po	er share					

iii Details of shares/Debentures Transfers since closure date of last financial year (or in the case of the first return at any time

since the incorporation of the company)

✓ Nil

umber of transfers								
achments:								
1. Details of shares/Debentures Tran	sfers							
ebentures (Outstanding as at the end of t) Non-convertible debentures	financial year)							
Number of classes						0		
classes of non-convertible debentures	Number of unit	s		Nominal va per unit	lue			value tanding at the f the year)
- Total								
classes of non-convertible debentures	Outstanding as a the beginning of the year		crea	ase during ear		ecrease Iring the y	year	Outstanding as at the end of the year
- Fotal								
Partly convertible debentures								
Number of classes						0		
lasses of partly convertible debentures	Number of unit	s		Nominal va per unit	lue			value tanding at the f the year)
- Fotal								
classes of partly convertible debentures	Outstanding as the beginning o the year			ease during year		Decrease luring the	e year	Outstanding as at the end of the year

							0		
Classes of fully co	onvertible debentu	ires	Number of units	S	Nomina per uni	-	lue	Total value (Outstanding at the end of the year)	
Total									
Classes of fully co	onvertible debentu	ires	Outstanding as at the beginning of the year	t Incre	ase durir ear	ng	Decrease during the yo	ear	Outstanding as at the end of the year
Total									
Summary of Inde	ebtedness								
	ebtedness		anding as at eginning of the	Increase of the year	during		crease ring the year		utstanding as at e end of the year
Particulars		the be			_				utstanding as at e end of the year 0.00
Particulars Non-convertible o	debentures	the be	eginning of the	the year	00		ring the year		e end of the year
Particulars Non-convertible of Partly convertible Fully convertible	debentures debentures	the be	0.00	the year	00		0.00		e end of the year 0.00
Particulars Non-convertible of Partly convertible	debentures debentures	the be	0.00 0.00	0.0 0.0	00		0.00 0.00		0.00 0.00
Particulars Non-convertible of Partly convertible Fully convertible Total	debentures debentures	the be	0.00 0.00 0.00 0.00	0.0 0.0	00		0.00 0.00 0.00		0.00 0.00 0.00
Particulars Non-convertible of Partly convertible Fully convertible Total	debentures debentures debentures	the be year	0.00 0.00 0.00 0.00	0.0 0.0 0.0	00		0.00 0.00 0.00 0.00	th	0.00 0.00 0.00

V Turnover and net worth of the company (as defined in the Companies Act, 2013)

(c) Fully convertible debentures

i *Turnover 36628503.32	
-------------------------	--

ii * Net worth of the Company

132890686.04

VI SHARE HOLDING PATTERN

A Promoters

S. No	Category	Ec	quity	Pre	ference
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	932028	31.00	0	0.00
	(ii) Non-resident Indian (NRI)	0	0.00	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	658854	21.91	0	0.00

10	Others				
	Total	1590882.00	52.91	0.00	0

Total number of shareholders (promoters)

8			

B Public/Other than promoters

S. No	Category	Equ	ity	Pre	ference
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	1404515	46.72	0	0.00
	(ii) Non-resident Indian (NRI)	524	0.02	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	625	0.02	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	9954	0.33	0	0.00

10	Others				
	Total	1415618.00	47.09	0.00	0

Total number of shareholders (other than promoters)

1279

Total number of shareholders (Promoters + Public/Other than promoters)

1287.00

Breakup of total number of shareholders (Promoters + Other than promoters)

SI.No	Category	
1	Individual - Female	295
2	Individual - Male	967
3	Individual - Transgender	0
4	Other than individuals	25
	Total	1287.00

C Details of Foreign institutional investors' (FIIs) holding shares of the company

1			

Name of the	Address	Date of Incorporation	Country of Incorporation	Number of shares held	% of shares held
Moneyplant Gold & Jewellery Trading L.L.C	OFFICE 103, THE BUSINESS CENTER BANK STREET, AL HAMRIYA BURJUMAN, DUBAI	04/09/2024	United Arab Emirates	625	0.02

VII NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS [Details of Promoters, Members (other than promoters), Debenture holders]

Details	At the beginning of the year	At the end of the year
Promoters	10	8
Members (other than promoters)	1095	1279
Debenture holders	0	0

VIII DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

A Composition of Board of Directors

Category	Number of directors at the beginning of the year Number of directors at the end of the year		Percentage of shares held by directors as at the end of year			
	Executive	Non- executive	Executive	Non- executive	Executive	Non- executive
A Promoter	1	1	0	1	0	0.13
B Non-Promoter	0	2	1	2	0.00	0.10
i Non-Independent	0	0	1	0	0	0
ii Independent	0	2	0	2	0	0.1
C Nominee Directors representing	0	0	0	0	0.00	0.00
i. Banks and FIs	0	0	0	0	0	0
ii Investing institutions	0	0	0	0	0	0
iii Government	0	0	0	0	0	0
iv Small share holders	0	0	0	0	0	0
v Others						
Total	1	3	1	3	0.00	0.23

^{*}Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

B (i) Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity shares held	Date of cessation (after closure of financial year : If any) (DD/MM/YYYY)
YOGESH KUMAR SACHDEVA	00171917	Managing Director	0	
RAKESH ARORA	00125976	Director	3928	
SUNDEEP KALSI	01493597	Director	3000	
JHUM JHUM SARKAR	07919658	Director	0	
ASHWARYA MAHESHWARI	IVDPS1637F	Company Secretary	0	
. SUSHMA	ADKPJ1880C	CFO	0	

Name	DIN/PAN	begii	gnation at the nning / during the ncial year	Date of appointment/ change in designation/ cessation (DD/MM/YYYY)	Nature of change (Appointment/ Change in designation/ Cessation)
ASHWARYA MAHESHWARI	IVDPS1637	7F Co	ompany Secretary	21/03/2025	Appointment
. SUSHMA	ADKPJ1880	С	CFO	21/03/2025	Appointment
SUNIL SACHDEVA	00012115	5	Director	12/02/2025	Cessation
AYUSH YADAV	AFEPY6273	SQ Co	ompany Secretary	20/03/2025	Appointment
SUNIL SACHDEVA	00012115	5 N	lanaging Director	14/11/2024	Change in designation
HARISH CHHABRA	AFIPC0533	М	CFO	20/03/2025	Appointment
YOGESH KUMAR SACHDEVA	00171917	7 Ac	dditional Director	15/11/2024	Appointment
YOGESH KUMAR SACHDEVA	00171917	7 N	lanaging Director	15/11/2024	Appointment
IEETINGS OF MEMB	ERS/CLASS OF M	EMBERS/ BO	ARD/COMMITTEES	OF THE BOARD OF DIREC	TORS
IEMBERS/CLASS /RE	QUISITIONED/NO				TORS
IEMBERS/CLASS /RE	QUISITIONED/NO	CLT/COURT C		Attendance	TORS
IEMBERS/CLASS /RE	QUISITIONED/NO	CLT/COURT C	ONVENED MEETING Total Number of Members entitle	Attendance	% of total shareholding
1EMBERS/CLASS /RE Number of meetings	QUISITIONED/NO	ing (Y)	ONVENED MEETING Total Number of Members entitle	Attendance Number of members	
Number of meetings Type of meeting Annual General Meeting	Date of meet (DD/MM/YY)	ing (Y)	Total Number of Members entitle attend meeting	Attendance Number of members attended	% of total shareholding
Number of meetings Type of meeting Annual General	Date of meet (DD/MM/YY)	ing (Y)	Total Number of Members entitle attend meeting	Attendance Number of members attended	% of total shareholding

meeting

			Number of directors attended	% of attendance
1	22/05/2024	4	4	100
2	12/08/2024	4	4	100
3	14/11/2024	4	4	100
4	12/02/2025	5	4	80
5	20/03/2025	4	4	100

C COMMITTEE MEETINGS

Number of	of me	etings	he	lc
-----------	-------	--------	----	----

13

S.No	Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members as on the date of meeting	Attendance	
				Number of members attended	% of attendance
1	Audit Committee	22/05/2024	3	3	100
2	Audit Committee	12/08/2024	3	3	100
3	Audit Committee	14/11/2024	3	3	100
4	Audit Committee	12/02/2025	3	3	100
5	Nomination & Remuneration Committee Meeting	14/11/2024	3	3	100
6	Nomination & Remuneration Committee Meeting	12/02/2025	3	3	100
7	Nomination & Remuneration Committee Meeting	20/03/2025	3	3	100
8	Investment & Lending Committee	19/07/2024	3	3	100
9	Investment & Lending Committee	01/11/2024	3	3	100
10	Stakeholder Relationship Committee	12/02/2025	2	2	100
11	Share Transfer Committee Convene	12/02/2025	3	3	100
12	Risk Management Committee	12/02/2025	3	3	100

13	Independent Director's Meeting	12/02/2025	2	2	100
----	-----------------------------------	------------	---	---	-----

D ATTENDANCE OF DIRECTORS

S. N o	Name of the Director	Board Meetings			Commi	ttee Meeting	Whether attended AGM held on	
		Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attenda nce	Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attend ance	19/06/2025 (Y/N/NA)
1	YOGESH KUMAR SACHDEVA	2	2	100	0	0	0	Yes
2	RAKESH ARORA	5	5	100	11	11	100	Yes
3	SUNDEEP KALSI	5	5	100	11	11	100	Yes
4	JHUM JHUM SARKAR	5	5	100	8	8	100	No

X RFMUNFRATION	OF DIRECTORS AND	KFY MANAGERIAL	PERSONNEL

			٠	1
	ın	ч		ı
		v		ı

A *Number of Managing Director,	, Whole-time Directors and/or Manager
whose remuneration details t	o he entered

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
	Total		0.00	0.00	0.00	0.00	0.00

В	*Number of	CEO,	CFO and C	ompany	secretar	y whose	remunera	ation
	details to b	e ent	ered					

3

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	Ayush Yadav	Company Secretary	721848	0	0	0	721848.00
2	Harish Chhabra	CFO	174667	0	0	0	174667.00

3	Ashwarya Maheshwari	Compa Secreta	1 50000	0	0	0	50000.00
	Total		946515.00	0.00	0.00	0.00	946515.00
Number	of other directors v	vhose remun	eration details to be	entered	0		
S. No.	Name	Designation	on Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
	Total		0.00	0.00	0.00	0.00	0.00
[:] No, give	e reasons/observation		uring the year				
PENALTY	Y AND PUNISHMEN	T – DETAILS	THEREOF				
PENALTY DETAILS	Y AND PUNISHMEN	T – DETAILS		NY/	Nil		
PENALTY DETAILS	OF PENALTIES / PUI PRS/OFFICERS the Name of court/	T – DETAILS TO THE CONCERNED TO THE CONC	THEREOF	NY/ ✓ Name of the A section under penalised / pu	act and Details	//	Details of appeal (if any) including present status
PENALTY DETAILS OF DIRECTO Name of company directors officers	OF PENALTIES / PUI PRS/OFFICERS The Name of court/ So/ Author	T – DETAILS	THEREOF POSED ON COMPAI Date of Order (DD/MM/YYYY)	Name of the A section under penalised / pu	oct and Details which penalty nished punish	//	(if any) including
PENALTY DETAILS OF DIRECTO Name of company directors officers	OF PENALTIES / PUI PRS/OFFICERS the Name of court/	T – DETAILS	THEREOF POSED ON COMPAI Date of Order (DD/MM/YYYY)	Name of the A	oct and Details which penalty nished punish	//	(if any) including

XIII Details of Shareholder / Debenture holder	
Number of shareholder/ debenture holder	1287
XIV Attachments	
(a) List of share holders, debenture holders	Details of Shareholder or Debenture holder Final.xlsm
(b) Optional Attachment(s), if any	

XV COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

I/We certify that:

- (a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
- (b) Unless otherwise expressly stated to the contrary elsewhere in this return, the Company has complied with applicable provisions of the Act during the financial year.
- (c) The company has not, since the date of the closure of the last financial year with reference to which the last return was submitted or in the case of a first return since the date of incorporation of the company, issued any invitation to the public to subscribe for any securities of the company.
- (d) Where the annual return discloses the fact that the number of members, (except in case of one person company), of the company exceeds two hundred, the excess consists wholly of persons who under second proviso to clause (ii) of sub-section (68) of section 2 of the Act are not to be included in reckoning the number of two hundred.

I/ We have examined the registers, records and books and papers of

RAMSONS PROJECTS LIMITED as required to be

maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on

(DD/MM/YYYY) 31/03/2025

In my/our opinion and to the best of my information and according to the examinations carried out by me/ us and explanations furnished to me/ us by the company, its officers and agents, I/ we certify that:

A The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.

B During the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:

- 1 its status under the Act;
- 2 maintenance of registers/records & making entries therein within the time prescribed therefor;
- 3 filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities within/beyond the prescribed time;
- 4 calling/ convening/ holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;
- 5 closure of Register of Members / Security holders, as the case may be.
- 6 advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;

7 contracts/arrangements with related parties as specified in section 188 of the Act;
8 issue or allotment or transfer or transmission or buy back of securities/ redemption of preference shares or debentures/
alteration or reduction of share capital/ conversion of shares/ securities and issue of security certificates in all instances;
9 keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in
compliance with the provisions of the Act
10 declaration/ payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor
Education and Protection Fund in accordance with section 125 of the Act;
11 signing of audited financial statement as per the provisions of section 134 of the Act and report of directors is as per subsections (3), (4) and (5) thereof;
12 constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key
Managerial Personnel and the remuneration paid to them;
13 appointment/ reappointment/ filling up casual vacancies of auditors as per the provisions of section 139 of the Act;
14 approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other

- 14 approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;
- 15 acceptance/ renewal/ repayment of deposits;
- 16 borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;
- 17 loans and investments or guarantees given or providing of securities to other bodies corporate or persons falling under the provisions of section 186 of the Act;
- 18 alteration of the provisions of the Memorandum and/ or Articles of Association of the Company;

To be digitally signed by						
Name	Richa Singh					
Date (DD/MM/YYYY)	12/08/2025					
Place	Gurugram					
Whether associate or fellow:						
AssociateFellow						
Certificate of practice number	1*6*0					
XVI Declaration under Rule 9(4) of the Companies (Management and Administration) Rules, 2014						
*(a) DIN/PAN/Membership number of Designated Person	00171917					
*(b) Name of the Designated Person	YOGESH KUMAR SACHDEVA					
Declaration						
I am authorised by the Board of Directors of the Company vide resolution number* 15	dated*					

(DD/MM/YYYY)	22/05/2025	to sign this form and declare that all the re	aguirements of Companies Act 2012
with. I further decla 1 Whatever is stated subject matter of th	re that: d in this form and in the attac iis form has been suppressed	subject matter of this form and matters inci hments thereto is true, correct and complet or concealed and is as per the original recor etely and legibly attached to this form.	te and no information material to the
*To be digitally sign	ed by		
*Designation			
_	erim Resolution Professional (IRP)/Re	solution Professional (RP))	Director
*DIN of the Director;	; or PAN of the Interim Resolu	tion	0*4*4*4
	Resolution Professional (RP)		0*1*1*1*
4- I I I I			
*To be digitally sign	ed by		
Company Secreta	ary Company sec	retary in practice	
, ,	,		
*Whether associate	or fellow:		
Associate	C Fellow		
Membership numbe	r		7*6*0
		!	
Certificate of practice	e number		
	rawn to provisions of Section ate and punishment for false	448 and 449 of the Companies Act, 2013 w	which provide for punishment for false
statement / certifica	ite and punishment for faise	evidence respectively.	
For office use only:			
eForm Service reque	st number (SPN)		AB5812076
er omi service reque	st number (sixiv)		AB3812070
eForm filing date (DI	D/MM/YYYY)		12/08/2025
		the Registrar of Companies through electr	onic mode and on the basis of
statement of correct	tness given by the company		

Sr. No.	Type of shareholder/	Category of shareholder	Details of shareholder/	Name of shareholder/ debenture holder	Tune of security held	Class of security held	Folio Number / Reference Number	DP ID-Client Id-Account	t Nationality/Country of	Gender	Type of Identifier	Identification No.	Occupation	Number of security held	Nominal value per security	Total amount of securities held (in
	debenture holder		debenture holder					Number	incorporation				Оссираноп			INR)
1	Individual	Other than promoter		MOHAN LAL CHHABRA	Equity	Equity share of Rs. 10 each	0000010		India	Male	Income Tax PAN	ABCDE1234F		2500	10	25000.00
2	Individual	Other than promoter		KRISHAN LAL	Equity	Equity share of Rs. 10 each	0000011		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
3	Individual	Other than promoter		BHAGAT RAM	Equity	Equity share of Rs. 10 each	0000017		India	Male	Income Tax PAN	AADPR7287F		1000	10	10000.00
4	Individual	Other than promoter		JAGAT KUMAR KAPOOR	Equity	Equity share of Rs. 10	0000018		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
5	Individual	Other than promoter		SHWETIKA BATRA	Equity	each Equity share of Rs. 10	0000023		India	Female	Income Tax PAN	ABCDE1234F		1900	10	19000.00
6	Individual	Other than promoter		SUMAN BATRA	Equity	each Equity share of Rs. 10	0000025		India	Female	Income Tax PAN	ABCDE1234F		1900	10	19000.00
		·				each										
7	Individual	Other than promoter		BUNTY SAAHEB	Equity	Equity share of Rs. 10 each	0000029		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
8	Individual	Other than promoter		SAVITA GAWRI	Equity	Equity share of Rs. 10 each	0000030		India	Female	Income Tax PAN	ABCDE1234F		500	10	5000.00
9	Individual	Other than promoter		DWARKA NATH KAKKAR	Equity	Equity share of Rs. 10 each	0000039		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
10	Individual	Other than promoter		SUBHASH C KUMAR	Equity	Equity share of Rs. 10	0000044		India	Male	Income Tax PAN	ABCDE1234F		27000	10	270000.00
11	Individual	Other than promoter		KAMLESH GAWRI	Equity	each Equity share of Rs. 10	0000046		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
12	Individual	Other than promoter		ARVIND MEHTA	Equity	each Equity share of Rs. 10	0000049		India	Male	Income Tax PAN	ABCDE1234F		1400	10	14000.00
	Individual	Other than promoter		ROSHAN LAL MADAN		each Equity share of Rs. 10	0000051		India	Male	Income Tax PAN	ABCDE1234F		1900	10	19000.00
13		·			Equity	each										
14	Individual	Other than promoter		SUNDEEP KALSI	Equity	Equity share of Rs. 10 each	0000052		India	Male	Income Tax PAN	ABCDE1234F		3000	10	30000.00
15	Individual	Other than promoter		RITU KALSI	Equity	Equity share of Rs. 10 each	0000056		India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
16	Individual	Other than promoter		RITU ARORA	Equity	Equity share of Rs. 10	0000058		India	Female	Income Tax PAN	ABCDE1234F		9500	10	95000.00
17	Individual	Other than promoter		JASBIR SINGH	Equity	each Equity share of Rs. 10	0000059		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
18	Individual	Other than promoter		VIJAY MALHOTRA	Equity	each Equity share of Rs. 10	0000060		India	Male	Income Tax PAN	ABCDE1234F		1900	10	19000.00
	Individual	·		JOGINDER LAL MALHOTRA		each Equity share of Rs. 10	0000061		India	Male		ABCDE1234F		1900	10	19000.00
19		Other than promoter			Equity	each					Income Tax PAN					
20	Individual	Other than promoter		LALITA CHANANA	Equity	Equity share of Rs. 10 each	0000062		India	Female	Income Tax PAN	ABCDE1234F		1000	10	10000.00
21	Individual	Other than promoter		SATISH KUMAR CHANANA	Equity	Equity share of Rs. 10 each	0000063		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
22	Individual	Other than promoter		SUNILKUMAR	Equity	Equity share of Rs. 10	0000066		India	Male	Income Tax PAN	ABCDE1234F		400	10	4000.00
23	Individual	Other than promoter		CHAMAN LAL HANDA	Equity	each Equity share of Rs. 10	0000071		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
24	Individual	Other than promoter		PROMOD KUMAR	Equity	each Equity share of Rs. 10	0000072		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
25	Individual	Other than promoter		VINOD KUMAR	Equity	each Equity share of Rs. 10	0000078		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
						each										
26	Individual	Other than promoter		V N SHUKLA	Equity	Equity share of Rs. 10 each	0000080		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
27	Individual	Other than promoter		SANJEEV KUMAR	Equity	Equity share of Rs. 10 each	0000083		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
28	Individual	Other than promoter		USARORA	Equity	Equity share of Rs. 10 each	0000084		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
29	Individual	Other than promoter		SATISH GOYAL	Equity	Equity share of Rs. 10	0000088		India	Male	Income Tax PAN	ABCDE1234F		1400	10	14000.00
30	Individual	Other than promoter		KHAJAN SINGH	Equity	each Equity share of Rs. 10	0000091		India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
31	Individual	Other than promoter		RANJEET SINGH	Equity	each Equity share of Rs. 10	0000092		India	Male	Income Tax PAN	ABCDE1234F		2400	10	24000.00
		·		KHILADI SINGH SUMAN		each						ABCDE1234F		500	10	5000.00
32	Individual	Other than promoter			Equity	Equity share of Rs. 10 each	0000097		India	Male	Income Tax PAN				· ·	
33	Individual	Other than promoter		SUSHMA GOYAL	Equity	Equity share of Rs. 10 each	0000099		India	Female	Income Tax PAN	ABCDE1234F		1400	10	14000.00
34	Individual	Other than promoter		SHALLU KHANNA	Equity	Equity share of Rs. 10 each	0000103		India	Female	Income Tax PAN	ABCDE1234F		500	10	5000.00
35	Individual	Other than promoter		VIJAY SHARMA	Equity	Equity share of Rs. 10	0000105		India	Male	Income Tax PAN	ABCDE1234F		300	10	3000.00
36	Individual	Other than promoter		SSMITTAL	Equity	each Equity share of Rs. 10	0000107		India	Male	Income Tax PAN	ABCDE1234F		800	10	8000.00
37	Individual	Other than promoter		SUSANTA DAS	Equity	each Equity share of Rs. 10	0000109		India	Female	Income Tax PAN	ABCDE1234F		500	10	5000.00
38	Individual	Other than promoter		JAYANTA SEN	Equity	each Equity share of Rs. 10	0000110		India	Female	Income Tax PAN	ABCDE1234F		500	10	5000.00
		·				each										
39	Individual	Other than promoter		SANTOSH RANI	Equity	Equity share of Rs. 10 each	0000111		India	Female	Income Tax PAN	ABCDE1234F		200	10	2000.00
40	Individual	Other than promoter		BHAG MAL TANDAN	Equity	Equity share of Rs. 10 each	0000112		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
41	Individual	Other than promoter		BHARAT SINGH	Equity	Equity share of Rs. 10 each	0000113		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
42	Individual	Other than promoter		ALKA TANEJA	Equity	Equity share of Rs. 10	0000114		India	Female	Income Tax PAN	ABCDE1234F		500	10	5000.00
43	Individual	Other than promoter		RENU SOBTI	Equity	each Equity share of Rs. 10	0000115		India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
44	Individual	Other than promoter		TILAK RAJ SOBTI	Equity	each Equity share of Rs. 10	0000120		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
						each										
45	Individual	Other than promoter		SUNIL S MODI	Equity	Equity share of Rs. 10 each	0000121		India	Male	Income Tax PAN	AAOPM7454Q		100	10	1000.00
46	Individual	Other than promoter		FRANCISCO SARDINHA	Equity	Equity share of Rs. 10 each	0000122		India	Male	Income Tax PAN	ABCDE1234F		1900	10	19000.00
47	Individual	Other than promoter		COLUMBA SARDINHA	Equity	Equity share of Rs. 10 each	0000123		India	Male	Income Tax PAN	ABCDE1234F		1900	10	19000.00
48	Individual	Other than promoter		MAMTA SHARMA	Equity	Equity share of Rs. 10	0000124		India	Female	Income Tax PAN	ABCDE1234F		300	10	3000.00
49	Individual	Other than promoter		JAYANT LAL PARMAR	Equity	each Equity share of Rs. 10	0000128		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
50	Individual	Other than promoter		MUKESH BATRA	Equity	each Equity share of Rs. 10	0000131		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
						each										
51	Individual	Other than promoter		NEERAJ KAKKAR	Equity	Equity share of Rs. 10 each	0000134		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
52	Individual	Other than promoter		RAJESH KHATRI	Equity	Equity share of Rs. 10 each	0000136		India	Male	Income Tax PAN	ABCDE1234F		500	10	5000.00
53	Individual	Other than promoter		DHIAN SINGH PATIAL	Equity	Equity share of Rs. 10 each	0000138		India	Male	Income Tax PAN	ABCDE1234F		1000	10	10000.00
54	Individual	Other than promoter		ANU KAKKAR	Equity	Equity share of Rs. 10	0000144		India	Female	Income Tax PAN	ABCDE1234F		1000	10	10000.00
55	Individual	Other than promoter		SAVI MANCHANDA	Equity	each Equity share of Rs. 10	0000145		India	Female	Income Tax PAN	ABCDE1234F		1000	10	10000.00
					,	each each										

56	Individual	Other than promoter	SHILA PATIAL	Equity	Equity share of Rs. 10	0000146	India	Female	Income Tax PAN	ABCDE1234F	1000	10	10000.00
					each								
57	Individual	Other than promoter	SANJAY KAPOOR	Equity	Equity share of Rs. 10	0000147	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
					each								
58	Individual	Other than promoter	ADURAM MAKKAR	Equity	Equity share of Rs. 10	0000149	India	Male	Income Tax PAN	ABCDE1234F	1900	10	19000.00
					each								
59	Individual	Other than promoter	S S BATRA	Equity	Equity share of Rs. 10	0000154	India	Male	Income Tax PAN	ABCDE1234F	3400	10	34000.00
					each								
60	Individual	Other than promoter	VIJAY BATRA	Equity	Equity share of Rs. 10	0000155	India	Male	Income Tax PAN	ABCDE1234F	3800	10	38000.00
					each								
61	Individual	Other than promoter	VINOD BUDHIRAJA	Equity	Equity share of Rs. 10	0000162	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
					each								
62	Individual	Other than promoter	AARTI BUDHIRAJA	Equity	Equity share of Rs. 10	0000163	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
					each								
63	Individual	Other than promoter	MEENA KALRA	Equity	Equity share of Rs. 10	0000167	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
					each								
64	Individual	Other than promoter	SUNITA SONI	Equity	Equity share of Rs. 10	0000175	India	Female	Income Tax PAN	ABCDE1234F	1000	10	10000.00
					each								

65	Individual	Other than promoter	NEETU ARVIND	Equity Equity share of Rs. 10	0000178	India	Female	Income Tax PAN	ABCDE1234F	1400	10	14000.00
				each								
66	Individual	Other than promoter	DILAWAR HUSSAIN	Equity Equity share of Rs. 10 each	0000179	India	Male	Income Tax PAN	ABCDE1234F	600	10	6000.00
67	Individual	Other than promoter	ASHOK KUMAR GUPTA	Equity Equity share of Rs. 10 each	0000181	India	Male	Income Tax PAN	ABCDE1234F	1900	10	19000.00
68	Individual	Promoter	JITENDRA SACHDEVA	Equity Equity share of Rs. 10 each	0000184	India	Male	Income Tax PAN	ABCDE1234F	2400	10	24000.00
69	Individual	Other than promoter	ASHA LATA BATRA	Equity Equity share of Rs. 10 each	0000185	India	Female	Income Tax PAN	ABCDE1234F	2400	10	24000.00
70	Individual	Other than promoter	VINOD MADAN	Equity Equity share of Rs. 10	0000190	India	Male	Income Tax PAN	ABCDE1234F	9500	10	95000.00
71	Individual	Other than promoter	POONAM MADAN	each Equity Equity share of Rs. 10	0000191	India	Female	Income Tax PAN	ABCDE1234F	9500	10	95000.00
72	Individual	Other than promoter	HARISH KUMAR	each Equity Equity share of Rs. 10	0000192	India	Male	Income Tax PAN	ABCDE1234F	28600	10	286000.00
73	Individual	Other than promoter	SSHAIDER	each Equity Equity share of Rs. 10	0000196	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
74	Individual	Other than promoter	BABA GURJEET SINGH BEDI	each Equity Equity share of Rs. 10	0000200	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
75	Individual	Other than promoter	ANJU AGGARWAL	each Equity Equity share of Rs. 10	0000201	India	Female	Income Tax PAN	ABCDE1234F	200	10	2000.00
				each								
76	Individual	Other than promoter	CHANDRA KALA MITTAL	Equity Equity share of Rs. 10 each	0000202	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
77	Individual	Other than promoter	SAMITA CHHABRA	Equity Equity share of Rs. 10 each	0000209	India	Female	Income Tax PAN	ABCDE1234F	9500	10	95000.00
78	Individual	Other than promoter	JEET SINGH	Equity Equity share of Rs. 10 each	0000211	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
79	Individual	Other than promoter	SURENDER KUMAR PRAKASH	Equity Equity share of Rs. 10 each	0000213	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
80	Individual	Other than promoter	SANYOGTA PRAKASH	Equity Equity share of Rs. 10	0000214	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
81	Individual	Other than promoter	M K THAREJA	each Equity Equity share of Rs. 10	0000215	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
82	Individual	Other than promoter	SUSHMITA RANGNEKAR	each Equity Equity share of Rs. 10	0000221	India	Female	Income Tax PAN	ABCDE1234F	1900	10	19000.00
83	Individual	Other than promoter	RENU JAIN	each Equity Equity share of Rs. 10	0000225	India	Female	Income Tax PAN	ABCDE1234F	9500	10	95000.00
84	Individual	Other than promoter	PAYALJAIN	each Equity Equity share of Rs. 10	0000226	India	Female	Income Tax PAN	ABCDE1234F	9500	10	95000.00
	Individual		PCJAIN	each	0000227	India	Male		ABCDE1234F			95000.00
85		Other than promoter		each				Income Tax PAN		9500	10	
86	Individual	Other than promoter	RAVINDER JIT SINGH	Equity Equity share of Rs. 10 each	0000228	India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
87	Individual	Other than promoter	VIJAYSURI	Equity Equity share of Rs. 10 each	0000229	India	Male	Income Tax PAN	ABCDE1234F	600	10	6000.00
88	Individual	Other than promoter	SANJEEV TYAGI	Equity Equity share of Rs. 10 each	0000230	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
89	Individual	Other than promoter	ASHOK BUDHIRAJA	Equity Equity share of Rs. 10 each	0000231	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
90	Individual	Other than promoter	PARASHURAM SINGH	Equity Equity share of Rs. 10	0000232	India	Male	Income Tax PAN	ABCDE1234F	300	10	3000.00
91	Individual	Other than promoter	RANJIT SINGH CHHATWAL	each Equity Equity share of Rs. 10	0000235	India	Male	Income Tax PAN	ABCDE1234F	600	10	6000.00
92	Individual	Other than promoter	AJAYTANEJA	each Equity Equity share of Rs. 10	0000236	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
93	Individual	Other than promoter	NISHA BUDHIRAJA	each Equity Equity share of Rs. 10	0000237	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
94	Individual	Other than promoter	VIJAY KUMAR	each Equity Equity share of Rs. 10	0000239	India	Male	Income Tax PAN	ABCDE1234F	2600	10	26000.00
95	Individual	Other than promoter	ROHIT KUMAR	each Equity Equity share of Rs. 10	0000240	India	Male	Income Tax PAN	ABCDE1234F	2200	10	22000.00
	Individual	Other than promoter	VANDANA GOYAL	each	0000241	India	Female	Income Tax PAN	ABCDE1234F	38100	10	381000.00
96		·		each								
97	Individual	Other than promoter	MAFAT LAL R SHAH	Equity Equity share of Rs. 10 each	0000243	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
98	Individual	Other than promoter	CHAMPALAL BHATI	Equity Equity share of Rs. 10 each	0000246	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
99	Individual	Other than promoter	KISHAN LAL BHATI	Equity Equity share of Rs. 10 each	0000247	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
100	Individual	Other than promoter	JITENDRA DATTA MISRA	Equity Equity share of Rs. 10 each	0000248	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
101	Individual	Other than promoter	RAJESH KUMAR S GUPTA	Equity Equity share of Rs. 10	0000249	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
102	Individual	Other than promoter	RAJIV S GUPTA	each Equity Equity share of Rs. 10	0000250	India	Male	Income Tax PAN	ABCDE1234F	3000	10	30000.00
103	Individual	Other than promoter	MVANITHA	each Equity Equity share of Rs. 10	0000251	India	Male	Income Tax PAN	ABCDE1234F	600	10	6000.00
104	Individual	Other than promoter	SAROJ JAIN	each Equity Equity share of Rs. 10	0000254	India	Female	Income Tax PAN	ABCDE1234F	1000	10	10000.00
105	Individual	Other than promoter	YASHPAL	each Equity Equity share of Rs. 10	0000257	India	Male	Income Tax PAN	ABCDE1234F	400	10	4000.00
106	Individual	Other than promoter	BRAHMDEV SINGH	each Equity Equity share of Rs. 10	0000279	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
107	Individual	·	SANJAY MATHUR	each	0000279	India		Income Tax PAN	ABCDE1234F			5000.00
		Other than promoter		each			Male			500	10	
108	Individual	Other than promoter	INDER KATARIA	Equity Equity share of Rs. 10 each	0000282	India	Male	Income Tax PAN	ABCDE1234F	1400	10	14000.00
109	Individual	Other than promoter	VINITA SETIA	Equity Equity share of Rs. 10 each	0000283	India	Female	Income Tax PAN	ABCDE1234F	600	10	6000.00
110	Individual	Other than promoter	MUKESH TYAGI	Equity Equity share of Rs. 10 each	0000284	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
111	Individual	Other than promoter	SAROJ KATARIA	Equity Equity share of Rs. 10 each	0000286	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
112	Individual	Other than promoter	CHAITENDRA BHARDWAJ	Equity Equity share of Rs. 10	0000292	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
113	Individual	Other than promoter	BHARAT BHUSHAN	each Equity Equity share of Rs. 10	0000294	India	Male	Income Tax PAN	ABCDE1234F	9200	10	92000.00
114	Individual	Other than promoter	ROSHINI DEVI	each Equity Equity share of Rs. 10	0000296	India	Female	Income Tax PAN	ABCDE1234F	1700	10	17000.00
115	Individual	Other than promoter	SAVITA MAKHIJA	each Equity Equity share of Rs. 10	0000304	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
116	Individual	Other than promoter	LOVE KUMAR MAKHIJA	each Equity Equity share of Rs. 10	0000305	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
117	Individual	Other than promoter	PARVEEN MAKHIJA	each Equity Equity share of Rs. 10	0000307	India	Male	Income Tax PAN	ABCDE1234F	1000		10000.00
		· ·		each							10	
118	Individual	Other than promoter	ANIL KUMAR	Equity Equity share of Rs. 10 each	0000309	India	Male	Income Tax PAN	ABCDE1234F	300	10	3000.00
119	Individual	Other than promoter	MOHAN LAL CHHABRA	Equity Equity share of Rs. 10 each	0000315	India	Male	Income Tax PAN	ABCDE1234F	28600	10	286000.00
120	Individual	Other than promoter	KAVITA DHINGRA	Equity Equity share of Rs. 10 each	0000317	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
$\overline{}$			· · · · · · · · · · · · · · · · · · ·	Cucii		 						

121	Individual	Other than promoter	MANOHAR LAL DHINGRA	Equity	Equity share of Rs. 10 each	0000318	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
122	Individual	Other than promoter	MAHENDER KUMAR	Equity	Equity share of Rs. 10 each	0000323	India	Male	Income Tax PAN	ABCDE1234F	95200	10	952000.00
123	Individual	Other than promoter	LAKHBEER SINGH	Equity	Equity share of Rs. 10	0000325	India	Male	Income Tax PAN	ABCDE1234F	800	10	8000.00
124	Individual	Other than promoter	GURDEEP SINGH	Equity	each Equity share of Rs. 10	0000326	India	Male	Income Tax PAN	ABCDE1234F	1400	10	14000.00
125	Individual	Other than promoter	ANURADHA	Equity	each Equity share of Rs. 10	0000331	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
126	Individual	Other than promoter	LAKSHMI DEVI	Equity	each Equity share of Rs. 10	0000334	India	Female	Income Tax PAN	ABCDE1234F	1000	10	10000.00
		Other than promoter			each								
127	Individual	Other than promoter	PUSHP LATA KHANNA	Equity	Equity share of Rs. 10 each	0000345	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
128	Individual	Other than promoter	NEELAM HANDA	Equity	Equity share of Rs. 10 each	0000346	India	Female	Income Tax PAN	ABCDE1234F	700	10	7000.00
129	Individual	Other than promoter	ANUP KUMAR HANDA	Equity	Equity share of Rs. 10 each	0000347	India	Male	Income Tax PAN	ABCDE1234F	800	10	8000.00
130	Individual	Other than promoter	AJAY KUMAR CHHABRA	Equity	Equity share of Rs. 10	0000348	India	Male	Income Tax PAN	ABCDE1234F	900	10	9000.00
131	Individual	Other than promoter	ALKA CHHABRA	Equity	each Equity share of Rs. 10	0000349	India	Female	Income Tax PAN	ABCDE1234F	800	10	8000.00
132	Individual	Other than promoter	RAJ KUMAR KHANNA	Equity	each Equity share of Rs. 10	0000350	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
133	Individual	Other than promoter	MADHVI MAI HOTRA	Equity	each Equity share of Rs. 10	0000351	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
134		00	RAJENDER KUMAR MALHOTRA		each Equity share of Rs. 10	0000352				ABCDE1234F	100	10	1000.00
	Individual	Other than promoter		Equity	each		India	Male	Income Tax PAN				
135	Individual	Other than promoter	JANKI	Equity	Equity share of Rs. 10 each	0000353	India	Female	Income Tax PAN	ABCDE1234F	2000	10	20000.00
136	Individual	Other than promoter	SURINDER CHHABRA	Equity	Equity share of Rs. 10 each	0000354	India	Male	Income Tax PAN	ABCDE1234F	4900	10	49000.00
137	Individual	Other than promoter	KAMLESH DHINGRA	Equity	Equity share of Rs. 10 each	0000355	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
138	Individual	Other than promoter	HEMRAJ	Equity	Equity share of Rs. 10	0000356	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
139	Individual	Other than promoter	PARVEEN DEVGAN	Equity	each Equity share of Rs. 10	0000357	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
140	Individual	Other than promoter	SHIVPRASHAD SATI	Equity	each Equity share of Rs. 10	0000358	India	Male	Income Tax PAN	ABCDE1234F	3800	10	38000.00
141	Individual	Other than promoter	NEERU BHALLA	Equity	each Equity share of Rs. 10	0000360	India	Female	Income Tax PAN	ABCDE1234F	4300	10	43000.00
					each								
142	Individual	Other than promoter	ANIL BHALLA	Equity	Equity share of Rs. 10 each	0000362	India	Male	Income Tax PAN	ABCDE1234F	9500	10	95000.00
143	Individual	Other than promoter	RAKESH BATRA	Equity	Equity share of Rs. 10 each	0000364	India	Male	Income Tax PAN	ABCDE1234F	3800	10	38000.00
144	Individual	Other than promoter	KISHAN KUMAR	Equity	Equity share of Rs. 10 each	0000372	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
145	Individual	Other than promoter	SARDOOL SINGH SACHDEVA	Equity	Equity share of Rs. 10 each	0000374	India	Male	Income Tax PAN	ABCDE1234F	1900	10	19000.00
146	Individual	Other than promoter	G D BHATT	Equity	Equity share of Rs. 10	0000375	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
147	Individual	Other than promoter	ANIL GUPTA	Equity	each Equity share of Rs. 10	0000376	India	Male	Income Tax PAN	ABCDE1234F	1900	10	19000.00
148	Individual	Other than promoter	SARITA AHUJA	Equity	each Equity share of Rs. 10	0000377	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
149	Individual	Other than promoter	TARUNA AHUJA	Equity	each Equity share of Rs. 10	0000380	India	Male	Income Tax PAN	ABCDE1234F	1400	10	14000.00
	Individual	· ·	RAM KUMAR SHARMA		each	0000392		Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
150		Other than promoter		Equity	Equity share of Rs. 10 each		India						
151	Individual	Other than promoter	SAVITRI KHULLAR	Equity	Equity share of Rs. 10 each	0000395	India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
152	Individual	Other than promoter	VINOD KHULLAR	Equity	Equity share of Rs. 10 each	0000397	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
153	Individual	Other than promoter	SHEELA MALIK	Equity	Equity share of Rs. 10 each	0000400	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
154	Individual	Other than promoter	ANIL CHHABRA	Equity	Equity share of Rs. 10	0000408	India	Male	Income Tax PAN	ABCDE1234F	1100	10	11000.00
155	Individual	Other than promoter	SUNITA CHHABRA	Equity	each Equity share of Rs. 10	0000410	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
156	Individual	Other than promoter	ANITA GOGIA	Equity	each Equity share of Rs. 10	0000414	India	Male	Income Tax PAN	ABCDE1234F	2400	10	24000.00
157	Individual	Other than promoter	R K AHUJA	Equity	each Equity share of Rs. 10	0000415	India	Male	Income Tax PAN	ABCDE1234F	2400	10	24000.00
	Individual	Other than prometer	BHARAT GOGIA		each	0000416	India		Income Tay DAN	ABCDE1234F	12400	10	124000.00
158	Individual	Other than promoter		Equity	Equity share of Rs. 10 each	0000416	India	Male	Income Tax PAN				
159	Individual	Other than promoter	PREM LATA PRAJAPAT	Equity	Equity share of Rs. 10 each	0000418	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
160	Individual	Other than promoter	ALI ASGAR VOHRA	Equity	Equity share of Rs. 10 each	0000419	India	Male	Income Tax PAN	ABCDE1234F	300	10	3000.00
161	Individual	Other than promoter	 JITENDRA	Equity	Equity share of Rs. 10 each	0000424	India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
162	Individual	Other than promoter	AMRITLAL CHHAGANDA PATEL	Equity	Equity share of Rs. 10	0000425	India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
163	Individual	Other than promoter	SAVITA RANI	Equity	each Equity share of Rs. 10	0000427	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
164	Individual	Other than promoter	JAGAT PRAKASH SHARMA	Equity	each Equity share of Rs. 10	0000428	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
165	Entity	Other than promoter	CHANAKYA FINVEST (P) LTD.	Equity	each Equity share of Rs. 10	0000429	India	Not applicable	CIN	U74899WB1995PPC131767	300	10	3000.00
166	Individual	Other than promoter	VASU DEV MITTAL	Equity	each Equity share of Rs. 10	0000431	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		Other than promoter Other than promoter	PARMANAND MITTAL		each	0000431				ABCDE1234F	100		1000.00
167	Individual			Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN			10	
168	Individual	Other than promoter	VINOD AGGARWAL	Equity	Equity share of Rs. 10 each	0000433	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
169	Individual	Other than promoter	VINOD AGGARWAL	Equity	Equity share of Rs. 10 each	0000434	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
170	Individual	Other than promoter	JAYESH LAXMICHAND SHAH	Equity	Equity share of Rs. 10 each	0000435	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
171	Individual	Other than promoter	MAHENDRA G. SHAHDADPURI	Equity	Equity share of Rs. 10	0000436	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
172	Individual	Other than promoter	MEENA K. VIKAM	Equity	each Equity share of Rs. 10	0000437	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
173	Individual	Other than promoter	SANJEEV GUPTA	Equity	each Equity share of Rs. 10	0000438	India	Male	Income Tax PAN	ABCDE1234F	1000	10	10000.00
174	Individual	Other than promoter	RAJIV SAXENA	Equity	each Equity share of Rs. 10	0000442	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
175	Individual	Other than promoter	GAYATRI	Equity	Equity share of Rs. 10 each	0000452	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
176	Individual	Other than promoter	RAMRAL	Equity	Equity share of Rs. 10 each	0000460	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00

177	Individual	Other than promoter	PANKAJ AGGARWAL	Equity	Equity share of Rs. 10 each	0000470	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
178	Individual	Other than promoter	S.P. MANDAL	Equity	Equity share of Rs. 10 each	0000483	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
179	Individual	Other than promoter	BRIJ LAL ARORA	Equity	Equity share of Rs. 10	0000494	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
180	Individual	Other than promoter	SANJAY BAKSHI	Equity	each Equity share of Rs. 10	0000523	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
181	Individual	Other than promoter	K. L. KHURANA	Equity	each Equity share of Rs. 10	0000538	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
182	Individual	Other than promoter	NEELAM ARORA	Equity	Equity share of Rs. 10 each	0000555	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
183	Individual	Other than promoter	JAGDISH	Equity	Equity share of Rs. 10 each	0000574	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
184	Individual	Other than promoter	OM PRAKSH	Equity	Equity share of Rs. 10 each	0000575	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
185	Individual	Other than promoter	PRABHA	Equity	Equity share of Rs. 10	0000576	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
186	Individual	Other than promoter	DINESH ARORA	Equity	each Equity share of Rs. 10	0000577	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
187	Individual	Other than promoter	SUSHMA	Equity	each Equity share of Rs. 10	0000578	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual	Other than promoter	POONAM		each	0000579	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
188	Individuat			Equity	Equity share of Rs. 10 each	0000579	india	remate	income tax PAN		100		
189	Individual	Other than promoter	NARENDRA RAHEJA	Equity	Equity share of Rs. 10 each	0000580	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
190	Individual	Other than promoter	NEELAM	Equity	Equity share of Rs. 10 each	0000581	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
191	Individual	Other than promoter	LAJPAT RAI	Equity	Equity share of Rs. 10	0000582	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
192	Individual	Other than promoter	MUKESH	Equity	each Equity share of Rs. 10	0000583	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
193	Individual	Other than promoter	KESHAV DASS	Equity	each Equity share of Rs. 10	0000584	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
194	Individual	Other than promoter	 SANJAN	Equity	Equity share of Rs. 10 each	0000585	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
195	Individual	Other than promoter	K.K. KHATTER	Equity	Equity share of Rs. 10 each	0000586	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
196	Individual	Other than promoter	SHIV DUTT ARORA	Equity	Equity share of Rs. 10	0000587	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
197	Individual	Other than promoter	ASHOK KALRA	Equity	each Equity share of Rs. 10	0000588	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
198	Individual	Other than promoter	RENU KALRA	Equity	each Equity share of Rs. 10	0000589	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
199	Individual	00	SURESH		each	0000591	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		Other than promoter		Equity	Equity share of Rs. 10 each			Male					
200	Individual	Other than promoter	S.R. GOEL	Equity	Equity share of Rs. 10 each	0000594	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
201	Individual	Other than promoter	BABLY GOEL	Equity	Equity share of Rs. 10 each	0000595	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
202	Individual	Other than promoter	V.K. TANEJA	Equity	Equity share of Rs. 10	0000596	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
203	Individual	Other than promoter	GOVIND TANEJA	Equity	each Equity share of Rs. 10	0000597	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
204	Individual	Other than promoter	SANJAYAHUJA	Equity	each Equity share of Rs. 10	0000598	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
205	Individual	Other than promoter	ANJU AHUJA	Equity	each Equity share of Rs. 10	0000599	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
		· ·			each								
206	Individual	Other than promoter	GEETANJALI AHUJA	Equity	Equity share of Rs. 10 each	0000600	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
207	Individual	Other than promoter	RAYANA	Equity	Equity share of Rs. 10 each	0000609	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
208	Individual	Other than promoter	DARSHNA	Equity	Equity share of Rs. 10	0000610	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
209	Individual	Other than promoter	BHARTI	Equity	each Equity share of Rs. 10	0000612	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
210	Individual	Other than promoter	J.P. MEHTA	Equity	each Equity share of Rs. 10	0000613	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
211	Individual	Other than promoter	RAJ MEHTA	Equity	each Equity share of Rs. 10	0000614	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
212	Individual	Other than promoter	ASHOK MEHTA	Equity	Equity share of Rs. 10 each	0000615	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
213	Individual	Other than promoter	DEEPIKA	Equity	Equity share of Rs. 10 each	0000621	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
214	Individual	Other than promoter	HONEY	Equity	Equity share of Rs. 10	0000622	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
215	Individual	Other than promoter	ASHA	Equity	each Equity share of Rs. 10	0000623	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
216	Individual	Other than promoter	SAVITA	Equity	each Equity share of Rs. 10	0000625	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual		P.P. ARYA		each	0000626	India	Male	Income Tax PAN	ABCDE1234F			1000.00
217		Other than promoter		Equity	Equity share of Rs. 10 each						100	10	
218	Individual	Other than promoter	 RAJ ARYA	Equity	Equity share of Rs. 10 each	0000627	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
219	Individual	Other than promoter	SANDEEP ARYA	Equity	Equity share of Rs. 10 each	0000628	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
220	Individual	Other than promoter	MANJU ARYA	Equity	Equity share of Rs. 10	0000629	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
221	Individual	Other than promoter	POONAM ARYA	Equity	each Equity share of Rs. 10	0000630	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
222	Individual	Other than promoter	VIRENDER GOEL	Equity	each Equity share of Rs. 10	0000631	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual	Other than promoter	SATPAL GOGIA		each Equity share of Rs. 10	0000637	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
223				Equity	each								
224	Individual	Other than promoter	BHAJ GOGIA	Equity	Equity share of Rs. 10 each	0000638	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
225	Individual	Other than promoter	SUNIL GOGIA	Equity	Equity share of Rs. 10 each	0000639	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
226	Individual	Other than promoter	AMIT GOGIA	Equity	Equity share of Rs. 10	0000640	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
227	Individual	Other than promoter	JAGDISH GOGIA	Equity	each Equity share of Rs. 10	0000642	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
228	Individual	Other than promoter	AJAY GOGIA	Equity	each Equity share of Rs. 10	0000643	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
229	Individual	Other than promoter	 ASHOK GOGIA	Equity	Equity share of Rs. 10 each	0000644	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
230	Individual	Other than promoter	SHANKUNTLA NASSA	Equity	Equity share of Rs. 10 each	0000645	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
231	Individual	Other than promoter	DEVINDER ARORA	Equity	Equity share of Rs. 10	0000646	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
232	Individual	Other than promoter	NEELAM ARORA	Equity	each Equity share of Rs. 10	0000647	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
\Box					each	L	 						

							I	1						
233	Individual	Other than promoter	SONIA AR		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
234	Individual	Other than promoter	MONA AR	ORA Equity	Equity share of Rs. 10 each	0000649		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
235	Individual	Other than promoter	RAJESH AF	RORA Equit		0000650		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
236	Individual	Other than promoter	VIJAYWAD	HWA Equit		0000652		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
237	Individual	Other than promoter	SONU WAE	DHWA Equit	Equity share of Rs. 10	0000653		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
238	Individual	Other than promoter	NIDHI	I Equity	each Equity share of Rs. 10	0000654		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
239	Individual	Other than promoter	KUSUM AR	RORA Equity	each Equity share of Rs. 10	0000655		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
240	Individual	Other than promoter	GAURAV AI		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
241	Individual	Other than promoter	KAMALAR		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
242	Individual	Other than promoter	MADHU AF		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
243	Individual	Other than promoter	DEEPAKKH	IANNA Equity	Equity share of Rs. 10 each	0000659		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
244	Individual	Other than promoter	SATNAMAI	RORA Equit	Equity share of Rs. 10 each	0000660		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
245	Individual	Other than promoter	RAVIARO	ORA Equit		0000661		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
246	Individual	Other than promoter	VIMAL GO	DYAL Equit		0000663		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
247	Individual	Other than promoter	SUNITA GO	OYAL Equity	Equity share of Rs. 10	0000664		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
248	Individual	Other than promoter	LALJI	Equit	each Equity share of Rs. 10	0000665		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
249	Individual	Other than promoter	KALAWA	ATI Equity	each Equity share of Rs. 10	0000666		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
250	Individual	Other than promoter	DARSHAN		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
251	Individual	Other than promoter	KAMLESH M		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
252	Individual	Other than promoter	SANJEEV M.		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
253	Individual	Other than promoter	RASHMI MA		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
254	Individual	Other than promoter	RAJIV	Equity	Equity share of Rs. 10 each	0000671		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
255	Individual	Other than promoter	BALBIR B	AJAJ Equit		0000672		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
256	Individual	Other than promoter	ROMI	Equit		0000673		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
257	Individual	Other than promoter	RAJEE	Equit	Equity share of Rs. 10	0000674		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
258	Individual	Other than promoter	SHAMN	MI Equit	each Equity share of Rs. 10	0000675		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
259	Individual	Other than promoter	RAKESH MA	ADAN Equity	each Equity share of Rs. 10	0000676		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
260	Individual	Other than promoter	PYRE LAL M		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
261	Individual	Other than promoter	MEER		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
262	Individual	Other than promoter	ANITA GO		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
263	Individual	Other than promoter	P. D. GOI		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
264	Individual	Other than promoter	K.K. CHHA	ABRA Equity	Equity share of Rs. 10 each	0000681		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
265	Individual	Other than promoter	SASHI	I Equit	Equity share of Rs. 10 each	0000682		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
266	Individual	Other than promoter	MANJU	J Equit		0000683		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
267	Individual	Other than promoter	AYAL	Equit		0000684		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
268	Individual	Other than promoter	NARINDER J	IUNEJA Equity	Equity share of Rs. 10	0000685		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
269	Individual	Other than promoter	AJAY JUN	IEJA Equit		0000686		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
270	Individual	Other than promoter	RAJU	Equity	each Equity share of Rs. 10	0000687		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
271	Individual	Other than promoter	BALDEVI		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
272	Individual	Other than promoter	GAYATI		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
		Other than promoter Other than promoter	LADHAR		each				Male		ABCDE1234F ABCDE1234F			1000.00
273	Individual				each			India		Income Tax PAN		100	10	
274	Individual	Other than promoter	KRISHN	, ,	each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
275	Individual	Other than promoter	SANJA	Y Equit	Equity share of Rs. 10 each	0000693		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
276	Individual	Other than promoter	ANIL	Equity		0000694		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
277	Individual	Other than promoter	MANJL	U Equit		0000695		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
278	Individual	Other than promoter	ASHO	K Equit	Equity share of Rs. 10	0000696		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
279	Individual	Other than promoter	P.L. NAS	HA Equit		0000697		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
280	Individual	Other than promoter	LAXMI CHA	AWLA Equity		0000698		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
281	Individual	Other than promoter	SHAKUN		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
282	Individual	Other than promoter	RAMESH LU		each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
283	Individual	Other than promoter	SUSHMA NA		each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
284	Individual	Other than promoter	PREM KUMAR	NAGPAL Equity	each			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
285	Individual	Other than promoter	D.D. SIN	GH Equit		0000703		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
286	Individual	Other than promoter	DHAMINE	DER Equit		0000704		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
287	Individual	Other than promoter	CHANDRA R	KANTE Equit	Equity share of Rs. 10	0000705		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
288	Individual	Other than promoter	BHIM KUP	MAR Equit		0000706		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
1					each									

289	Individual	Other than promoter	SASHI MANGLE	Equity	Equity share of Rs. 10 each	0000707	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
290	Individual	Other than promoter	ASHOK NIJARA	Equity	Equity share of Rs. 10	0000710	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
291	Individual	Other than promoter	SUBADRA	Equity	each Equity share of Rs. 10	0000712	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
292	Individual	Other than promoter	SANJAY	Equity	each Equity share of Rs. 10	0000713	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		·			each								
293	Individual	Other than promoter	RAKESH	Equity	Equity share of Rs. 10 each	0000719	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
294	Individual	Other than promoter	PREM	Equity	Equity share of Rs. 10 each	0000720	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
295	Individual	Other than promoter	SAVITRI DEVI	Equity	Equity share of Rs. 10 each	0000721	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
296	Individual	Other than promoter	KAMLESH AHUJA	Equity	Equity share of Rs. 10	0000722	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
297	Individual	Other than promoter	DHARAM PAL	Equity	each Equity share of Rs. 10	0000723	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
298	Individual	Other than promoter	ISHWAR DAS	Equity	each Equity share of Rs. 10	0000724	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
299	Individual	Other than promoter	SHEELA DEVI	Equity	Equity share of Rs. 10 each	0000725	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
300	Individual	Other than promoter	RAMESH	Equity	Equity share of Rs. 10 each	0000726	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
301	Individual	Other than promoter	SANJAY	Equity	Equity share of Rs. 10	0000727	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
302	Individual	Other than promoter	VIJAY	Equity	each Equity share of Rs. 10	0000728	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
303	Individual	Other than promoter	SHANTI	Equity	each Equity share of Rs. 10	0000729	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
304	Individual	Other than promoter	ASHA	Equity	Equity share of Rs. 10 each	0000730	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
305	Individual	Other than promoter	KESHAV RAM	Equity	Equity share of Rs. 10 each	0000732	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
306	Individual	Other than promoter	RAM BEHARI	Equity	Equity share of Rs. 10	0000733	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
307	Individual	Other than promoter	LAJOO	Equity	each Equity share of Rs. 10	0000734	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
308	Individual	Other than promoter	MANJU CHAWLA	Equity	each Equity share of Rs. 10	0000735	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
309	Individual	Other than promoter	SEEMA CHAWLA	Equity	Equity share of Rs. 10 each	0000736	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
310	Individual	Other than promoter	SHALINI CHAWLA	Equity	Equity share of Rs. 10 each	0000737	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
311	Individual	Other than promoter	SHANTI	Equity	Equity share of Rs. 10 each	0000738	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
312	Individual	Other than promoter	RAJ KUMAR	Equity	Equity share of Rs. 10	0000739	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
313	Individual	Other than promoter	MANJEET SALUJA	Equity	each Equity share of Rs. 10	0000740	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual		NARENDER SALUJA		each	0000741		Male		ABCDE1234F			1000.00
314		Other than promoter		Equity	Equity share of Rs. 10 each		India		Income Tax PAN		100	10	
315	Individual	Other than promoter	ASHOK	Equity	Equity share of Rs. 10 each	0000742	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
316	Individual	Other than promoter	VIMAL	Equity	Equity share of Rs. 10 each	0000743	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
317	Individual	Other than promoter	T.C. SAPRA	Equity	Equity share of Rs. 10	0000744	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
318	Individual	Other than promoter	ANITA SAPRA	Equity	each Equity share of Rs. 10	0000745	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
319	Individual	Other than promoter	AMIT DAWAR	Equity	each Equity share of Rs. 10	0000757	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
320	Individual	Other than promoter	PRITI DAWAR	Equity	Equity share of Rs. 10 each	0000758	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
321	Individual	Other than promoter	JAGDISH SETIA	Equity	Equity share of Rs. 10 each	0000759	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
322	Individual	Other than promoter	RAM LAL JUNEJA	Equity	Equity share of Rs. 10	0000760	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
323	Individual	Other than promoter	KAMLA SUNEJA	Equity	each Equity share of Rs. 10	0000761	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
324	Individual	Other than promoter	DHARMENDER	Equity	each Equity share of Rs. 10	0000762	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual	Other than promoter	K.K. SUNEJA		each	0000763	India		Income Tax PAN	ABCDE1234F	100	10	1000.00
325	Individuat			Equity	Equity share of Rs. 10 each	0000763	india	Male					
326	Individual	Other than promoter	USHA JUNEJA	Equity	Equity share of Rs. 10 each	0000764	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
327	Individual	Other than promoter	RUPESH SUNEJA	Equity	Equity share of Rs. 10 each	0000765	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
328	Individual	Other than promoter	BHAWANA SUNEJA	Equity	Equity share of Rs. 10	0000766	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
329	Individual	Other than promoter	O.P. SUNEJA	Equity	each Equity share of Rs. 10	0000767	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
330	Individual	Other than promoter	KAUSHLYA SUNEJA	Equity	each Equity share of Rs. 10	0000768	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
331	Individual	Other than promoter	MEENAKSHI	Equity	Equity share of Rs. 10 each	0000769	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
332	Individual	Other than promoter	RAJNI SETHI	Equity	Equity share of Rs. 10 each	0000770	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
333	Individual	Other than promoter	RADHEYSHYAM SETHI	Equity	Equity share of Rs. 10	0000771	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
334	Individual	Other than promoter	BHAGWANTISETHI	Equity	each Equity share of Rs. 10	0000772	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
335	Individual	Other than promoter	SUBHASH	Equity	each Equity share of Rs. 10	0000773	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each								
336	Individual	Other than promoter	MAN SINGH	Equity	Equity share of Rs. 10 each	0000774	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
337	Individual	Other than promoter	LAL CHAND	Equity	Equity share of Rs. 10 each	0000775	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
338	Individual	Other than promoter	O.P. RAIPAL	Equity	Equity share of Rs. 10	0000776	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
339	Individual	Other than promoter	USHA RAJPAL	Equity	each Equity share of Rs. 10	0000777	India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
340	Individual	Other than promoter	BHUSHAN RAJPAL	Equity	each Equity share of Rs. 10	0000778	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
	Individual				each					ABCDE1234F	100		1000.00
341		Other than promoter	MADHU	Equity	Equity share of Rs. 10 each	0000779	India	Female	Income Tax PAN			10	
342	Individual	Other than promoter	SANJEEV	Equity	Equity share of Rs. 10 each	0000780	India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
343	Individual	Other than promoter	MUKESH	Equity	Equity share of Rs. 10 each	0000781	India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
344	Individual	Other than promoter	RAJ	Equity	Equity share of Rs. 10	0000782	India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
\Box					each		 1						

							,							
345	Individual	Other than promoter	YALA	Equity	Equity share of Rs. 10 each	0000783	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
346	Individual	Other than promoter	SUNIL	Equity	Equity share of Rs. 10 each	0000784	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
347	Individual	Other than promoter	ANIL	Equity	Equity share of Rs. 10 each	0000785	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
348	Individual	Other than promoter	SUDHIR SHARMA	Equity	Equity share of Rs. 10 each	0000786	India	Male	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
349	Individual	Other than promoter	SANDEEP	Equity	Equity share of Rs. 10	0000787	India	Male	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
350	Individual	Other than promoter	VISHNU	Equity	each Equity share of Rs. 10	0000788	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
351	Individual	Other than promoter	KALPESHWARI	Equity	each Equity share of Rs. 10	0000789	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
352	Individual		DEVESHWARI		each			Male	Income Tax PAN	ABCDE1234F		100		1000.00
		Other than promoter		Equity	Equity share of Rs. 10 each		India						10	
353	Individual	Other than promoter	GEETA	Equity	Equity share of Rs. 10 each	0000791	India	Female	Income Tax PAN	ABCDE1234F		200	10	2000.00
354	Individual	Other than promoter	RAVINDER	Equity	Equity share of Rs. 10 each	0000792	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
355	Individual	Other than promoter	SANTOSH	Equity	Equity share of Rs. 10 each	0000794	India	Male	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
356	Individual	Other than promoter	KULDEEP	Equity	Equity share of Rs. 10 each	0000795	India	Male	Income Tax PAN	ABCDE1234F	:	100	10	1000.00
357	Individual	Other than promoter	SHIV	Equity	Equity share of Rs. 10	0000796	India	Male	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
358	Individual	Other than promoter	SAVITRI	Equity	each Equity share of Rs. 10	0000797	India	Female	Income Tax PAN	ABCDE1234F		200	10	2000.00
359	Individual	Other than promoter	RAM	Equity	each Equity share of Rs. 10	0000798	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
360	Individual	Other than promoter	PUNEET	Equity	each Equity share of Rs. 10		India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
					each									
361	Individual	Other than promoter	RAJEEV	Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
362	Individual	Other than promoter	SANTOSH	Equity	Equity share of Rs. 10 each	0000801	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
363	Individual	Other than promoter	JAI KISHAN	Equity	Equity share of Rs. 10 each	0000802	India	Male	Income Tax PAN	ABCDE1234F		200	10	2000.00
364	Individual	Other than promoter	MANOJ	Equity	Equity share of Rs. 10 each	0000803	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
365	Individual	Other than promoter	LEENA	Equity	Equity share of Rs. 10	0000804	India	Female	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
366	Individual	Other than promoter	PRIYA	Equity	each Equity share of Rs. 10	0000805	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
367	Individual	Other than promoter	MOHIT	Equity	each Equity share of Rs. 10	0000806	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
368	Individual	Other than promoter	SUNDRIDEVI	Equity	each Equity share of Rs. 10	0000807	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
369	Individual	Other than promoter	AJIT KUMAR	Equity	each Equity share of Rs. 10		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
		· ·			each									
370	Individual	Other than promoter	RITU	Equity	Equity share of Rs. 10 each		India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
371	Individual	Other than promoter	ARUN	Equity	Equity share of Rs. 10 each	0000810	India	Male	Income Tax PAN	ABCDE1234F	:	100	10	1000.00
372	Individual	Other than promoter	RAJ KUMAR DHINGRA	Equity	Equity share of Rs. 10 each	0000811	India	Male	Income Tax PAN	ABCDE1234F	:	100	10	1000.00
373	Individual	Other than promoter	ASHWANI DHINGRA	Equity	Equity share of Rs. 10 each	0000812	India	Female	Income Tax PAN	ABCDE1234F	:	200	10	2000.00
374	Individual	Other than promoter	ARUN	Equity	Equity share of Rs. 10	0000814	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
375	Individual	Other than promoter	SWEETY	Equity	each Equity share of Rs. 10	0000815	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
376	Individual	Other than promoter	RAJESH	Equity	each Equity share of Rs. 10	0000816	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
377	Individual	Other than promoter	SUMAN	Equity	each Equity share of Rs. 10	0000817	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
378	Individual	Other than promoter	MEENA	Equity	each Equity share of Rs. 10	0000818	India	Female	Income Tax PAN	ABCDE1234F		5100	10	51000.00
		· ·			each									
379	Individual	Other than promoter	MANJU	Equity	Equity share of Rs. 10 each	0000819	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
380	Individual	Other than promoter	JUGAL KISHORE	Equity	Equity share of Rs. 10 each	0000820	India	Male	Income Tax PAN	ABCDE1234F	:	100	10	1000.00
381	Individual	Other than promoter	VEENETA BANSL	Equity	Equity share of Rs. 10 each	0000821	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
382	Individual	Other than promoter	SEEMA	Equity	Equity share of Rs. 10	0000822	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
383	Individual	Other than promoter	NEERU	Equity	each Equity share of Rs. 10	0000823	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
384	Individual	Other than promoter	KAMEL	Equity	each Equity share of Rs. 10	0000824	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
385	Individual	Other than promoter	MONICA	Equity	each Equity share of Rs. 10	0000825	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
386	Individual	Other than promoter	SUNITA	Equity	each Equity share of Rs. 10	0000826	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
387	Individual	Other than promoter	K.L. MALIK		each		India		Income Tax PAN	ABCDE1234F		100		1000.00
			N.L. PIALIN	Equity	Equity share of Rs. 10 each		mula	Male					10	
388	Individual	Other than promoter	NEERU	Equity	Equity share of Rs. 10 each	0000828	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
389	Individual	Other than promoter	BALDEV RAJ SETHI	Equity	Equity share of Rs. 10 each	0000829	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
390	Individual	Other than promoter	 PREM SETHI	Equity	Equity share of Rs. 10 each	0000830	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
391	Individual	Other than promoter	SANJAY	Equity	Equity share of Rs. 10 each	0000831	India	Male	Income Tax PAN	ABCDE1234F	:	100	10	1000.00
392	Individual	Other than promoter	RAM AVTAR	Equity	Equity share of Rs. 10	0000832	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
393	Individual	Other than promoter	ASHOK KHUNGAR	Equity	each Equity share of Rs. 10	0000833	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
394	Individual	Other than promoter	SAROJ	Equity	each Equity share of Rs. 10	0000834	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
395	Individual	Other than promoter	SUNIL	Equity	each Equity share of Rs. 10		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
	Individual	Other than promoter	ANIL	Equity	each Equity share of Rs. 10		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
396					each									
397	Individual	Other than promoter	ANITA	Equity	Equity share of Rs. 10 each	0000837	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
398	Individual	Other than promoter	RAJU	Equity	Equity share of Rs. 10 each	0000838	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
399	Individual	Other than promoter	MAYA DEVI	Equity	Equity share of Rs. 10 each	0000839	India	Female	Income Tax PAN	ABCDE1234F		100	10	1000.00
400	Individual	Other than promoter	DEVENDER ARORA	Equity	Equity share of Rs. 10	0000840	India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
\Box			1		each	1	 1						1	

401	Individual	Other than promoter	NEELAM ARORA	Equity	Equity share of Rs. 10 each	0000841		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
402	Individual	Other than promoter	SONIA ARORA	Equity	Equity share of Rs. 10 each	0000842		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
403	Individual	Other than promoter	MONA ARORA	Equity	Equity share of Rs. 10	0000843		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
404	Individual	Other than promoter	SHASH SANKHLA	Equity	each Equity share of Rs. 10	0000844		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
405	Individual	Other than promoter	SUSHEEL KUMARI	Equity	each Equity share of Rs. 10	0000845		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		· ·			each									
406	Individual	Other than promoter	ANOOP KUMAR	Equity	Equity share of Rs. 10 each	0000846		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
407	Individual	Other than promoter	VINOD KUMAR AGGARWAL	Equity	Equity share of Rs. 10 each	0000848		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
408	Individual	Other than promoter	VINOD AGGARWAL	Equity	Equity share of Rs. 10	0000849		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
409	Individual	Other than promoter	GUDDU AGGARWAL	Equity	each Equity share of Rs. 10	0000850		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
410	Individual	Other than promoter	VINOD AGGARWAL	Equity	each Equity share of Rs. 10	0000851		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		· ·			each									
411	Individual	Other than promoter	VINOD KUMAR AGGARWAL	Equity	Equity share of Rs. 10 each	0000852		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
412	Individual	Other than promoter	STENDER KUMAR JOSHI	Equity	Equity share of Rs. 10 each	0000853		India	Male	Income Tax PAN	ABCDE1234F	900	10	9000.00
413	Individual	Other than promoter	NEELAM NANDA	Equity	Equity share of Rs. 10	0000854		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
414	Individual	Other than promoter	NARESH MADAN	Equity	each Equity share of Rs. 10	0000856		India	Male	Income Tax PAN	ABCDE1234F	700	10	7000.00
415	Individual	Other than promoter	NARE KUMAR GULATI	Equity	each Equity share of Rs. 10	0000859		India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
		· ·			each									
416	Individual	Other than promoter	JAMNA DEVI	Equity	Equity share of Rs. 10 each	0000860		India	Female	Income Tax PAN	ABCDE1234F	200	10	2000.00
417	Individual	Other than promoter	ROSHINI DEVI	Equity	Equity share of Rs. 10 each	0000861		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
418	Individual	Other than promoter	SATISH KUMAR KATARIA	Equity	Equity share of Rs. 10	0000868		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
419	Individual	Other than promoter	SURESH KUMAR KATARIA	Equity	each Equity share of Rs. 10	0000869		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
420	Individual	Other than promoter	JAGDISH CHANDER	Equity	each Equity share of Rs. 10	0000870		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
		· ·			each									
421	Individual	Other than promoter	JYOTI KATARIA	Equity	Equity share of Rs. 10 each			India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
422	Individual	Other than promoter	NEENA KATARIA	Equity	Equity share of Rs. 10 each	0000872		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
423	Individual	Other than promoter	VIDYA SAGAR KATARIA	Equity	Equity share of Rs. 10 each	0000873		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
424	Individual	Other than promoter	SACHIN KATARIA	Equity	Equity share of Rs. 10	0000874		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
425	Individual	Other than promoter	MAHESH KUMAR KATRIA	Equity	each Equity share of Rs. 10	0000875		India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
426	Individual	Other than promoter	PAWAN KUMAR KATARIA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
427	Individual	Other than promoter	SWARN LATA KATARIA	Equity	Equity share of Rs. 10 each	0000877		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
428	Individual	Other than promoter	ANIL KUMAR	Equity	Equity share of Rs. 10 each	0000878		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
429	Individual	Other than promoter	SUBHASH CHAND	Equity	Equity share of Rs. 10	0000879		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
430	Individual	Other than promoter	ARCHANA AGARWAL	Equity	each Equity share of Rs. 10	0000882		India	Female	Income Tax PAN	ABCDE1234F	5000	10	50000.00
431	Individual	Other than promoter	CHANDER BHAN	Equity	each Equity share of Rs. 10	0000897		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
432	Individual	Other than promoter	MANMOHAN LAL	Equity	Equity share of Rs. 10 each	0000898		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
433	Individual	Other than promoter	PUSHPA GUPTA	Equity	Equity share of Rs. 10 each	0000899		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
434	Individual	Other than promoter	SANJAY JHUNJHUNAWALA	Equity	Equity share of Rs. 10	0000903		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
435	Individual	Other than promoter	BHIM SAINI	Equity	each Equity share of Rs. 10	0000907		India	Male	Income Tax PAN	ABCDE1234F	900	10	9000.00
436	Individual	Other than promoter	ANJU DHINGRA	Equity	each Equity share of Rs. 10	0000909		India	Female	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
437	Individual	Other than promoter	 SNTOSH MALHOTRA	Equity	Equity share of Rs. 10 each			India	Female	Income Tax PAN	ABCDE1234F	500	10	5000.00
438	Individual	Other than promoter	UMESH KUMAR	Equity	Equity share of Rs. 10 each	0000911		India	Male	Income Tax PAN	ABCDE1234F	600	10	6000.00
439	Individual	Other than promoter	RAKESH CHAND	Equity	Equity share of Rs. 10	0000912		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
440	Individual	Other than promoter	SUSHMA	Equity	each Equity share of Rs. 10	0000913		India	Female	Income Tax PAN	ABCDE1234F	400	10	4000.00
441	Individual	Other than promoter	NARESH KUMAR	Equity	each Equity share of Rs. 10	0000914		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
			 LAURANCE D SOIA		each									
442	Individual	Other than promoter		Equity	Equity share of Rs. 10 each	0000915		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
443	Individual	Other than promoter	 CHETAN SHARMA	Equity	Equity share of Rs. 10 each	0000917		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
444	Individual	Other than promoter	SHIVRAMBHAI G. GODHI	Equity	Equity share of Rs. 10	0000918		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
445	Individual	Other than promoter	CHANDAN KUMAR	Equity	each Equity share of Rs. 10	0000919		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
446	Individual	Other than promoter	RAJ KUMAR	Equity	each Equity share of Rs. 10	0000920		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
					each									
447	Individual	Other than promoter	INDER SINGH BISHT	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	ABCDE1234F	300	10	3000.00
448	Individual	Other than promoter	RAJENDER PRASHAD SHARMA	Equity	Equity share of Rs. 10 each	0000922		India	Male	Income Tax PAN	ABCDE1234F	300	10	3000.00
449	Individual	Other than promoter	CHANDAN KUMAR	Equity	Equity share of Rs. 10	0000923		India	Male	Income Tax PAN	ABCDE1234F	500	10	5000.00
450	Individual	Other than promoter	N. NARASIMHAIAH	Equity	each Equity share of Rs. 10	0000931		India	Male	Income Tax PAN	ABCDE1234F	100	10	1000.00
451	Individual	Other than promoter	RUKMANI KABRA	Equity	each Equity share of Rs. 10	0000932		India	Male	Income Tax PAN	ABCDE1234F	200	10	2000.00
					each									
452	Individual	Other than promoter	VIRENDER KUMAR GOEL	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	ABCDE1234F	27500	10	275000.00
453	Individual	Other than promoter	SATISH KUMAR GOEL	Equity	Equity share of Rs. 10 each	0000934		India	Male	Income Tax PAN	ABCDE1234F	23200	10	232000.00
454	Individual	Other than promoter	NARENDER KUMAR GOEL	Equity	Equity share of Rs. 10	0000935		India	Male	Income Tax PAN	ABCDE1234F	25500	10	255000.00
455	Individual	Other than promoter	MAHAVEER PRASAD GOEL	Equity	each Equity share of Rs. 10	0000936		India	Male	Income Tax PAN	ABCDE1234F	26800	10	268000.00
456	Individual	Other than promoter	VINEET MITTAL	Equity	each Equity share of Rs. 10	0000938		India	Male	Income Tax PAN	ABCDE1234F	21200	10	212000.00
		1	1	,,	each		1		1				ı '	

457	Individual	Other than promoter	PREM MARIA	Equity	Equity share of Rs. 10 each	0000940		India	Male	Income Tax PAN	ABCDE1234F		14900	10	149000.00
458	Individual	Other than promoter	SHETAL SINGH	Equity	Equity share of Rs. 10 each	0000941		India	Female	Income Tax PAN	ABCDE1234F		17500	10	175000.00
459	Individual	Other than promoter	SHALINDER SINGH	Equity	Equity share of Rs. 10	0000944		India	Male	Income Tax PAN	ABCDE1234F		13800	10	138000.00
460	Individual	Other than promoter	GIRI RAJ PD. SAINI	Equity	each Equity share of Rs. 10	0000945		India	Male	Income Tax PAN	ABCDE1234F		28500	10	285000.00
461	Individual	Other than promoter	ASHOK CHHABRA	Equity	each Equity share of Rs. 10	0000947		India	Male	Income Tax PAN	ABCDE1234F		23800	10	238000.00
462	Individual	Other than promoter	HARVINDER SINGH	Equity	each Equity share of Rs. 10	0000952		India	Male	Income Tax PAN	ABCDE1234F		23900	10	239000.00
	Individual		HARPAL SINGH		each			India	Male	Income Tax PAN	ABCDE1234F		22500	10	225000.00
463		Other than promoter		Equity	Equity share of Rs. 10 each										
464	Individual	Other than promoter	RAJENDER KUMAR	Equity	Equity share of Rs. 10 each	0000955		India	Male	Income Tax PAN	ABCDE1234F		17400	10	174000.00
465	Individual	Other than promoter	KRISHAN KUMAR	Equity	Equity share of Rs. 10 each	0000957		India	Male	Income Tax PAN	ABCDE1234F		19400	10	194000.00
466	Individual	Other than promoter	THAUSEEF AHMAD	Equity	Equity share of Rs. 10 each	0000961		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
467	Individual	Other than promoter	KRISHNA GOPAL	Equity	Equity share of Rs. 10	0000966		India	Male	Income Tax PAN	ABCDE1234F		100	10	1000.00
468	Entity	Other than promoter	S GUPTA FINANCIAL CONSULTANTS PVT LTD	Equity	each Equity share of Rs. 10	0000979		India	Not applicable	Other registration number	ABCDE1234F		27	10	270.00
469	Individual	Other than promoter	RITU ARORA	Equity	each Equity share of Rs. 10	0000980		India	Female	Income Tax PAN	ABCDE1234F		14300	10	143000.00
470	Individual	Other than promoter	HIMANSHU VARSHNEY	Equity	each Equity share of Rs. 10	0000981		India	Male	Income Tax PAN	AFEPV2983G		1	10	10.00
	Individual	Other than promoter	GAYTREE DEVI VARSHNEY	Equity	each Equity share of Rs. 10	0000982		India	Female	Income Tax PAN	AEQPV0986E		1	10	10.00
471		· ·			each										
472	Individual	Other than promoter	ABHIJIT CHATTERJEE	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	ABXPC4865F		10	10	100.00
473	Individual	Other than promoter	ASMITA ARORA	Equity	Equity share of Rs. 10 each	0000989		India	Female	Income Tax PAN	AVBPA4935C		8000	10	80000.00
474	Individual	Other than promoter	NEELAM ARORA	Equity	Equity share of Rs. 10 each	0000990		India	Female	Income Tax PAN	ABIPA7574J		14100	10	141000.00
475	Individual	Other than promoter	UMANG MADAN	Equity	Equity share of Rs. 10 each	0000999		India	Male	Income Tax PAN	BUJPM7750D		1900	10	19000.00
476	Individual	Other than promoter	POONAM MADAN	Equity	Equity share of Rs. 10	0001000		India	Female	Income Tax PAN	AAKPM6235F		7100	10	71000.00
477	Individual	Other than promoter	VINOD MADAN	Equity	each Equity share of Rs. 10	0001001		India	Male	Income Tax PAN	AAKPM6236G		8800	10	88000.00
478	Individual	Other than promoter	SHIV PRASAD SATI	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	ASGPP8845L		2000	10	20000.00
479	Individual	Other than promoter	AJIT KUMAR MALIK	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	AANPM9221E		4800	10	48000.00
		· ·			each										
480	Individual	Other than promoter	ROSHAN LAL MADAN	Equity	Equity share of Rs. 10 each	0001009		India	Male	Income Tax PAN	ADPPM2682J		3300	10	33000.00
481	Individual	Other than promoter	VINOD MADAN	Equity	Equity share of Rs. 10 each	0001013		India	Male	Income Tax PAN	AAKPM6236G		10500	10	105000.00
482	Individual	Other than promoter	NEELAM RANI	Equity	Equity share of Rs. 10 each	0001014		India	Female	Income Tax PAN	ACDPR6291D		9300	10	93000.00
483	Individual	Other than promoter	NEELAM ARORA	Equity	Equity share of Rs. 10 each	0001017		India	Female	Income Tax PAN	ABIPA7574J		14300	10	143000.00
484	Individual	Other than promoter	POONAM MADAN	Equity	Equity share of Rs. 10	0001018		India	Female	Income Tax PAN	AAKPM6235F		10700	10	107000.00
485	Individual	Other than promoter	NEELAM RANI	Equity	each Equity share of Rs. 10	0001021		India	Female	Income Tax PAN	ACDPR6291D		19800	10	198000.00
486	Individual	Other than promoter	GANDHI SMITA VIJAY	Equity	each Equity share of Rs. 10	IN30002010125136		India	Male	Income Tax PAN	AABPG1216B		789	10	7890.00
487	Individual	Other than promoter	MD FEROZ	Equity	each Equity share of Rs. 10	IN30007910415929		India	Male	Income Tax PAN	APUPM7774A		19	10	190.00
488	Individual	Other than promoter	Kamlesh S Sharma	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	AABPS0269E		380	10	3800.00
					each										
489	Individual	Other than promoter	DHARAM PAL SINGH	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	ABCPS3058D		1	10	10.00
490	Individual	Other than promoter	VIDYA SHARMA	Equity	Equity share of Rs. 10 each	IN30011810041764		India	Female	Income Tax PAN	BGSPS6047N		1	10	10.00
491	Individual	Other than promoter	JAIPRAKASH NARAIN	Equity	Equity share of Rs. 10 each	IN30011810043219		India	Male	Income Tax PAN	AAAPS4013K		2	10	20.00
492	Individual	Other than promoter	BRIJ MOHAN KAPOOR	Equity	Equity share of Rs. 10	IN30011810197403		India	Male	Income Tax PAN	AAJPK8567F		100	10	1000.00
493	Individual	Other than promoter	SANJAYSALUJA	Equity	each Equity share of Rs. 10	IN30011810213807		India	Male	Income Tax PAN	AAXPS3781R		1	10	10.00
494	Individual	Other than promoter	ASHOK KUMAR JAIN	Equity	each Equity share of Rs. 10	IN30011810242590		India	Male	Income Tax PAN	AFYPJ9713Q		1	10	10.00
495	Individual	Other than promoter	MANJU AGGARWAL	Equity	each Equity share of Rs. 10	IN30011810333264		India	Female	Income Tax PAN	AAFPA1103K		1	10	10.00
496	Individual	Other than promoter	NAVEEN SALUJA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	BADPS7395J		2	10	20.00
		· ·			each										
497	Individual	Other than promoter	RAZA UL HASAN	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	ACAPH5472K		1	10	10.00
498	Individual	Other than promoter	 PRAVEEN KUMAR	Equity	Equity share of Rs. 10 each	IN30011810449827		India	Male	Income Tax PAN	ARMPK3741R		11	10	110.00
499	Individual	Other than promoter	RAJ KUMAR AGGARWAL	Equity	Equity share of Rs. 10 each	IN30011810613455		India	Male	Income Tax PAN	AAEPA9783A		1	10	10.00
500	Individual	Other than promoter	HARDEEP KAUR	Equity	Equity share of Rs. 10 each	IN30011810757779		India	Male	Income Tax PAN	ARFPK8409B		5	10	50.00
501	Individual	Other than promoter	CHETAN CHADHA	Equity	Equity share of Rs. 10	IN30011810826627		India	Male	Income Tax PAN	AGZPC4981H		2	10	20.00
502	Individual	Other than promoter	SAIBAL KUMAR DUTT	Equity	each Equity share of Rs. 10	IN30011810927172		India	Male	Income Tax PAN	AJCPD7257M		1	10	10.00
503	Individual	Other than promoter	SANJAY KUMAR ARORA	Equity	each Equity share of Rs. 10	IN30011810949757		India	Male	Income Tax PAN	AARPA2156J		1	10	10.00
504	Individual	Other than promoter	MOHAMMED SUALEH SHAHID	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	AROPS7696B		5	10	50.00
					each										
505	Individual	Other than promoter	ZEA UL HASAN	Equity	Equity share of Rs. 10 each	IN30011811011855		India	Male	Income Tax PAN	ACDPH8478E		1	10	10.00
506	Individual	Other than promoter	 REHANA RAZA	Equity	Equity share of Rs. 10 each			India	Female	Income Tax PAN	AJVPR6075L		1	10	10.00
507	Individual	Other than promoter	SURESH SINGH	Equity	Equity share of Rs. 10 each	IN30011811132464		India	Male	Income Tax PAN	BHXPS6803C		1	10	10.00
508	Individual	Other than promoter	GAYTREE DEVI VARSHNEY	Equity	Equity share of Rs. 10 each	IN30011811197670		India	Female	Income Tax PAN	AEQPV0986E		1	10	10.00
509	Individual	Other than promoter	KHURSHEEDA NOOR	Equity	Equity share of Rs. 10	IN30011811238665		India	Female	Income Tax PAN	AGNPN5852E		1	10	10.00
510	Individual	Other than promoter	RADHA SOOD	Equity	each Equity share of Rs. 10	IN30011811367614		India	Female	Income Tax PAN	CPRPS4464N		2	10	20.00
511	Individual	Other than promoter	SUNITA CHADHA	Equity	each Equity share of Rs. 10	IN30011811404784		India	Female	Income Tax PAN	ABOPC7184J		1	10	10.00
512	Individual	Other than promoter	HIMANSHU CHADHA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	AIRPC6491Q		1	10	10.00
		promotor			each		1		1			1	-		

F	teatro -			I some les constitutions	Ninonaana · · · · · · · ·	1			AUIDO			10.55
513	Individual	Other than promoter	JYOTI CHADHA	Equity Equity share of Rs. 10 each	IN30011811404856	India	Female	Income Tax PAN	AIUPC7770R	1	10	10.00
514	Individual	Other than promoter	HARMOHAN SINGH SAWHNEY	Equity Equity share of Rs. 10 each	IN30011811508900	India	Male	Income Tax PAN	AYSPS5185L	300	10	3000.00
515	Individual	Other than promoter	GULSHAN RAI	Equity Equity share of Rs. 10 each	IN30011811516590	India	Male	Income Tax PAN	ADBPT8523D	4	10	40.00
516	Individual	Other than promoter	VISHNU DUTT SHARMA	Equity Equity share of Rs. 10 each	IN30011811529059	India	Male	Income Tax PAN	AHLPS9599Q	1	10	10.00
517	Individual	Other than promoter	VIJAY SHARMA	Equity Equity share of Rs. 10	IN30011811564423	India	Male	Income Tax PAN	CLMPS4495Q	1	10	10.00
518	Individual	Other than promoter	PUNAM SHARMA	each Equity Equity share of Rs. 10	IN30011811564431	India	Female	Income Tax PAN	CQMPS7912P	1	10	10.00
519	Individual	Other than promoter	SANTOSH SHARMA	each Equity Equity share of Rs. 10	IN30011811564440	India	Female	Income Tax PAN	BPOPS8627B	2	10	20.00
520	Individual	Other than promoter	KAVITA KOHLI	each Equity Equity share of Rs. 10	IN30011811615383	India	Female	Income Tax PAN	AZUPK3919R	1	10	10.00
521	Individual	Other than promoter	MOHD JAVED ANSARI	each Equity Equity share of Rs. 10	IN30011811620255	India	Male	Income Tax PAN	AFWPA2743R	1	10	10.00
522	Individual	Other than promoter	NIRMAL KUMAR	each Equity Equity share of Rs. 10	IN30011811756043	India	Male	Income Tax PAN	ARHPK4994P	10	10	100.00
	Individual		NEERU NEERU	each	IN30011811730043	India	Female		AERPN5317A	10		10.00
523		Other than promoter	VIIFNDRA HARIFFVAN MEHTA	each				Income Tax PAN			10	
524	Individual	Other than promoter	VIJENDRA HARJEEVAN MEHTA	Equity Equity share of Rs. 10 each	IN30018310912785	India	Male	Income Tax PAN	ADTPI8464D	50	10	500.00
525	Individual	Other than promoter	DEVENDRA SINGH	Equity Equity share of Rs. 10 each	IN30018311943438	India	Male	Income Tax PAN	AOUPS3689H	1200	10	12000.00
526	Individual	Other than promoter	RAMANDEEP SINGH REEN	Equity Equity share of Rs. 10 each	IN30020610863558	India	Male	Income Tax PAN	AIZPR6084Q	1	10	10.00
527	Individual	Other than promoter	VIDHI GULATI	Equity Equity share of Rs. 10 each	IN30020610893178	India	Female	Income Tax PAN	AESPG2862C	1	10	10.00
528	Individual	Other than promoter	BHUPENDRA SINGH REEN	Equity Equity share of Rs. 10	IN30020610895150	India	Male	Income Tax PAN	ACEPR5649A	1	10	10.00
529	Individual	Other than promoter	NAVNEET KAUR REEN	each Equity Equity share of Rs. 10	IN30020610895168	India	Male	Income Tax PAN	AIZPR6064L	1	10	10.00
530	Individual	Other than promoter	SUNITA CHADHA	each Equity Equity share of Rs. 10	IN30020610895862	India	Female	Income Tax PAN	ABOPC7184J	5	10	50.00
531	Individual	Other than promoter	MANJIT SINGH	each Equity Equity share of Rs. 10	IN30020610907641	India	Male	Income Tax PAN	ALEPS6410R	150	10	1500.00
532	Individual	Other than promoter	SANDEEP JAIN	each Equity Equity share of Rs. 10	IN30020611031554	India	Male	Income Tax PAN	AAKPJ3581H	1	10	10.00
	Individual		GAGAN KUMAR	each	IN30020611031334	India	Male		AUBPK9752E	17		170.00
533		Other than promoter		each				Income Tax PAN			10	
534	Individual	Other than promoter	VISTALWAR	Equity Equity share of Rs. 10 each	IN30021413977853	India	Male	Income Tax PAN	ADNPT5849E	99	10	990.00
535	Individual	Other than promoter	ODIYOOR SATHISHA	Equity Equity share of Rs. 10 each	IN30021414433895	India	Male	Income Tax PAN	AMFPS6296M	1	10	10.00
536	Individual	Other than promoter	ANIL KUMAR PODDAR	Equity Equity share of Rs. 10 each	IN30021415506436	India	Male	Income Tax PAN	AJJPP9768L	1	10	10.00
537	Individual	Other than promoter	RENUKA DEVIS	Equity Equity share of Rs. 10 each	IN30021421999872	India	Female	Income Tax PAN	BELPD9809N	10	10	100.00
538	Individual	Other than promoter	SMITA SANJAY SHAH	Equity Equity share of Rs. 10	IN30021426738592	India	Female	Income Tax PAN	AEAPS7138H	299	10	2990.00
539	Individual	Other than promoter	SOMNATH SHAW	each Equity Equity share of Rs. 10	IN30021434131342	India	Male	Income Tax PAN	FVAPS2920B	8	10	80.00
540	Individual	Other than promoter	SUTHAR SHILPABEN	each Equity Equity share of Rs. 10	IN30021437371722	India	Male	Income Tax PAN	BMRPS3908P	35	10	350.00
541	Individual	Other than promoter	KUSHAL CHAND FULWARIYA	each Equity Equity share of Rs. 10	IN30021438714996	India	Male	Income Tax PAN	AAUPF8831A	4	10	40.00
542	Individual	Other than promoter	SUSHANT KUMAR	each Equity Equity share of Rs. 10	IN30021441679115	India	Male	Income Tax PAN	EBMPK4452B	25	10	250.00
543	Individual	Other than promoter	MOHD DANISH	each Equity Equity share of Rs. 10	IN30021450627837	India	Male	Income Tax PAN	CELPD4369C	8	10	80.00
	Individual	Other than promoter	CHARANJIT KAUR	each Equity Equity share of Rs. 10	IN30021457270113	India	Male	Income Tax PAN	ECFPK5296B	44	10	440.00
544				each								
545	Individual	Other than promoter	VAGIMI GERA	Equity Equity share of Rs. 10 each	IN30021462660415	India	Male	Income Tax PAN	DDIPG3382K	440	10	4400.00
546	Individual	Other than promoter	VIJAYAN P	Equity Equity share of Rs. 10 each	IN30023911872310	India	Male	Income Tax PAN	AFJPV0242F	50	10	500.00
547	Individual	Other than promoter	MALLURI RAMBABU	Equity Equity share of Rs. 10 each	IN30023980423485	India	Male	Income Tax PAN	AWOPM4491R	5	10	50.00
548	Individual	Other than promoter	LOKHANDE YASHAWANT GANESH	Equity Equity share of Rs. 10 each	IN30028010390088	India	Male	Income Tax PAN	AAHPL2292C	100	10	1000.00
549	Individual	Other than promoter	JYOTI BHARAT MODI	Equity Equity share of Rs. 10 each	IN30034310025237	India	Female	Income Tax PAN	ANRPM9080E	200	10	2000.00
550	Individual	Other than promoter	HITESH RAMJI JAVERI	Equity Equity share of Rs. 10	IN30036020087818	India	Male	Income Tax PAN	AABPJ4691H	1111	10	11110.00
551	Individual	Promoter	PANKAJ MANI SACHDEVA	each Equity Equity share of Rs. 10	IN30036022118519	India	Male	Income Tax PAN	ABIPS0738C	196400	10	1964000.00
552	Individual	Other than promoter	RADHESHYAM RAMRIKH PUROHIT	each Equity Equity share of Rs. 10	IN30038610055302	India	Male	Income Tax PAN	AACPP8563B	100	10	1000.00
553	Individual	Other than promoter	SUGGALA KIRAN KUMAR	each Equity Equity share of Rs. 10	IN30039412875299	India	Male	Income Tax PAN	ANIPS7707B	300	10	3000.00
554	Individual	Other than promoter	MANISH	each Equity Equity share of Rs. 10	IN30039414789447	India	Male	Income Tax PAN	ANLPM7633F	1	10	10.00
555	Individual	Other than promoter	SURESHA KHARVI	each	IN30039414769447	India		Income Tax PAN	CUDPK5676H			1000.00
				Equity Equity share of Rs. 10 each			Male			100	10	
556	Individual	Other than promoter	UMESHA RAO .B	Equity Equity share of Rs. 10 each	IN30044110184562	India	Male	Income Tax PAN	ADFPR0152G	5	10	50.00
557	Individual	Other than promoter	VEERANJANEYA PRASAD T	Equity Equity share of Rs. 10 each	IN30045014389741	India	Male	Income Tax PAN	AFDPT2259J	1	10	10.00
558	Individual	Other than promoter	INDRA KUMAR BAGRI	Equity Equity share of Rs. 10 each	IN30045016204580	India	Male	Income Tax PAN	ADVPB8503F	327	10	3270.00
559	Individual	Other than promoter	BABAN YALLAPPA SASNE	Equity Equity share of Rs. 10	IN30045080163261	India	Male	Income Tax PAN	ADBPS5334B	100	10	1000.00
560	Individual	Other than promoter	JAI BHAGWAN GUPTA	each Equity Equity share of Rs. 10	IN30046810013090	India	Male	Income Tax PAN	AAOPG9776B	5	10	50.00
561	Individual	Other than promoter	VIKASJAIN	each Equity Equity share of Rs. 10	IN30046810023863	India	Male	Income Tax PAN	ADAPJ5088L	9	10	90.00
562	Individual	Other than promoter	LAI GUPTA	each Equity Equity share of Rs. 10	IN30046810029087	India	Male	Income Tax PAN	AIKPG2366D	5	10	50.00
563	Individual	Other than promoter	SUNITA RANI	each Equity Equity share of Rs. 10	IN30047642110732	India	Female	Income Tax PAN	AJAPR4001R	500	10	5000.00
564	Individual	Other than promoter	DASHRATH MALLODHA	each Equity Equity share of Rs. 10	IN30051310565612	India	Male	Income Tax PAN	ABSPL9741J	3	10	30.00
				each								
565	Individual	Other than promoter	M J JEEVANLAL	Equity Equity share of Rs. 10 each	IN30051310571259	India	Male	Income Tax PAN	AHPPJ4791H	50	10	500.00
566	Individual	Other than promoter	GAUTAM SENGUPTA	Equity Equity share of Rs. 10 each	IN30051311994353	India	Male	Income Tax PAN	AFWPS9589K	137	10	1370.00
567	Individual	Other than promoter	JAJU ABHAY DAMODAR	Equity Equity share of Rs. 10 each	IN30051312968482	India	Male	Income Tax PAN	AFSPJ5248Q	100	10	1000.00
568	Individual	Other than promoter	SULOCHANA POPAT WAGHOLE	Equity Equity share of Rs. 10	IN30051315311393	India	Male	Income Tax PAN	AAZPW8493Q	1	10	10.00
\Box			l	each					1	1		1

569	Individual	Other than promoter	DEEPAK KUMAR O	GUPTA E		nare of Rs. 10 each	IN30051316971282	1	India	Male	Income Tax PAN	AHHPG7762R		100	10	1000.00
570	Individual	Other than promoter	ROSE MARY M	MF E		nare of Rs. 10 each	IN30051319940652		India	Male	Income Tax PAN	APFPR7104G		5	10	50.00
571	Entity	Other than promoter	DEEPAK J KUKREJ	JAHUF E	Equity Equity sh	nare of Rs. 10	IN30051321565533		India	Not applicable	Other registration number	AACHD5772N		20	10	200.00
572	Individual	Other than promoter	AMIT KUMAR SII	iNGH E		each nare of Rs. 10	IN30051322581289		India	Male	Income Tax PAN	BQAPS5102E		300	10	3000.00
573	Individual	Other than promoter	CHANDRAKALA N	MEHTA E		each nare of Rs. 10	IN30051323597924		India	Female	Income Tax PAN	AEYPM4274L		50	10	500.00
		· ·				each										
574	Individual	Other than promoter	NIDHI K MEH	ıTA E		nare of Rs. 10 each	IN30051323606706	i	India	Female	Income Tax PAN	AEPPN3674Q		46	10	460.00
575	Individual	Other than promoter	JAYSHREEBEN NITINKU	.UMAR SHAH E		nare of Rs. 10 each	IN30051381108460	i	India	Female	Income Tax PAN	AINPS9802P		7	10	70.00
576	Individual	Other than promoter	SATISH CHANG	IDER E	Equity Equity sh	nare of Rs. 10	IN30058910236735		India	Male	Income Tax PAN	ACOPC1975A		1	10	10.00
577	Individual	Other than promoter	RITU MEHROTRA	GUPTA E		each nare of Rs. 10	IN30059710577801		India	Female	Income Tax PAN	AKMPM9446J		200	10	2000.00
578	Individual	Other than promoter	NILESH CHIMANLA	AI SHAH F		each nare of Rs. 10	IN30065210062690		India	Male	Income Tax PAN	ALUPS8730L		171	10	1710.00
		· ·				each										
579	Individual	Other than promoter	NEETA NILESH S			nare of Rs. 10 each	IN30065210073434	i	India	Female	Income Tax PAN	AYRPS3727M		215	10	2150.00
580	Individual	Other than promoter	SHRIPAL SINGH M	IOHNOT E		nare of Rs. 10 each	IN30070810012312	i	India	Male	Income Tax PAN	ADHPM8617M		15	10	150.00
581	Individual	Other than promoter	SNEH MOHNO	IOT E	Equity Equity sh	nare of Rs. 10	IN30070810012329		India	Female	Income Tax PAN	AIPPM5227N		12	10	120.00
582	Individual	Other than promoter	SANYOGITA KHU	URANA E		each nare of Rs. 10	IN30070810022853		India	Female	Income Tax PAN	ARDPK4100D		1	10	10.00
583	Individual	Other than promoter	RAMESH CHANDER I	KHURANA F		each nare of Rs. 10	IN30070810023485		India	Male	Income Tax PAN	AECPK0114K		1	10	10.00
		· ·				each										
584	Individual	Other than promoter	MURARI LAL SHA	ARMA E		nare of Rs. 10 each	IN30070810646410	i	India	Male	Income Tax PAN	CSFPS2300N		1	10	10.00
585	Individual	Other than promoter	PANKAJ RAIBO	ITHRA E		nare of Rs. 10 each	IN30074910257755		India	Male	Income Tax PAN	AABPB2685B		500	10	5000.00
586	Individual	Other than promoter	MAHESH SHANTILI	AL SHAH E	Equity Equity sh	nare of Rs. 10	IN30074910754035		India	Male	Income Tax PAN	BDEPS0537C		170	10	1700.00
587	Individual	Other than promoter	GANDHI VIPUL RA	AVILAL E	Equity Equity sh	each nare of Rs. 10	IN30082910978584		India	Male	Income Tax PAN	AALPG0978N		40	10	400.00
588	Individual	Other than promoter	SITARAM ARJUN B.	BAWKAR F		each nare of Rs. 10	IN30082911350842		India	Male	Income Tax PAN	AKQPB6816M		1	10	10.00
		· ·				each						·				
589	Individual	Other than promoter	OM PARKASI			nare of Rs. 10 each	IN30086110025454	<u> </u>	India	Male	Income Tax PAN	AAFPP2400A		1	10	10.00
590	Individual	Other than promoter	MURTI DEVI	П Б		nare of Rs. 10 each	IN30086110053063	i	India	Female	Income Tax PAN	AEAPD5563M		1	10	10.00
591	Individual	Other than promoter	SARITA	Б	Equity Equity sh	nare of Rs. 10	IN30086110116858		India	Female	Income Tax PAN	BGFPS6448J		1	10	10.00
592	Individual	Other than promoter	JITENDER SHAF	RMA E	Equity Equity sh	each nare of Rs. 10	IN30086110133352		India	Male	Income Tax PAN	BIKPS5563D		1	10	10.00
593	Individual	Other than promoter	CHANDER JEI	EET E		each nare of Rs. 10	IN30086110167430		India	Male	Income Tax PAN	AFTPJ4883N		5	10	50.00
	Individual	· ·	MOHAMMAD.SH			each nare of Rs. 10	IN30088813381691			Male		AGNPS5984L		144		1440.00
594		Other than promoter				each			India		Income Tax PAN				10	
595	Individual	Other than promoter	SANDEEP JAI	.IN E		nare of Rs. 10 each	IN30088813615193	i	India	Male	Income Tax PAN	AAKPJ3581H		9	10	90.00
596	Individual	Other than promoter	SHAILESH VAJUBHA	AI GADHVI E		nare of Rs. 10	IN30088813630545		India	Male	Income Tax PAN	AIOPG0019K		277	10	2770.00
597	Individual	Other than promoter	SANJANA TAPA	ARIA E	Equity Equity sh	each nare of Rs. 10	IN30088814288868		India	Female	Income Tax PAN	ABWPT4071D		224	10	2240.00
598	Individual	Other than promoter	SURESHKUMAR	IJAIN B E		each nare of Rs. 10	IN30089610612685		India	Male	Income Tax PAN	AMZPS3474P		23	10	230.00
599	Individual	Other than promoter	HARJEET SING	IGH F		each nare of Rs. 10	IN30094010389271		India	Male	Income Tax PAN	BGRPS5449F		2	10	20.00
						each										
600	Individual	Other than promoter	PANKAJ AGRAV	WAL E		nare of Rs. 10 each	IN30094010427936	i	India	Male	Income Tax PAN	ARCPA2101R		1	10	10.00
601	Individual	Other than promoter	RITIJ CHACHI	RA E		nare of Rs. 10 each	IN30096610549247	1	India	Male	Income Tax PAN	AIZPC5160C		1	10	10.00
602	Individual	Other than promoter	JAYANTA DA	AS E	Equity Equity sh	nare of Rs. 10	IN30096610993646		India	Male	Income Tax PAN	AEXPD2558R		101	10	1010.00
603	Individual	Other than promoter	HIMANSHU VARS	ISHNEY E		each nare of Rs. 10	IN30096611028884		India	Male	Income Tax PAN	AFEPV2983G		1	10	10.00
604	Individual	Other than promoter	MAHENDRA GA	ADIA F		each nare of Rs. 10	IN30109810802571		India	Male	Income Tax PAN	AABPG0115D		10	10	100.00
						each										
605	Individual	Other than promoter	PRADEEP SOC			nare of Rs. 10 each	IN30112715633348		India	Male	Income Tax PAN	BFDPS9096B		1	10	10.00
606	Individual	Other than promoter	MAHENDRA SH	HAH E		nare of Rs. 10 each	IN30113526128784		India	Male	Income Tax PAN	AFBPS3644C		100	10	1000.00
607	Individual	Other than promoter	NIRMAL GUP	PTA E	Equity Equity sh	nare of Rs. 10	IN30114310085746		India	Male	Income Tax PAN	ABTPG0283D		41	10	410.00
608	Individual	Other than promoter	AMIT KAPUF	/R E	Equity Equity sh	each nare of Rs. 10	IN30114310516734		India	Male	Income Tax PAN	AHXPK8784H		1	10	10.00
609	Individual	Other than promoter	VIJAY GUPTA	ra F		each nare of Rs. 10	IN30114310939435		India	Male	Income Tax PAN	AAGPG7894L		2	10	20.00
						each	IN30114310939433							4		
610	Individual	Other than promoter	JAI PARKASH GU			nare of Rs. 10 each			India	Male	Income Tax PAN	ACNPG0230H			10	40.00
611	Individual	Other than promoter	MANISH KAPI	UR E		nare of Rs. 10 each	IN30114311033601		India	Male	Income Tax PAN	ALXPK3982D		2	10	20.00
612	Individual	Other than promoter	SANJAY KATHI	PAL E	Equity Equity sh	nare of Rs. 10	IN30114311135267		India	Male	Income Tax PAN	ARGPK0403J		10	10	100.00
613	Individual	Other than promoter	SUSHIL KUMAR SH	HARMA E	Equity Equity sh	each nare of Rs. 10	IN30114311149918		India	Male	Income Tax PAN	BOCPS3668M		1	10	10.00
614	Individual	Other than promoter	KRISHNA WADI	OHWA F		each nare of Rs. 10	IN30114311279540		India	Female	Income Tax PAN	AAGPW6973L		1	10	10.00
						each										
615	Individual	Other than promoter	SHALINI GUP			nare of Rs. 10 each	IN30114311531492		India	Female	Income Tax PAN	AADPG5752G		2	10	20.00
616	Individual	Other than promoter	RAHUL GUPT	TA E		nare of Rs. 10 each	IN30114311537770		India	Male	Income Tax PAN	AANPG3218M		2	10	20.00
617	Individual	Other than promoter	RAJU	E	Equity Equity sh	nare of Rs. 10	IN30114311772109		India	Male	Income Tax PAN	AJMPR2980H		1	10	10.00
618	Individual	Other than promoter	BHUPINDER KAUR I	MAKKAR E	Equity Equity sh	each nare of Rs. 10	IN30114311831943		India	Male	Income Tax PAN	AGGPK0576R		50	10	500.00
619	Individual	Other than promoter	SURSEN V SH.	HAH F		each nare of Rs. 10	IN30115113272157		India	Male	Income Tax PAN	AMAPS1338R		100	10	1000.00
						each										
620	Individual	Other than promoter	GANESH CHOUD			nare of Rs. 10 each	IN30115123053749		India	Male	Income Tax PAN	AFKPC3967K		89	10	890.00
621	Individual	Other than promoter	ANAND SWAROO	OP JAIN E		nare of Rs. 10 each	IN30120910036950		India	Male	Income Tax PAN	ABRPJ5426F		1	10	10.00
622	Individual	Other than promoter	RAKESH JAII	ıN E	Equity Equity sh	nare of Rs. 10 each	IN30120910038367		India	Male	Income Tax PAN	ABRPJ5425G		1	10	10.00
1 000	Individual	Other than promoter	NIDHI JAIN	4 E	Equity Equity sh	nare of Rs. 10	IN30120910038375		India	Female	Income Tax PAN	AAPPJ2315L		1	10	10.00
623			1	1	1	each			1		1		1			1
624	Individual	Other than promoter	PUSHP LATA J	'AIN F		nare of Rs. 10	IN30120910038383		India	Male	Income Tax PAN	AEBPJ5975L		1	10	10.00

_											T T		1
625	Individual	Other than promoter	PREETY JAIN		share of Rs. 10 each	IN30120910038835	India	Female	Income Tax PAN	ADMPJ6426G	1	10	10.00
626	Individual	Other than promoter	JATINDER KUMAR BHAMBRI	Equity Equity	share of Rs. 10 each	IN30120910221807	India	Male	Income Tax PAN	AAAPB1533B	2	10	20.00
627	Individual	Other than promoter	JATINDER KUMAR BHAMBRI	Equity Equity	share of Rs. 10 each	IN30120910221815	India	Male	Income Tax PAN	AAAPB1533B	3	10	30.00
628	Individual	Other than promoter	JATINDER KUMAR BHAMBRI	Equity Equity	share of Rs. 10 each	IN30120910221831	India	Male	Income Tax PAN	AAAPB1533B	2	10	20.00
629	Individual	Other than promoter	SUNIL BALA BHAMBRI	Equity Equity	share of Rs. 10 each	IN30120910221840	India	Male	Income Tax PAN	AAMPB4533F	2	10	20.00
630	Individual	Other than promoter	DINESH KUMAR BHAMBRI	Equity Equity	share of Rs. 10	IN30120910222051	India	Male	Income Tax PAN	ACGPB8480M	2	10	20.00
631	Individual	Other than promoter	RAJARAMAN P	Equity Equity	each share of Rs. 10	IN30131322048249	India	Male	Income Tax PAN	AAFPR8212A	2	10	20.00
632	Entity	Other than promoter	ISHA SECURITIES LIMITED	Equity Equity	each share of Rs. 10	IN30132110399438	India	Not applicable	CIN	U67120GJ1993PLC018988	5	10	50.00
633	Individual	Other than promoter	SATISHKUMAR VRAJLAL GONDALIA	Equity Equity	each share of Rs. 10	IN30132110629967	India	Male	Income Tax PAN	AMNPG6968Q	7	10	70.00
634	Individual	Other than promoter	CHANDARANI TANAJI CHAVAN	Equity Equity	each share of Rs. 10	IN30133019263088	India	Female	Income Tax PAN	AAKPC9438Q	164	10	1640.00
635	Individual	Other than promoter	RAVI KARAN SHARMA		each share of Rs. 10	IN30135620465778	India	Male	Income Tax PAN	DCKPS1805Q	4	10	40.00
636	Individual	Other than promoter	RHIIPENDRA SINGH REEN		each share of Rs. 10	IN30143610073195	India	Male	Income Tax PAN	ACEPR5649A	1	10	10.00
637	Individual	Other than promoter	NAVNEET KAUR		each share of Rs. 10	IN30143610073208	India	Male	Income Tax PAN	AIZPR6064L	1	10	10.00
					each								
638	Individual	Other than promoter	VINOD KUMAR SHARMA		share of Rs. 10 each	IN30143610374636	India	Male	Income Tax PAN	ADNPK9552B	5	10	50.00
639	Individual	Other than promoter	RAKSHIT AGARWAL		share of Rs. 10 each	IN30143685037736	India	Male	Income Tax PAN	BQXPA2762B	140	10	1400.00
640	Individual	Other than promoter	HARDIK NATAVARBHAI PATEL	Equity Equity	share of Rs. 10 each	IN30143693374371	India	Male	Income Tax PAN	AZPPP1144G	50	10	500.00
641	Individual	Other than promoter	ABDUL RAHIM KHAN	Equity Equity	share of Rs. 10 each	IN30143697502365	India	Male	Income Tax PAN	CWVPK2253A	2	10	20.00
642	Individual	Other than promoter	BABY AVADHESH JAISWAL	Equity Equity	share of Rs. 10 each	IN30143697661835	India	Male	Income Tax PAN	AUIPJ7569D	2	10	20.00
643	Individual	Other than promoter	DOLLY GARG	Equity Equity	share of Rs. 10	IN30147720041435	India	Male	Income Tax PAN	AJAPG4161B	812	10	8120.00
644	Entity	Other than promoter	SUNGLOW FININVEST PRIVATE LTD.	Equity Equity	share of Rs. 10	IN30147720088658	India	Not applicable	CIN	U65993DL1991TTC044541	8122	10	81220.00
645	Individual	Other than promoter	PRAVESH ELWADHI	Equity Equity	each share of Rs. 10	IN30147720091033	India	Male	Income Tax PAN	AABPE9848H	226	10	2260.00
646	Individual	Other than promoter	NEELAM GUPTA	Equity Equity	each share of Rs. 10	IN30147720095938	India	Female	Income Tax PAN	AICPG5381Q	550	10	5500.00
647	Entity	Other than promoter	SHIV KUMAR GOEL HUF	Equity Equity	each share of Rs. 10	IN30147720111667	India	Not applicable	Other registration number	AAJHS9966E	2115	10	21150.00
648	Individual	Other than promoter	LALITADEVI PAWANKUMAR AGARWAL	Equity Equity	each share of Rs. 10	IN30154917775038	India	Female	Income Tax PAN	AGNPAB613N	2	10	20.00
649	Individual	Other than promoter	SEEMA ANAND		each share of Rs. 10	IN30154919044441	India	Female	Income Tax PAN	AIBPA3005A	92	10	920.00
650	Individual	Other than promoter	S SRIDEVI		each share of Rs. 10	IN30154952375116	India	Male	Income Tax PAN	FCKPS4139D	20	10	200.00
651	Individual	Other than promoter	KUNAL MAYUR DESAI		each share of Rs. 10	IN30154954975956	India	Male	Income Tax PAN	AWRPD9319G	200	10	2000.00
		·			each								
652	Individual	Other than promoter	AABHA CHINMAY CHANDANE		share of Rs. 10 each	IN30154956327592	India	Male	Income Tax PAN	ATXPK3799G	54	10	540.00
653	Individual	Other than promoter	RAINESH		share of Rs. 10 each	IN30154962245477	India	Male	Income Tax PAN	AYZPR4124P	1	10	10.00
654	Individual	Other than promoter	PINA PARESH SHAH	Equity Equity	share of Rs. 10 each	IN30154962888984	India	Male	Income Tax PAN	ABCPJ3293R	500	10	5000.00
655	Individual	Other than promoter	JILL SALIA	Equity Equity	share of Rs. 10 each	IN30154966893764	India	Male	Income Tax PAN	GJLPS1071M	501	10	5010.00
656	Individual	Other than promoter	RITIKA GUPTA	Equity Equity	share of Rs. 10 each	IN30155721078844	India	Female	Income Tax PAN	AKMPG4273B	50	10	500.00
657	Individual	Other than promoter	KAPIL SHARMA	Equity Equity	share of Rs. 10 each	IN30156510017239	India	Male	Income Tax PAN	BGSPS6048D	1	10	10.00
658	Individual	Other than promoter	RAHUL SHARMA	Equity Equity	share of Rs. 10	IN30156510017430	India	Male	Income Tax PAN	AZDPS5220Q	1	10	10.00
659	Individual	Other than promoter	MANGILAL CHANDAK	Equity Equity	share of Rs. 10	IN30160410142003	India	Male	Income Tax PAN	ACCPC7467R	300	10	3000.00
660	Individual	Other than promoter	NAVNEET KAUR REEN	Equity Equity	each share of Rs. 10	IN30160412859856	India	Male	Income Tax PAN	AIZPR6064L	4	10	40.00
661	Individual	Other than promoter	VENKATASALAM K M V	Equity Equity	each share of Rs. 10	IN30163740481494	India	Male	Income Tax PAN	AAKPV0981F	500	10	5000.00
662	Individual	Other than promoter	HOTCHAND VASUDEV MAHESHWARI	Equity Equity	each share of Rs. 10	IN30164510326689	India	Male	Income Tax PAN	AFRPM1111Q	1	10	10.00
663	Individual	Other than promoter	SHOBHA BHAMBRI	Equity Equity	each share of Rs. 10	IN30165310426917	India	Male	Income Tax PAN	ACRPB5979Q	2	10	20.00
664	Individual	Other than promoter	GANAPATHI KOGGA KHARVI	Equity Equity	each share of Rs. 10	IN30169610103112	India	Male	Income Tax PAN	AQUPK3600J	100	10	1000.00
665	Individual	Other than promoter	SIVANESH KUMAR.S		each share of Rs. 10	IN30169610666892	India	Male	Income Tax PAN	BFFPS3439J	1	10	10.00
666	Individual	Other than promoter	CHOWDHARI NARAYAN.K		each share of Rs. 10	IN30169610961039	India	Male	Income Tax PAN	AFIPC6198N	1150	10	11500.00
667	Individual	Other than promoter	SACHIN DHANRAJ BHALERAO		each share of Rs. 10	IN30169611520434	India	Male	Income Tax PAN	ALUPB4863H	100	10	1000.00
007					each								
b68	Individual	Other than promoter	RAJESH		share of Rs. 10 each	IN30177410933450	India	Male	Income Tax PAN	AAAPJ7428B	100	10	1000.00
669	Individual	Other than promoter	MANISH DHANSUKHLAL VADGAMA		share of Rs. 10 each	IN30177411025941	India	Male	Income Tax PAN	AFHPV2346E	100	10	1000.00
670	Individual	Other than promoter	BHAGWAN PANDURANG NAIK		share of Rs. 10 each	IN30177411592656	India	Male	Income Tax PAN	AAHPN3614N	20	10	200.00
671	Individual	Other than promoter	BHIM JAIN	Equity Equity	share of Rs. 10 each	IN30177413275473	India	Male	Income Tax PAN	AAGPJ3493G	1	10	10.00
672	Individual	Other than promoter	JAGDISH CHANDER	Equity Equity	share of Rs. 10 each	IN30177413569091	India	Male	Income Tax PAN	AEQPC1011F	10	10	100.00
673	Individual	Other than promoter	SARALADEVI		share of Rs. 10	IN30177415982284	India	Female	Income Tax PAN	ASKPS3432N	300	10	3000.00
674	Individual	Other than promoter	PANKAJ AGRAWAL	Equity Equity	share of Rs. 10 each	IN30177418265910	India	Male	Income Tax PAN	ARCPA2101R	6	10	60.00
675	Individual	Other than promoter	NAMITA SAGAR		share of Rs. 10	IN30177418455690	India	Male	Income Tax PAN	COJPS4379R	1	10	10.00
676	Individual	Other than promoter	KUSUM JAIN	Equity Equity	each share of Rs. 10	IN30177418455866	India	Female	Income Tax PAN	AGHPJ2576R	1	10	10.00
677	Individual	Other than promoter	BIMLA BHAGAT	Equity Equity	each share of Rs. 10	IN30177418759571	India	Male	Income Tax PAN	AHKPB1078J	10	10	100.00
678	Individual	Other than promoter	RAJIV KUMAR AGRAWAL	Equity Equity	each share of Rs. 10	IN30177418960581	India	Male	Income Tax PAN	AIOPA2015M	1	10	10.00
679	Individual	Other than promoter	SANGITA RAMESH SHAH		each share of Rs. 10	IN30177419792445	India	Female	Income Tax PAN	BNZPS4830H	200	10	2000.00
680	Individual	Other than promoter	SARADA CHALLA		each share of Rs. 10	IN30177420189642	India	Female	Income Tax PAN	BMBPC4543G	1	10	10.00
000	monviolat	Said and promotel	SANTO GENERAL	Equity Equity	each	2,002,7,7202,0042	IIIula	Ciliale	moone las PAN	D. 121 040430		1	20.00

681	Individual	Other than promoter	SHANI KUMAR CHAUHAN	Equity Equity share of Rs. 10 each	IN30177421371180	In	dia	Male	Income Tax PAN	BJTPC5627G	82		10	820.00
682	Individual	Other than promoter	DAVINDER KUMAR GARG	Equity Equity share of Rs. 10 each	IN30184610018499	In	dia	Male	Income Tax PAN	AATPG8287E	50		10	500.00
683	Entity	Other than promoter	LSC SECURITIES LIMITED	Equity Equity share of Rs. 10 each	IN30184610283572	In	dia N	lot applicable	CIN	U67120PB2000PLC054428	148		10	1480.00
684	Individual	Other than promoter	YOGESH MITHALAL RATHOD	Equity Equity share of Rs. 10	IN30186270023503	In	dia	Male	Income Tax PAN	AAWPR6011Q	400	,	10	4000.00
685	Individual	Other than promoter	MANSI BHAMBRI	each Equity Equity share of Rs. 10	IN30186270544220	In	dia	Female	Income Tax PAN	ALMPB4921G	84		10	840.00
686	Individual	Other than promoter	SUDHA PHOPHALIA	each Equity Equity share of Rs. 10	IN30195910008010	In	dia	Female	Income Tax PAN	ACFPP2048A	300	,	10	3000.00
687	Individual	Other than promoter	MOHINI UPPAL	each Equity Equity share of Rs. 10	IN30195910055719	In	dia	Female	Income Tax PAN	AAAPU4586F	9520	10	10	952000.00
688	Individual	Other than promoter	VATSAL DILIPKUMAR DOSHI	each Equity Equity share of Rs. 10	IN30199111160122	In	dia	Male	Income Tax PAN	BJIPD6548J	300	_	10	3000.00
689	Individual	Other than promoter	TAPAN KUMAR MUKHERJEE	each Equity Equity share of Rs. 10	IN30220110107629	lo lo	dia	Male	Income Tax PAN	AHMPM7150N	5		10	50.00
690	Individual	Other than promoter	MANOJ R SODHANI	each Equity Equity share of Rs. 10	IN30226910030540		dia	Male	Income Tax PAN	AADPS2612M	1		10	10.00
	Individual		MADAN LAL WADHWA	each	IN30226910284493		dia	Male		AABPW4367K				10.00
691		Other than promoter		each					Income Tax PAN		_		10	
692	Individual	Other than promoter	JASMEET SINGH	Equity Equity share of Rs. 10 each	IN30226910987503		dia	Male	Income Tax PAN	ARVPS9338P	10		10	100.00
693	Individual	Other than promoter	VISHNU DUTT SHARMA	Equity Equity share of Rs. 10 each	IN30226912930328	In	dia	Male	Income Tax PAN	AHLPS9599Q	1		10	10.00
694	Entity	Promoter	SAS INFOTECH PRIVATE LIMITED	Equity Equity share of Rs. 10 each	IN30226913441279	In	dia N	lot applicable	Other registration number	AAKCS8762Q	5104	54	10	5104540.00
695	Individual	Other than promoter	GAURANG MEHTA	Equity Equity share of Rs. 10 each	IN30226914196696	In	dia	Male	Income Tax PAN	ABFPM1635B	1		10	10.00
696	Entity	Other than promoter	P S FINSEC PRIVATE LIMITED	Equity Equity share of Rs. 10 each	IN30231610044155	In	dia N	lot applicable	CIN	U69120DL1996PTC080696	400		10	4000.00
697	Individual	Other than promoter	SWARAN LATA	Equity Equity share of Rs. 10 each	IN30236510000789	In	dia	Female	Income Tax PAN	ACTPL3113G	8		10	80.00
698	Individual	Other than promoter	RAMA JAIN	Equity Equity share of Rs. 10	IN30236510003504	In	dia	Female	Income Tax PAN	AFPPJ3214D	1		10	10.00
699	Individual	Other than promoter	ANKUR CHANDA	each Equity Equity share of Rs. 10	IN30236510914729	In	dia	Male	Income Tax PAN	AGEPC7371A	1		10	10.00
700	Individual	Other than promoter	ASHWANIKUMAR	each Equity Equity share of Rs. 10	IN30236510974910	In	dia	Male	Income Tax PAN	AAFPK6026M	1		10	10.00
701	Individual	Other than promoter	ANKIT AGARWAL	each Equity Equity share of Rs. 10	IN30236510986671	In	dia	Male	Income Tax PAN	AIPPA3726L	7		10	70.00
702	Individual	Other than promoter	RITA JAIN	each Equity Equity share of Rs. 10	IN30236511045560	In	dia	Female	Income Tax PAN	AHFPJ1123K	1		10	10.00
703	Individual	Other than promoter	GEETU CHADHA	each Equity Equity share of Rs. 10	IN30236511103407	In	dia	Female	Income Tax PAN	AVTPB5478M	1		10	10.00
704	Individual		ASHEESH KHURANA	each Equity Equity share of Rs. 10	IN30236511169533				Income Tax PAN	ATOPK1426B	1		10	10.00
		Other than promoter		each		In		Male			1			
705	Individual	Other than promoter	JASNEET KAUR	Equity Equity share of Rs. 10 each	IN30236511170909		dia	Male	Income Tax PAN	ENXPK0499F	1		10	10.00
706	Individual	Other than promoter	ANJU SACHDEVA	Equity Equity share of Rs. 10 each	IN30236511171065		dia	Female	Income Tax PAN	AHDPB2200M	1		10	10.00
707	Individual	Other than promoter	ASHA KOHLI	Equity Equity share of Rs. 10 each	IN30236511241596	In	dia	Female	Income Tax PAN	BEAPK7433L	1		10	10.00
708	Individual	Other than promoter	RAJESHKUMAR RAJNIKANT SHAH	Equity Equity share of Rs. 10 each	IN30246110283739	In	dia	Male	Income Tax PAN	AXTPS0999N	1		10	10.00
709	Individual	Other than promoter	MEENU JAIN	Equity Equity share of Rs. 10 each	IN30256610012879	In	dia	Female	Income Tax PAN	AEUPJ5949P	150	0	10	15000.00
710	Individual	Other than promoter	SANGEETA JAIN	Equity Equity share of Rs. 10 each	IN30256610019307	In	dia	Female	Income Tax PAN	AEUPJ5936N	2101	0	10	21000.00
711	Individual	Other than promoter	MONIKA JAIN	Equity Equity share of Rs. 10 each	IN30256610052690	In	dia	Female	Income Tax PAN	AHJPJ8603L	1		10	10.00
712	Individual	Other than promoter	AJAYJAIN	Equity Equity share of Rs. 10 each	IN30256610052704	In	dia	Male	Income Tax PAN	AHJPJ8507D	1		10	10.00
713	Individual	Other than promoter	RAJESH JAIN	Equity Equity share of Rs. 10 each	IN30256610054865	In	dia	Male	Income Tax PAN	AALPJ1034G	1		10	10.00
714	Individual	Other than promoter	NEETU JAIN	Equity Equity share of Rs. 10	IN30256610054873	In	dia	Female	Income Tax PAN	AFDPJ3638M	1		10	10.00
715	Individual	Other than promoter	KUSUM SINGH	each Equity Equity share of Rs. 10	IN30267931016953	In	dia	Female	Income Tax PAN	ANJPS0820N	95		10	950.00
716	Individual	Other than promoter	RASHID QAIYUM	each Equity Equity share of Rs. 10	IN30267932163438	In	dia	Male	Income Tax PAN	AABPQ4238K	94		10	940.00
717	Individual	Other than promoter	RAJKUMAR V NAIR	each Equity Equity share of Rs. 10	IN30267933567106	In	dia	Male	Income Tax PAN	AABPN3022A	500		10	5000.00
718	Individual	Other than promoter	CHANEMOUGASSOUNDRAM R	each Equity Equity share of Rs. 10	IN30267934021363	In	dia	Male	Income Tax PAN	AFKPR8113C	50	_	10	500.00
719	Individual	Other than promoter	RAVINDRA KUMAR PERLA	each Equity Equity share of Rs. 10	IN30267936397098		dia	Male	Income Tax PAN	AUKPP6561D	1350		10	13500.00
720	Individual	Other than promoter	PRAMOD KUMAR GUPTA	each Equity Equity share of Rs. 10	IN30282210034177		dia dia	Male	Income Tax PAN	AATPG1857G	300		10	3000.00
	Individual		JAI KUMAR SHARMA	each	IN30282210034177 IN30282210051663	in in		Male		BEJPS0029B				330.00
721		Other than promoter		each					Income Tax PAN		33		10	
722	Individual	Other than promoter	LAKSHMINARAYANAN RAMANUJAM	Equity Equity share of Rs. 10 each	IN30290242890162		dia	Male	Income Tax PAN	AABPL4023D	1		10	10.00
723	Individual	Promoter	RAKESH ARORA	Equity Equity share of Rs. 10 each	IN30290242965976	In	dia	Male	Income Tax PAN	AAGPA4632G	3920	В	10	39280.00
724	Individual	Other than promoter	ANUP KUMAR HANDA	Equity Equity share of Rs. 10 each	IN30290243432263	In	dia	Male	Income Tax PAN	AAAPH0211L	825		10	82570.00
725	Individual	Other than promoter	KUMUD SETHI	Equity Equity share of Rs. 10 each	IN30290243558207	In	dia	Male	Income Tax PAN	ABJPS1193C	1960	10	10	196000.00
726	Individual	Other than promoter	RAVINDER SINGH	Equity Equity share of Rs. 10 each	IN30290244719753	In	dia	Male	Income Tax PAN	AATPS1200P	5		10	50.00
727	Individual	Other than promoter	ADITYA OGGU	Equity Equity share of Rs. 10 each	IN30290248539870	In	dia	Male	Income Tax PAN	AANPO3891J	500	-	10	5000.00
728	Individual	Other than promoter	MANISH YADAV	Equity Equity share of Rs. 10	IN30292710324124	In	dia	Male	Income Tax PAN	AAXPY9447N	20		10	200.00
729	Individual	Other than promoter	NARINDER MAHAJAN	each Equity Equity share of Rs. 10	IN30294310021857	In	dia	Male	Income Tax PAN	AFYPM5106Q	145	+	10	1450.00
730	Individual	Other than promoter	JYOTI VIJAY CHOWDHARI	each Equity Equity share of Rs. 10	IN30295120177439	In	dia	Female	Income Tax PAN	AHCPC9690B	902	!	10	9020.00
731	Individual	Other than promoter	AJAYSOOD	each Equity Equity share of Rs. 10	IN30299410048228	In	dia	Male	Income Tax PAN	BFCPS2840Q	2		10	20.00
732	Individual	Other than promoter	PRAVIN SOOD	each Equity Equity share of Rs. 10	IN30299410048236		dia	Male	Income Tax PAN	ATFPS7836Q	2		10	20.00
733	Individual	Other than promoter	KULDIP PARKASH SOOD	each Equity Equity share of Rs. 10	IN30299410048333		dia	Male	Income Tax PAN	ABCPS8953R	12		10	120.00
734	Individual	Other than promoter Other than promoter	RAIU	equity Equity share of Rs. 10 each Equity Equity share of Rs. 10	IN30299410046333				Income Tax PAN	AJMPR2980H	6		10	60.00
				each			dia	Male						
735	Individual	Other than promoter	PARMOD KUMAR JAIN	Equity Equity share of Rs. 10 each	IN30299410082531		dia	Male	Income Tax PAN	AEUPJ4890B	7		10	70.00
736	Individual	Other than promoter	KAUSHALYA SOOD	Equity Equity share of Rs. 10 each	IN30299410117458	In	dia	Male	Income Tax PAN	ANKPK8352N	2		10	20.00
									_					

737 Individual 738 Individual 739 Individual 739 Individual 740 Individual 740 Individual 741 Individual 742 Individual 744 Individual 745 Individual 746 In	dividual Other than promoter											
739 Individe 740 Individe 741 Individe 742 Individe 743 Individe 744 Individe 745 Individe	·	NIKHIL RAJENDRA AMBAVANE	Equity	Equity share of Rs. 10 each	IN30302812162336	India	Male	Income Tax PAN	BCDPA3472J	2	10	20.00
740 Individ 741 Individ 742 Individ 743 Individ 744 Individ 744 Individ	dividual Other than promoter	SAI RAM MOKARA	Equity	Equity share of Rs. 10 each	IN30302835839880	India	Male	Income Tax PAN	AXOPM1393D	1	10	10.00
741 Individe 742 Individe 743 Individe 744 Individe 745 Individe		G MUTHU KRISHNAN	Equity	Equity share of Rs. 10	IN30302851268598	India	Male	Income Tax PAN	AHRPM4106B	16	10	160.00
742 Individe 743 Individe 744 Individe 745 Individe 745 Individe	dividual Other than promoter	BHARAT BHUSHAN	Equity	each Equity share of Rs. 10	IN30302852347270	India	Male	Income Tax PAN	ACNPB7742B	50	10	500.00
742 Individe 743 Individe 744 Individe 745 Individe 745 Individe	dividual Other than promoter	NIRMALA SINGH	Equity	each Equity share of Rs. 10	IN30302860575479	India	Female	Income Tax PAN	ADEPS8773P	10	10	100.00
743 Individ 744 Individ 745 Individ				each								
744 Individ	dividual Other than promoter	SANJAY AGGARWAL	Equity	Equity share of Rs. 10 each	IN30302862422044	India	Male	Income Tax PAN	AAKPA2709G	199	10	1990.00
745 Individ	dividual Other than promoter	MADHURI ARUN BHAVE	Equity	Equity share of Rs. 10 each	IN30302895660112	India	Female	Income Tax PAN	AJXPB1493L	300	10	3000.00
	dividual Other than promoter	VISHAL KAMLESH SHRINGI	Equity	Equity share of Rs. 10	IN30302896954841	Russia	Male	Income Tax PAN	BOWPS9651E	6	10	60.00
746 Individ	dividual Other than promoter	NARENDRA KUMAR SHARMA	Equity	each Equity share of Rs. 10	IN30302898761738	India	Male	Income Tax PAN	JANPS8256J	2	10	20.00
	dividual Other than promoter	NINA DHAVALKUMAR BAVISI	Equity	each Equity share of Rs. 10	IN30305210094764	India	Female	Income Tax PAN	AJOPP0673P	14	10	140.00
747 Individ	dividual Other than promoter	MAMTA AGARWALA	Equity	each Equity share of Rs. 10	IN30311611422296	India	Female	Income Tax PAN	BLBPA1461L	42	10	420.00
				each								
748 Entit	Entity Other than promoter	AJIT R RAMBHIA HUF	Equity	Equity share of Rs. 10 each	IN30311612548341	India	Not applicable	Other registration number	AAHHA9523R	10	10	100.00
749 Individ	dividual Other than promoter	AMITKUMAR D DHANDHALYA	Equity	Equity share of Rs. 10 each	IN30311613477405	India	Male	Income Tax PAN	GOOPD8214P	5	10	50.00
750 Individ	dividual Other than promoter	YASH NITIN VISAWADIA	Equity	Equity share of Rs. 10	IN30311614002832	India	Male	Income Tax PAN	AXEPV3303N	325	10	3250.00
751 Individ	dividual Other than promoter	JAYANT SANCHETI	Equity	each Equity share of Rs. 10	IN30340310019066	India	Male	Income Tax PAN	COPPS4990Q	114	10	1140.00
752 Entit	Entity Other than promoter	MONEYPLANT GOLD & JEWELLERY TRADING	Equity	each Equity share of Rs. 10	IN30362210069456	United Arab Emirates	Not applicable	Other registration number	AAQCM3426R	625	10	6250.00
		L.L.C NAMITA SAGAR		each	IN30365580225275	India	Male	Income Tax PAN	COJPS4379R	1		
			Equity	Equity share of Rs. 10 each							10	10.00
754 Individ	dividual Promoter	SUNIL SACHDEVA	Equity	Equity share of Rs. 10 each	IN30415810273674	India	Male	Income Tax PAN	AATPS7424F	690500	10	6905000.00
755 Individ	dividual Promoter	SUMAN SACHDEVA	Equity	Equity share of Rs. 10 each	IN30429514575602	India	Female	Income Tax PAN	ABFPS8791Q	19800	10	198000.00
756 Individ	dividual Other than promoter	VINOD ATMARAM TAVDE	Equity	Equity share of Rs. 10	IN30429521511105	India	Male	Income Tax PAN	AFJPT7375M	100	10	1000.00
757 Individ	dividual Other than promoter	SEEMA CHHABRA	Equity	each Equity share of Rs. 10	IN30467640003452	India	Female	Income Tax PAN	AGYPC4168P	2	10	20.00
758 Individ		SATYA PRAKASH SHARMA	Equity	each Equity share of Rs. 10	IN30467650004987	India	Male	Income Tax PAN	AJXPS9581J	50	10	500.00
	·			each								
759 Individ	dividual Other than promoter	PRAKASH BABURAO RANE	Equity	Equity share of Rs. 10 each	IN30611411561648	India	Male	Income Tax PAN	AACPR2164E	200	10	2000.00
760 Individ	dividual Other than promoter	RAJESH RAM	Equity	Equity share of Rs. 10 each	IN30611440112605	India	Male	Income Tax PAN	BOQPR5338B	10	10	100.00
761 Individ	dividual Other than promoter	AKASH GAUTAM KHANDARE	Equity	Equity share of Rs. 10	IN30611442108916	India	Male	Income Tax PAN	DKWPK9778N	5	10	50.00
762 Individ	dividual Other than promoter	VAISHNAVI SWAPNIL BHAGAT	Equity	each Equity share of Rs. 10	IN30611460402905	India	Female	Income Tax PAN	HAUPS4109B	1	10	10.00
763 Individ	dividual Other than promoter	VANNA MUTHU .	Equity	each Equity share of Rs. 10	IN30611469054176	India	Female	Income Tax PAN	AOJPV2344F	211	10	2110.00
764 Individ		IITSAV LITTAM BAGRI	Equity	each Equity share of Rs. 10	1201040000049256	India	Male	Income Tax PAN	AIVPB2426N	1	10	10.00
				each								
765 Individ	dividual Other than promoter	SHAM SUNDERLAL LADDHA	Equity	Equity share of Rs. 10 each	1201060000027443	India	Male	Income Tax PAN	AAYPL2715K	50	10	500.00
766 Individ	dividual Other than promoter	MADHAVI SHAM LADDHA	Equity	Equity share of Rs. 10 each	1201060000027536	India	Female	Income Tax PAN	AAEPL6762E	50	10	500.00
767 Individ	dividual Other than promoter	KIRAN CHANDRAVADAN LADDHA	Equity	Equity share of Rs. 10	1201060000043461	India	Female	Income Tax PAN	AAIPL5865E	50	10	500.00
768 Individ	dividual Other than promoter	SANGEETA JAGDISH RATHI	Equity	each Equity share of Rs. 10	1201060000079737	India	Female	Income Tax PAN	AAWPR2233C	50	10	500.00
769 Individ	dividual Other than promoter	JAGDISH RAMCHANRA RATHI	Equity	each Equity share of Rs. 10	1201060000132414	India	Male	Income Tax PAN	AFIPR3650L	50	10	500.00
770 Individ		CHANDRAVADAN SUNDERLAL LADDHA	Equity	each Equity share of Rs. 10	1201060000132467	India	Male	Income Tax PAN	AAYPL2718E	50	10	500.00
				each								
771 Individ	dividual Other than promoter	SHIVAM ASHOK MOHATA	Equity	Equity share of Rs. 10 each	1201060002688731	India	Male	Income Tax PAN	BOXPM4635R	100	10	1000.00
772 Individ	dividual Other than promoter	NIRMALABEN UTTAMRAM MARFATIA	Equity	Equity share of Rs. 10 each	1201070000351761	India	Female	Income Tax PAN	AEKPM0728F	67	10	670.00
773 Entit	Entity Other than promoter	SAGARIKA INFRASTRUCTURE PRIVATE	Equity	Equity share of Rs. 10	1201070000446125	India	Not applicable	CIN	U45400MH2010PTC209148	400	10	4000.00
774 Entit	Entity Other than promoter	LIMITED RAJIVR JAGDALE - HUF	Equity	each Equity share of Rs. 10	1201070000446159	India	Not applicable	Other registration number	AADHR0364M	4000	10	40000.00
$\overline{}$	dividual Other than promoter	MADAN KISANGOPAL RATHI	Equity	each Equity share of Rs. 10	1201090000078671	India	Male	Income Tax PAN	AAXPR0631F	4	10	40.00
775 Individ		MAHENDRA KUMAR SONI	Equity	each Equity share of Rs. 10	1201090000979669	India	Male	Income Tax PAN	AJUPS9164L	1	10	10.00
	order than promoter			each		inuia	riate	III.Come Tax PAN				10.00
776 Individ		DEBABRATA . MUKHERJEE	Equity	Equity share of Rs. 10	1201090001255009					3		
776 Individ				each		India	Male	Income Tax PAN	AJTPM9547Q		10	30.00
776 Individ		SURESHKUMARJAIN.B.	Equity	each Equity share of Rs. 10 each	1201090002425053	India	Male Male	Income Tax PAN Income Tax PAN	AJTPM9547Q AMZPS3474P	3	10	30.00
776 Individ	dividual Other than promoter	SURESHKUMARIAIN.B. PREMJIBHAI KESHABHAI CHAUDHARI		Equity share of Rs. 10 each Equity share of Rs. 10						3		
776 Individe 777 Individe 778 Individe 779 Individe 770 In	dividual Other than promoter		Equity	Equity share of Rs. 10 each Equity share of Rs. 10 each Equity share of Rs. 10	1201090002425053	India	Male	Income Tax PAN	AMZPS3474P	·	10	30.00
776 Individ 777 Individ 778 Individ 779 Individ	dividual Other than promoter dividual Other than promoter dividual Other than promoter	PREMIJBHAI KESHABHAI CHAUDHARI	Equity Equity	Equity share of Rs. 10 each Equity share of Rs. 10 each	1201090002425053	India	Male Male	Income Tax PAN Income Tax PAN Income Tax PAN	AMZPS3474P AATPC3043N	·	10	30.00
776 Individe 777 Individe 778 Individe 779 Individe 780 Individe 781 Entit	dividual Other than promoter stividual Other than promoter stividual Other than promoter Entity Other than promoter	PREMIJIBHAI KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANLAL JALANI HUF.	Equity Equity Equity Equity	Equity share of Rs. 10 each Equity share of Rs. 10	1201090002425053 1201090002908323 1201090008437245 1201090010108940	India India India	Male Male Female Not applicable	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number	AMZPS3474P AATPC3043N COJPS4379R ABBHS9666N	100 1 210	10 10 10 10	30.00 1000.00 10.00 2100.00
776 Individe 777 Individe 778 Individe 779 Individe 780 Individe 781 Entit 782 Individe	dividual Other than promoter Sividual Other than promoter Sividual Other than promoter Sividual Other than promoter Entity Other than promoter Sividual Other than promoter	PREMIJIBNAI KESHABHAI CHALDHARI NAMITIA SAGAR. SMITKUMAR MANDANLAL JALANI HUF. SOHANSINIH KESHUJI VAGHELA	Equity Equity Equity Equity Equity Equity	Equity share of Rs. 10 each Equity share of Rs. 10	1201090002425053 1201090002908323 1201090008437245 1201090008437245 120109010108840	India India India India	Male Male Female Not applicable Male	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number Income Tax PAN	AMZPS3474P AATPC3043N COIPS4379R ABBHS9666N AGGPV3033N	100 1 219	10 10 10 10 10	30.00 1000.00 10.00 2100.00
776 Individe 777 Individe 778 Individe 779 Individe 780 Individe 781 Entit	dividual Other than promoter Sividual Other than promoter Sividual Other than promoter Sividual Other than promoter Entity Other than promoter Sividual Other than promoter	PREMIJIBHAI KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANLAL JALANI HUF.	Equity Equity Equity Equity	Equity share of Rs. 10 each	1201090002425053 1201090002908323 1201090008437245 1201090010108940	India India India	Male Male Female Not applicable	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number	AMZPS3474P AATPC3043N COJPS4379R ABBHS9666N	100 1 210	10 10 10 10	30.00 1000.00 10.00 2100.00
776 Individe 777 Individe 778 Individe 779 Individe 780 Individe 781 Entit 782 Individe	Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter Entity Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter	PREMIJIBNAI KESHABHAI CHALDHARI NAMITIA SAGAR. SMITKUMAR MANDANLAL JALANI HUF. SOHANSINIH KESHUJI VAGHELA	Equity Equity Equity Equity Equity Equity	Equity share of Rs. 10 each Equity share of Rs. 10	1201090002425053 1201090002908323 1201090008437245 1201090008437245 120109010108840	India India India India	Male Male Female Not applicable Male	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number Income Tax PAN	AMZPS3474P AATPC3043N COIPS4379R ABBHS9666N AGGPV3033N	100 1 219	10 10 10 10 10	30.00 1000.00 10.00 2100.00
776 Individe 777 Individe 778 Individe 779 Individe 780 Individe 781 Entit 782 Individe 783 Individe	Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter Entity Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter	PREMIJENAI KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINH KESHUJI VAGHELA SHARIF.	Equity Equity Equity Equity Equity Equity Equity Equity	Equity share of Rs. 10 each	120109002429053 120109002908323 1201090008437245 1201090010108840 120109002387362 1201090024434039	India India India India India India India India	Male Male Female Not applicable Male Male	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number Income Tax PAN Income Tax PAN	AMZPS3474P AATPC3043N COIPS4379R ABBHS9666N AGGPV3033N EKRPS819E	100 1 210 11 1	10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ.	Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter Entity Other than promoter dividual Other than promoter	PREMIJENAI KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINIH KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN	Equity Equity Equity Equity Equity Equity Equity Equity Equity	Equity share of Rs. 10 each	120109002429053 1201090022908323 120109000247245 1201090010108940 12010901210108940 120109012387362 120109012434039 1201090125515244	India	Mate Mate Female Not applicable Mate Mate Mate	Income Tax PAN Income Tax PAN Income Tax PAN Other registration number Income Tax PAN Income Tax PAN Income Tax PAN	AAZPS3474P AATPC3043N COIPS4379R ABBHS9666N AGGPV3033N EKRPS5819E AOUPM19771	100 1 210 11 1 5	10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ.	Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter Entity Other than promoter dividual Other than promoter	PREMIJENAJ KESHABHAJ CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINIH KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKAHDAN GOPAL KUMAR SHAW MAHENDRA KUMAR AGNANI	Equity	Equity share of Rs. 10 each	120109002429053 120109002429053 1201090022908323 120109002908323 12010900247245 1201090010108940 1201090022367362 1201090025516244 1201090025516244 1201090035014563	India	Male Male Female Not applicable Male Male Male Male Male Male	Income Tas PAN Income Tas PAN Income Tas PAN Income Tas PAN Other registration number Income Tas PAN	AAVZPS3474P AATPC3043N COIPS4378R ABBHS9666N AGGPV3033N EKRPS5819E AOUPH19771 APVPS2330D ABMPA6865G	100 1 210 11 1 5 3 1000	10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Individ.	Other than promoter dividual Other than promoter	PREMIJENAJ KESHABHAJ CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINIH KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN GOPAL KUMAR SHAW MAHENDRA KUMAR AGNANI SACHIN HARIPARSAD JAJOO.	Equity	Equity share of fis. 10 except	1201090002429053 12010900022908323 1201090002908323 1201090008437245 1201090010108940 120109002437362 12010900243434039 1201090025518244 1201090031562112 120109003814563 1201090700225211	India	Male Male Female Not applicable Male Male Male Male Male Male Male Ma	Income Tas PAN	AMZPS3474P AATPC3043N COIPS4379R ABBH59696N AGGPV3033N EKRPS5819E AOUPM19771 APVPS2330D ABMPA8865G ALYP96288I	100 1 210 11 1 5 3 10000 247	10 10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00 10000.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Individ.	Other than promoter dividual Other than promoter dividual Other than promoter dividual Other than promoter Entity Other than promoter dividual Other than promoter	PREMIJENAJ KESHABHAJ CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINIH KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKAHDAN GOPAL KUMAR SHAW MAHENDRA KUMAR AGNANI	Equity	Equity share of fis. 10 each	120109002429053 120109002429053 1201090022908323 120109002908323 12010900247245 1201090010108940 1201090022367362 1201090025516244 1201090025516244 1201090035014563	India	Male Male Female Not applicable Male Male Male Male Male Male	Income Tas PAN Income Tas PAN Income Tas PAN Income Tas PAN Other registration number Income Tas PAN	AAVZPS3474P AATPC3043N COIPS4378R ABBHS9666N AGGPV3033N EKRPS5819E AOUPH19771 APVPS2330D ABMPA6865G	100 1 210 11 1 5 3 1000	10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Individ.	Other than promoter dividual Other than promo	PREMIJENAJ KESHABHAJ CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIALI JALANI HUF. SOHANSINIH KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN GOPAL KUMAR SHAW MAHENDRA KUMAR AGNANI SACHIN HARIPARSAD JAJOO.	Equity	Equity share of Rs. 10 excholored to the control of	1201090002429053 12010900022908323 1201090002908323 1201090008437245 1201090010108940 120109002437362 12010900243434039 1201090025518244 1201090031562112 120109003814563 1201090700225211	India	Male Male Female Not applicable Male Male Male Male Male Male Male Ma	Income Tas PAN	AMZPS3474P AATPC3043N COIPS4379R ABBH59696N AGGPV3033N EKRPS5819E AOUPM19771 APVPS2330D ABMPA8865G ALYP96288I	100 1 210 11 1 5 3 10000 247	10 10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00 10000.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Individ. 787 Individ.	Other than promoter blokdoal Other than promoter	PREMIJEHAN KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUPMAR MANDANIALI JALANI HUF. SOHANISINI KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN GOPAL KUMARI SHAW MAHENDRA KUMARI SAGNANI SACHIN HARIPARSAD JAJOO. PUNEET BAJORIA HUF	Equity	Equity share of Rs. 10 excholored to the control of Rs. 10 excholo	120109002429053 1201090022908323 1201090002908323 1201090008437245 1201090019108940 1201090024367362 1201090025518244 1201090035518244 120109003562112 1201090700258211 1201090700258211	India	Male Male Female Not applicable Male Male Male Male Male Male Male Ma	Income Tas PAN Income Tas PAN Other registration number Income Tas PAN	ANZPS3474P AATPC3043N COIPS4378R ABBH59666N AGGPV3033N EXRPS5819E ADUPH19771 APVP3230D ABMP36865G ALYP56288I AANHP0214L	100 1 210 11 1 5 3 1000 247	10 10 10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00 10000.00 2470.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Entit 788 Entit 789 Individ.	Other than promoter birdousl Other than promoter	PREMIJEHAN KESHABHAI CHAUDHARI NAMITA SAGAR. SMITKUPHAR MANDANIAL JALANI HUF. SOHANISINI KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN GOPAL KUMAR SHAW MAHENDRA KUMAR AGNANI SAGHIN HARPARASAD JAJOO. PUNEET BAJORIA HUF AJAY PARAKH	Equity	Equity share of Rs. 10 excholored to the control of Rs. 10 excholo	120109002429053 1201090022908323 1201090002908323 1201090008437245 1201090019108849 12010900291367362 12010900294149039 1201090025515244 120109003515212 120109003914663 1201090700225211 120130001044867 120180000015409	India	Male Male Female Not applicable Male Male Male Male Male Male Male Ma	Income Tas PAN Income Tas PAN Income Tas PAN Other registration number Income Tas PAN	AAVPS3474P AATPC3043N COIPS4378R ABBHS9666N AGGPV3033N EXPPS5819E AOUPH19777 APVPS2330D ABMPM8885G ALYP9628BI AANHP0214L AAVPP1125A	100 1 210 11 1 5 3 1000 247 200 411	10 10 10 10 10 10 10 10 10 10 10	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00 10000.00 2470.00 4110.00
776 Individ. 777 Individ. 778 Individ. 779 Individ. 779 Individ. 780 Individ. 781 Entit 782 Individ. 783 Individ. 784 Individ. 785 Individ. 786 Individ. 787 Individ. 788 Entit 789 Individ. 790 Individ. 791 Individ.	Other than promoter birdousl Other than promoter	PREMIJEHAJ KESHABHAJ CHAUDHARI NAMITA SAGAR. SMITKUMAR MANDANIAL JALANI HUF. SOHANISINI KESHUJI VAGHELA SHARIF. VENKATARAMANAN MANIKANDAN GOPAL KUMAR SHAW MAHENDRA KUMAR SCHAW MAHENDRA KUMAR SCHAW MAHENDRA KUMAR AGNANI SACHIN HARPARASAD JAJOO. PUNEET BAJORA HUF AJAY PARASH VADAMIDEVI GEVARCHAND JAIN	Equity Equity	Equity share of fis. 10 each	120109002429053 120109002308323 1201090008437245 1201090008437245 12010900019108849 1201090024367362 1201090025518244 1201090025518244 120109003914563 120109003914663 1201090700225211 120130001044807 120130001044807	India	Male Male Female Not applicable Male Male Male Male Male Male Male Ma	Income Tas PAN Income Tas PAN Income Tas PAN Other registration number Income Tas PAN Income Tas PAN	ANZPS3474P AATPC3043N COIPS4379R ABBHS9696N AGGPV3033N EXPPS5819E AOUPH19777 APVPS2330D ABMPM8885G ALYP9628BI AANHP0214L AAVPP1125A ABCP/8351N	100 1 210 11 1 5 3 1000 247 200 411	10 10 10 10 10 10 10 10 10 10 10 10 10 1	30.00 1000.00 10.00 2100.00 110.00 50.00 30.00 10000.00 2470.00 2000.00 4110.00

793	Individual	Other than promoter	NAMAN JAIN	Equity Equity share of Rs. 10	1201260000286418	India	Male	Income Tax PAN	BRMPJ8988A	1000	10	10000.00
794	Individual	Other than promoter	DINKERRAI NANUBHAI DESAI	each Equity Equity share of Rs. 10	1201320000033401	India	Male	Income Tax PAN	AHNPD4316J	100	10	1000.00
		·		each								
795	Individual	Other than promoter	SYED MD MEHNDI	Equity Equity share of Rs. 10 each	1201320001674585	India	Male	Income Tax PAN	CJEPM9081J	290	10	2900.00
796	Individual	Other than promoter	HITESH MANILAL MEHTA	Equity Equity share of Rs. 10 each	1201330000666696	India	Male	Income Tax PAN	AADPM3932A	150	10	1500.00
797	Individual	Other than promoter	RAMANDEEP SINGH	Equity Equity share of Rs. 10 each	1201330000887239	India	Male	Income Tax PAN	AIZPR6084Q	1	10	10.00
798	Individual	Other than promoter	KAMAL NARAYAN SONI	Equity Equity share of Rs. 10 each	1201350000012773	India	Male	Income Tax PAN	AEMPS1866A	25	10	250.00
799	Individual	Other than promoter	ANANDKUMAR AGARWAL	Equity Equity share of Rs. 10 each	1201370000083875	India	Male	Income Tax PAN	ABJPA5020C	200	10	2000.00
800	Individual	Other than promoter	VINITA M AGRAWAL	Equity Equity share of Rs. 10 each	1201370000108432	India	Female	Income Tax PAN	AHQPA2065G	650	10	6500.00
801	Individual	Other than promoter	SUDHA PHOPHALIA	Equity Equity share of Rs. 10	1201370000150130	India	Female	Income Tax PAN	ACFPP2048A	226	10	2260.00
802	Individual	Other than promoter	BHANWAR LALTATER	Equity Equity share of Rs. 10	1201370000245708	India	Male	Income Tax PAN	AAFPT6277P	98	10	980.00
803	Individual	Other than promoter	PRADEEP SHIVKISAN JAJOO	Equity Equity share of Rs. 10	1201370000284108	India	Male	Income Tax PAN	AAOPJ3259Q	236	10	2360.00
804	Individual	Other than promoter	BABY ANAND AGARWAL	each Equity Equity share of Rs. 10	1201370000291945	India	Male	Income Tax PAN	AEIPA4965Q	100	10	1000.00
805	Individual	Other than promoter	KRISHAN LAL CHADHA	each Equity Equity share of Rs. 10	1201410000010073	India	Male	Income Tax PAN	ADSPC9385K	2	10	20.00
806	Individual	Other than promoter	RAINEESH KAPUR	each Equity Equity share of Rs. 10	1201410000014253	India	Male	Income Tax PAN	AUMPK3344H	1	10	10.00
807	Individual	Other than promoter	KIRAN GHAI	each Equity Equity share of Rs. 10	1201410000021007	India	Female	Income Tax PAN	AKHPG8037A	25	10	250.00
	Individual		ANIL KUMAR A KUMAR	each	1201500000004977		Male		ARHPK3578M	1		10.00
808		Other than promoter		Equity Equity share of Rs. 10 each		India		Income Tax PAN			10	
809	Individual	Other than promoter	TALSI MADHAVJI MEGHANI	Equity Equity share of Rs. 10 each	1201800000556306	India	Male	Income Tax PAN	ACHPM6364Q	300	10	3000.00
810	Individual	Other than promoter	VIMAL KUMAR DIDWANIA	Equity Equity share of Rs. 10 each	1201890000016095	India	Male	Income Tax PAN	AAMPD7407J	5100	10	51000.00
811	Individual	Other than promoter	MANISH KAPUR	Equity Equity share of Rs. 10 each	1201910100241871	India	Male	Income Tax PAN	ALXPK3982D	1	10	10.00
812	Individual	Other than promoter	SACHIN JAIN	Equity Equity share of Rs. 10 each	1201910101613061	India	Male	Income Tax PAN	ADIPJ5791Q	3	10	30.00
813	Individual	Other than promoter	DAVINDER KAUR	Equity Equity share of Rs. 10 each	1201910101967391	India	Male	Income Tax PAN	APUPK0201N	50	10	500.00
814	Individual	Other than promoter	KUMAR GAURAV	Equity Equity share of Rs. 10 each	1201910102029424	India	Male	Income Tax PAN	BZMPK4281R	12	10	120.00
815	Individual	Other than promoter	MAHENDER PAL BHUTANI	Equity Equity share of Rs. 10	1201910102044054	India	Male	Income Tax PAN	AIUPB8410B	20	10	200.00
816	Individual	Other than promoter	SANTOSH BHUTANI	each Equity Equity share of Rs. 10	1201910102044109	India	Female	Income Tax PAN	AALPB1813D	20	10	200.00
817	Individual	Other than promoter	SHASHI GUPTA	each Equity Equity share of Rs. 10	1201910104194644	India	Male	Income Tax PAN	AJXPG9461F	5	10	50.00
818	Individual	Other than promoter	AANIL RATANLAL MITTAL	each Equity Equity share of Rs. 10	1201910104948383	India	Male	Income Tax PAN	ACHPM0672M	20	10	200.00
819	Individual	Other than promoter	TANUSREE SADHUKHAN	each Equity Equity share of Rs. 10	1201910300596141	India	Female	Income Tax PAN	BHCPS9694A	42	10	420.00
820	Individual	Other than promoter	SOBHA AGARWAL	each Equity Equity share of Rs. 10	1201910300661225	India	Female	Income Tax PAN	AIOPA2085R	100	10	1000.00
821	Individual	Other than promoter	SHAKUNTALA AJAY JUMRANI	each Equity Equity share of Rs. 10	1202000000329790	India	Male	Income Tax PAN	AAYPI6055E	23	10	230.00
		· ·		each								
822	Entity	Other than promoter	RAVINDER KUMAR ARORA (HUF) .	Equity Equity share of Rs. 10 each	1202060001494665	India	Not applicable		AACHR9108L	838	10	8380.00
823	Individual	Other than promoter	NEHA DEEPAK THAKKAR	Equity Equity share of Rs. 10 each	1202060001518102	India	Female	Income Tax PAN	ASLPT5928P	111	10	1110.00
824	Individual	Other than promoter	URVASHI VEENIT VORA	Equity Equity share of Rs. 10 each	1202200000098549	India	Female	Income Tax PAN	BJLPS3050D	394	10	3940.00
825	Individual	Other than promoter	AJAY MAMGAIN	Equity Equity share of Rs. 10 each	1202420000841521	India	Male	Income Tax PAN	ANYPM1512E	410	10	4100.00
826	Individual	Other than promoter	HINA DHIRAJLAL AMBANI	Equity Equity share of Rs. 10 each	1202550000153767	India	Female	Income Tax PAN	AHPPA0841F	2000	10	20000.00
827	Individual	Other than promoter	HARJEET SINGH	Equity Equity share of Rs. 10 each	1202600000005763	India	Male	Income Tax PAN	BGRPS5449F	3	10	30.00
828	Individual	Other than promoter	JAYSHREE MAHENDRA MERCHANT	Equity Equity share of Rs. 10 each	1202810000012481	India	Male	Income Tax PAN	ALJPM3132B	5	10	50.00
829	Individual	Other than promoter	MUKESH JETHALAL PANCHANL	Equity Equity share of Rs. 10	1202870000011457	India	Male	Income Tax PAN	AACPP2227L	100	10	1000.00
830	Individual	Other than promoter	PUSHPA BHARAT PANCHAL	each Equity Equity share of Rs. 10	1202870000011476	India	Male	Income Tax PAN	AAHPP7183N	100	10	1000.00
831	Individual	Other than promoter	DISHITA HARSHADBAI MEHTA	each Equity Equity share of Rs. 10	1202870000194259	India	Female	Income Tax PAN	APLPM6123Q	80	10	800.00
832	Individual	Other than promoter	BHAVNA PRAKASH ACHHPAL	each Equity Equity share of Rs. 10	1202870000414753	India	Female	Income Tax PAN	ADLPA1927C	70	10	700.00
833	Individual	Other than promoter	BIDYUT SAHA	each Equity Equity share of Rs. 10	120289000001244	India	Male	Income Tax PAN	BAAPS2973K	180	10	1800.00
834	Individual	Other than promoter	SUSHILA JINPAL HAGARE	each Equity Equity share of Rs. 10	1202890000021476	India	Female	Income Tax PAN	ABJPH2653N	200	10	2000.00
835	Individual	Other than promoter	ARI INKI IMAR SHRIRAMII AGRAWAI	each Equity Equity share of Rs. 10	1202890000757013	India	Male	Income Tax PAN	AARPA6627L	50	10	500.00
				each								
836	Individual	Other than promoter	VINAY JINPAL HAGARE	Equity Equity share of Rs. 10 each	1202890001254995	India	Male	Income Tax PAN	AAGPH5231E	200	10	2000.00
837	Individual	Other than promoter	ALKA MITTAL	Equity Equity share of Rs. 10 each	1202920000020061	India	Female	Income Tax PAN	AKCPM8622Q	110	10	1100.00
838	Individual	Other than promoter	MAHESH GANGARAM GHAGARE	Equity Equity share of Rs. 10 each	1202970000036721	India	Male	Income Tax PAN	AHHPG0564F	199	10	1990.00
839	Individual	Other than promoter	CHAITANYA ANANT MHASHELKAR	Equity Equity share of Rs. 10 each	120300000021460	India	Male	Income Tax PAN	ACJPM9522C	150	10	1500.00
840	Individual	Other than promoter	PRADIP BHATTACHARJEE	Equity Equity share of Rs. 10 each	1203010000001219	India	Male	Income Tax PAN	AQLPB9022G	2	10	20.00
841	Individual	Other than promoter	CONSORT DIAS JACOBS	Equity Equity share of Rs. 10 each	120304000093361	India	Male	Income Tax PAN	AOUPC6445D	10	10	100.00
842	Individual	Other than promoter	S PAUL NESAN	Equity Equity share of Rs. 10 each	1203040000199970	India	Male	Income Tax PAN	BGRPP2034D	2	10	20.00
843	Individual	Other than promoter	DIVESH GOYAL	Equity Equity share of Rs. 10	1203230000740917	India	Male	Income Tax PAN	BDUPG5108H	8	10	80.00
844	Individual	Other than promoter	NEERAJ KUMAR	each Equity Equity share of Rs. 10	1203230000744341	India	Male	Income Tax PAN	AXHPK0401D	11501	10	115010.00
845	Entity	Other than promoter	PANKAI GROVER HUF .	each Equity Equity share of Rs. 10	1203230000760792	India	Not applicable	e Other registration number	AAGHP2518C	133	10	1330.00
846	Individual	Other than promoter	SHWETA GROVER	each Equity Equity share of Rs. 10	1203230000939753	India	Female	Income Tax PAN	AZHPG9318B	23900	10	239000.00
847	Individual	Other than promoter	SAMKIT BHUPEN VAKIL	each Equity Equity share of Rs. 10	1203230001412278	India	Male	Income Tax PAN	AXIPV9026F	100	10	1000.00
848	Individual	Other than promoter	SAVITA SURANA	each Equity Equity share of Rs. 10	1203230001970939	India	Female	Income Tax PAN	AFMPD0210N	400	10	4000.00
1				each		III.U				1		

849 850															
850	Individual	Other than promoter	NANDI	NIMUTREJA	Equity	Equity share of Rs. 10 each	1203230002569566	India	Female	Income Tax PAN	ADGPM4142C		500	10	5000.00
	Individual	Other than promoter	SANJA	NY MUTREJA	Equity	Equity share of Rs. 10 each	1203230002569950	India	Male	Income Tax PAN	AARPM0051G		500	10	5000.00
851	Individual	Other than promoter	PARAS	S MUTREJA	Equity	Equity share of Rs. 10	1203230002570322	India	Male	Income Tax PAN	DAEPM0719P		500	10	5000.00
852	Individual	Other than promoter	AJAYK	(UMAR JAIN	Equity	each Equity share of Rs. 10	1203230004049043	India	Male	Income Tax PAN	ABQPJ0922P		1	10	10.00
853	Individual	Other than promoter	VANS	H ARORA .	Equity	each Equity share of Rs. 10	1203230016372341	India	Male	Income Tax PAN	FKLPA4313L		10	10	100.00
						each									
854	Individual	Other than promoter	JITENDRA MA	AHENDRA JINDAL	Equity	Equity share of Rs. 10 each	1203300000024807	India	Male	Income Tax PAN	AAPPJ0787N		50	10	500.00
855	Individual	Other than promoter	HITESHKUMA	AR VAGATLAL SIYAL	Equity	Equity share of Rs. 10 each	1203320001800041	India	Male	Income Tax PAN	ASIPS1433K		99	10	990.00
856	Individual	Other than promoter	MANOJ SH	HRINIVAS JOSHI	Equity	Equity share of Rs. 10	1203320010279543	India	Male	Income Tax PAN	ADWPJ3151C		26	10	260.00
857	Individual	Other than promoter	MANDA	ASANTHOSH	Equity	each Equity share of Rs. 10	1203320013197068	India	Male	Income Tax PAN	CHVPM6031M		1	10	10.00
858	Individual	Other than promoter	ANKIT	T KHADRIA	Equity	each Equity share of Rs. 10	1203320020572752	India	Male	Income Tax PAN	CWBPK3040H		380	10	3800.00
		·				each									
859	Individual	Other than promoter	SABBA	ANI RAKESH	Equity	Equity share of Rs. 10 each	1203320021446999	India	Male	Income Tax PAN	EKEPS73B3J		12	10	120.00
860	Individual	Other than promoter	HARSHADIP E	BABARAO DUPARE	Equity	Equity share of Rs. 10 each	1203320022336573	India	Male	Income Tax PAN	EZTPD1935D		15	10	150.00
861	Individual	Other than promoter	SHATRUG	GHAN DUBEY	Equity	Equity share of Rs. 10	1203320023939993	India	Male	Income Tax PAN	FRIPD6748E		80	10	800.00
862	Individual	Other than promoter	SURESHBHAI G	GOKULBHAI HALPATI	Equity	each Equity share of Rs. 10	1203320025684969	India	Male	Income Tax PAN	AEOPH1273C		5	10	50.00
863	Individual	Other than promoter	DINES	SH KUMAR	Equity	each Equity share of Rs. 10	1203320030184902	India	Male	Income Tax PAN	AXTPK0657P		2	10	20.00
		·				each									
864	Individual	Other than promoter		IAIL KHAN	Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	AQEPK0463F		1	10	10.00
865	Individual	Other than promoter	DAYALJI UN	NKABHAI PATEL	Equity	Equity share of Rs. 10 each	1203320037791041	India	Male	Income Tax PAN	AEZPP8509C		356	10	3560.00
866	Individual	Other than promoter	PREMSA	AGAR GUPTA	Equity	Equity share of Rs. 10	1203320040194677	India	Male	Income Tax PAN	ABBPG3245R		40	10	400.00
867	Individual	Other than promoter	GAUSWAMI SIDHE	DHARAJGIRI DIPAKGIRI	Equity	each Equity share of Rs. 10	1203320041153589	India	Male	Income Tax PAN	BKVPG2680Q		5	10	50.00
868	Individual	Other than promoter	MAN	JU SINGH	Equity	each Equity share of Rs. 10	1203320042041394	India	Female	Income Tax PAN	CIKPS3209M		1	10	10.00
		·		ALAKAR DHANMEHER		each									
869	Individual	Other than promoter			Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	BZUPD5768A		4	10	40.00
870	Individual	Other than promoter	KUNA	AL BANSAL	Equity	Equity share of Rs. 10 each	1203320045347338	India	Male	Income Tax PAN	ATJPB2581K		32	10	320.00
871	Individual	Other than promoter	KEYURKUMAR H	HARSHADBHAI PATEL	Equity	Equity share of Rs. 10	1203320046817180	India	Male	Income Tax PAN	BBMPP7750A		2	10	20.00
872	Individual	Other than promoter	SIVANAND	DA GADAMMUNI	Equity	each Equity share of Rs. 10	1203320050526737	India	Male	Income Tax PAN	AFAPG3082M		50	10	500.00
873	Individual	Other than promoter	SONALIVA	SANT BHOJANE	Equity	each Equity share of Rs. 10	1203320058155612	India	Female	Income Tax PAN	ARXPB5643G		2	10	20.00
874	Individual	Other than promoter		A CHAUHAN	Equity	each Equity share of Rs. 10	1203320065847547	India	Female	Income Tax PAN	AUOPC3644G		1	10	10.00
						each									
875	Individual	Other than promoter	RAJI	VSHYAM	Equity	Equity share of Rs. 10 each	1203320069948465	India	Male	Income Tax PAN	BWHPS3780F		10	10	100.00
876	Individual	Other than promoter	SACH	IIN KUMAR	Equity	Equity share of Rs. 10 each	1203320071928874	India	Male	Income Tax PAN	DAEPK9633Q		210	10	2100.00
877	Individual	Other than promoter	LOKESH NAND	DULAL BAWANKULE	Equity	Equity share of Rs. 10	1203320075843944	India	Male	Income Tax PAN	CBDPB8087N		15	10	150.00
878	Individual	Other than promoter	HARBA	ANS SINGH	Equity	each Equity share of Rs. 10	1203320081048849	India	Male	Income Tax PAN	EQVPS6507P		13	10	130.00
879	Individual	Other than promoter				each						1			
	marviduut		SHIEFT	RAHLIGUNA	Equity	Equity share of Re. 10	1203320083112083	India	Mole	Income Tay PAN	A17PRQQ50C		30	10	300.00
880				BAHUGUNA	Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	AJZPB9950C		30	10	300.00
	Individual	Other than promoter		BAHUGUNA UMAR PANDA	Equity			India	Male Male	Income Tax PAN Income Tax PAN	AJZPB9950C BWZPP5425Q		30	10	300.00
881	Individual		AJAYA KI			each Equity share of Rs. 10 each Equity share of Rs. 10	1203320083723221								
881 882		Other than promoter	AJAYA KU SANJIT K	UMAR PANDA	Equity	each Equity share of Rs. 10 each Equity share of Rs. 10 each Equity share of Rs. 10	1203320083723221	India	Male	Income Tax PAN	BWZPP5425Q		1	10	10.00
	Individual	Other than promoter Other than promoter	AJAYA KI SANJIT K SUSHIL B	UMAR PANDA KUMAR MAJHI	Equity Equity	each Equity share of Rs. 10 each Equity share of Rs. 10 each	1203320083723221 1203320084814496	India	Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A		1 100	10	10.00
882 883	Individual Individual Individual	Other than promoter Other than promoter Other than promoter Other than promoter	AJAYAKI SANIIT K SUSHIL B SAN	UMAR PANDA KUMAR MAJHI SALINATH TELI NDEEP .	Equity Equity Equity Equity	each Equity share of Rs. 10	1203320083723221 1203320084814496 1203320085043458 1203320085049367	India India India India	Male Male Male Male	Income Tax PAN Income Tax PAN Income Tax PAN Income Tax PAN	BWZPP5425Q APUPM4869A AIOPT2636F GVLPS8357A		1 100 1 2	10 10 10	10.00 1000.00 10.00 20.00
882 883 884	Individual Individual Individual Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL B SAN RAM GGPA	UMAR PANDA (UMAR MAJHI BAJINATH TELI NDEEP . AL KUSHAWAHA	Equity Equity Equity Equity Equity	each Equity share of Rs. 10 each	1203320083723221 1203320084814496 1203320085043458 1203320085045367 1203320085065728	India India India India India	Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOPT2636F GVLPSB357A CMGPK6800A		1 100 1 2 10	10 10 10 10	10.00 1000.00 10.00 20.00
882 883	Individual Individual Individual	Other than promoter Other than promoter Other than promoter Other than promoter	AJAYA KI SANJIT K SUSHIL B SAN RAM GGPA	UMAR PANDA KUMAR MAJHI SALINATH TELI NDEEP .	Equity Equity Equity Equity	each Equity share of Rs. 10	1203320083723221 1203320084814496 1203320085043458 1203320085045367 1203320085065728	India India India India	Male Male Male Male	Income Tax PAN Income Tax PAN Income Tax PAN Income Tax PAN	BWZPP5425Q APUPM4869A AIOPT2636F GVLPS8357A		1 100 1 2	10 10 10	10.00 1000.00 10.00 20.00
882 883 884	Individual Individual Individual Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL BI SAN RAM GOPA JAS	UMAR PANDA (UMAR MAJHI BAJINATH TELI NDEEP . AL KUSHAWAHA	Equity Equity Equity Equity Equity	each Equity share of Rs. 10 each	1203320083723221 1203320084814496 1203320085043458 1203320085043987 1203320085068728 1203320087992490	India India India India India	Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOPT2636F GVLPSB357A CMGPK6800A		1 100 1 2 10	10 10 10 10	10.00 1000.00 10.00 20.00
882 883 884 885	Individual Individual Individual Individual Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL BI SAY RAM GOPA JAS ABU HANZALA	UMAR PANDA KUMAR MAJHI BAUNATH TELI NDEEP . AL KUSHAWAHA	Equity Equity Equity Equity Equity Equity Equity	each Equity share of Rs. 10	1203320083723221 1203320084814496 1203320085043458 1203320085043987 1203320085068728 1203320087992490	India India India India India India India	Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOP12636F GVLP58357A CMGPK6800A CBFP11344C		1 100 1 2 10 4	10 10 10 10 10	10.00 1000.00 10.00 20.00 100.00
882 883 884 885 886	Individual Individual Individual Individual Individual Individual Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL BI SAY RAM GOPA JAS ABU HANZALA VI	UMAR PANDA KUMAR MAJHI BAUNATH TELI NDEEP. AL KUSHAWAHA SHMER. A ABDUL ALI ANSARI	Equity Equity Equity Equity Equity Equity Equity Equity Equity	each Equity share of Rs. 10	1203320083723221 1203320084814496 1203320085043458 1203320085043967 1203320085069728 1203320087992490 1203320089858763	India India India India India India India India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4889A AIOP12839F GVLPS8357A CMGPK6800A CBFP1344C DUSPA0468L		1 100 1 1 2 10 4 1 1	10 10 10 10 10 10	10.00 1000.00 10.00 20.00 100.00 40.00
882 883 884 885 886 887	Individual Individual Individual Individual Individual Individual Individual Individual Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL BI SAY RAM GOPA JAS ABU HANZALA VI ARADI	LIMAR PANDA LUMAR MAIH SAJINATH TELI NDEEP. LE KUSHAWAHA SHMER. R ABDUL ALI ANSARI TULIAYM HANA NAIK	Equity	each Equity share of Rs. 10 each	1203320083723221 1203320084814496 1203320085043458 1203320085043367 1203320085068728 1203320085992490 1203320085955763 120332008955763 12033200893543513	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4889A AIOP12636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0466L AJPV9454A ALXPN3383K		1 100 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00
882 883 884 885 886 887 888 889	Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL BI SAY RAM GOPA JAS ABU HANZALA VI ARADI	UMAR PANDA KUMAR MAIHI SAJINATH TELI NDEEP. LI KUSHAWAHA SHMER. A ABDULALI ANSARI TUILY M HANA NAIK KU SNEHA	Equity	each each each each each each each each	1203320083723221 1203320084814498 1203320085043458 1203320085043967 120332008504697 1203320085069728 120332008592528 120332008352528 12033200836555327	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOP12636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV9454A ALXPN3383K KTEPS5325F		1 100 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00
882 883 884 885 886 887 888 889	Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL B SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN	UMAR PANDA KUMAR MAJHI SAJINATH TELI NDEEP. AL KUSHAWAHA SHMER. A ABBUL ALI ANSARI TUAY M HANA NAJIK KU SNEHA	Equity	each each equity share of Rs. 10 each	1203320083723221 1203320084814496 1203320085043458 120332008504367 1203320085048967 1203320085068728 1203320085982528 120332008585783 1203320089585783 12033200895253207 12033200895253207	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOP12636F GVLP88357A CMGPK8800A CBFP1344G DUSPA0469L AJPV9454A ALXPN3383K KTEPS5325F BHTPG2062D		1 100 100 1 1 2 100 100 100 100 100 100	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00 2990.00
882 883 884 885 886 887 888 889	Individual	Other than promoter	AJAYA KI SANJIT K SUSHIL B SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN	UMAR PANDA KUMAR MAIHI SAJINATH TELI NDEEP. LI KUSHAWAHA SHMER. A ABDULALI ANSARI TUILY M HANA NAIK KU SNEHA	Equity	each each e	1203320083723221 1203320084814496 1203320085043458 120332008504367 1203320085048967 1203320085068728 1203320085982528 120332008585783 1203320089585783 12033200895253207 12033200895253207	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOP12636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV9454A ALXPN3383K KTEPS5325F		1 100 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00
882 883 884 885 886 887 888 889	Individual	Other than promoter	AJAYA KI SANIIT K SUSHIL B SAH RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA	UMAR PANDA KUMAR MAJHI SAJINATH TELI NDEEP. AL KUSHAWAHA SHMER. A ABBUL ALI ANSARI TUAY M HANA NAJIK KU SNEHA	Equity	each	1203320083723221 1203320084814496 1203320085043458 120332008504367 1203320085048967 1203320085068728 1203320085982528 120332008585783 1203320089585783 12033200895253207 12033200895253207	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4869A AIOP12636F GVLP88357A CMGPK8800A CBFP1344G DUSPA0469L AJPV9454A ALXPN3383K KTEPS5325F BHTPG2062D		1 100 100 1 1 2 100 100 100 100 100 100	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00 2990.00
882 883 884 885 886 887 888 889 890	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHIL B SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHAA FRATHAM GB	LUMAR PANDA KUMAR MAJHI SAJUNATH TELI NOGEP. LI KUSHAWAHA SHMER. A ABDUL ALI ANSARI TUAY M HANA NAIK KU SNEHA SISEH GARU GANPAT WAGLE	Equity	each Equity share of Rs. 10	1203320083773821 1203320084814496 1203320085043458 1203320085043467 1203320085046728 1203320085068728 1203320085968728 1203320085858783 120332009545313 1203320095253207 1203320096523759 1203320096877868	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4889A AIOP12636F GVLP58357A CMGPK8800A CBF91344C DUSPA0489L AIPV9454A ALXPN3383K KTEPS5325F BHTP02062D AAKPW4488A		1 100 100 1 1 2 100 100 100 100 100 100	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00 2990.00
882 883 884 885 886 887 888 889 890 891 892	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHIL B SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM M BHAMRE SURESH	LUMAR PANDA KUMAR MAJHI SAJUNATH TELI NOEEP. LI KUSHAWAHA SHMER. ARBDUL ALI ANSARI TUAY M HANA NAJIK KU SNEHA ASSISH GARJU GANPAT WAGLE BIHAJI MADHUKARBHAJ	Equity	each each each each each each each each	1203320083773821 1203320084814496 1203320085043458 1203320085043467 1203320085046728 1203320085068728 1203320085968728 1203320085858783 120332009545313 1203320095253207 1203320096523759 1203320096877868	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4889A AIOP12636F GVLP88357A CMGPK8800A CBF91344C DUSPA0486L AIPV9454A ALXPN3383K KTEP55325F BHTP02062D AAKPW4486A CNKP824038		1 100 100 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 260.00 20.00 10.00 10.00 10.00 10.00
882 883 884 885 886 887 888 889 890 891 892 893	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHILB SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM BHAMRE SURESH TASLEL BASIREDDY VISH	LUMAR PANDA KUMAR MAJHI SAJINATH TELI NOEEP. LI KUSHAWAHA SHMER. ARBOUL ALI ANSARI TUAY M HANA NAIK KU SNEHA SISSH GARIU GANPAT WAGLE BIHAI MAHAUKARBHAI EM AHMADA NU VARDHANA REDDY	Equity	each each each each each each each each	1203320083723221 1203320084814496 1203320085043458 1203320085043458 1203320085048728 1203320085068728 1203320085982490 1203320089352528 1203320089352528 12033200993543513 1203320095253207 1203320096927368 12033200969717014 1203320097317191	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4860A AIOP12636F GVLP58357A CMGPK8800A CBFP1344C DUSPA0460L AIPV9454A ALVPN3383K KTEP55325F BHTP02082D AAKPV4486A CNKP82403B AWYPA1390D AGNPV7125Q		1 100 100 1 1 1 1 1 35 1 1 1 1 1 1 35 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 360.00 2990.00 1000.00 10.00 10.00 350.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHILB SANIIT KI SUSHILB SANIIT KI FINAM GOPA HAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM G BHAMRE SURESH TASLEI BASIREDDY VISH VINE	LUMAR PANDA KUMAR MAJHI SAJINATH TELI NOEEP. LI KUSHAWAHA SHHER. ARBOULALI ANSARI TUAYM HANA NAIK KU SNEHA SSISH GARIU GANPAT WAGLE BIHAI MAHUKARBHAI EM AHMAD NU VARDHANA REDDY	Equity	each each each each each each each each	1203320083723221 1203320084814496 1203320085043458 1203320085043367 1203320085068728 1203320085068728 120332008932528 120332008932528 120332009893543513 1203320099525327 1203320099717014 1203320099717014 1203320099717014	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4860A AIOP12636F GVLP58357A CMGPK8800A CBFP1344C DUSPA0466L AIPV9454A ALXPN3383K KTEP53326F BHTP02062D AAKPV4486A CNKPB2403B AWYP41390D AGNPV7125Q DYSPP1422C		1 100 100 1 1 1 2 2 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 100.00 20.00 100.00 40.00 10.00 250.00 260.00 20.00 1000.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
882 883 884 885 886 887 888 889 890 891 892 893	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHILB SANIIT KI SUSHILB SANIIT KI FINAM GOPA HAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM G BHAMRE SURESH TASLEI BASIREDDY VISH VINE	LUMAR PANDA KUMAR MAJHI SAJINATH TELI NOEEP. LI KUSHAWAHA SHMER. ARBOUL ALI ANSARI TUAY M HANA NAIK KU SNEHA SISSH GARIU GANPAT WAGLE BIHAI MAHAUKARBHAI EM AHMADA NU VARDHANA REDDY	Equity	each Equity share of Rs. 10	1203320083723221 1203320084814496 1203320085043458 1203320085043367 1203320085068728 1203320085068728 120332008932528 120332008932528 120332009893543513 1203320099525327 1203320099717014 1203320099717014 1203320099717014	India	Male Male Male Male Male Male Male Male	Income Tax PAN	BWZPP5425Q APUPM4860A AIOP12636F GVLP58357A CMGPK8800A CBFP1344C DUSPA0460L AIPV9454A ALVPN3383K KTEP55325F BHTP02082D AAKPV4486A CNKP82403B AWYPA1390D AGNPV7125Q		1 100 100 1 1 1 1 1 35 1 1 1 1 1 1 35 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 10.00 20.00 100.00 40.00 10.00 250.00 360.00 2990.00 1000.00 10.00 10.00 350.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895	Individual	Other than promoter	AJAYA KI SANIIT KI SUSHILB SANIIT KI SUSHILB SAN RAM GOPA RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM C BHAMRE SURESH TASLEI BASIREDDY VISH VINNE ABHISHEK	LUMAR PANDA KUMAR MAJHI SAJINATH TELI NOEEP. LI KUSHAWAHA SHHER. ARBOULALI ANSARI TUAYM HANA NAIK KU SNEHA SSISH GARIU GANPAT WAGLE BIHAI MAHUKARBHAI EM AHMAD NU VARDHANA REDDY	Equity	each	1203320083723221 1203320084814496 1203320085043458 1203320085043367 1203320085068728 1203320085068728 120332008932528 120332008932528 120332009893543513 1203320099525327 1203320099717014 1203320099717014 1203320099717014	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4860A AIOP12636F GVLP58357A CMGPK8800A CBFP1344C DUSPA0466L AIPV9454A ALXPN3383K KTEP53326F BHTP02062D AAKPV4486A CNKPB2403B AWYP41390D AGNPV7125Q DYSPP1422C		1 100 100 1 1 1 2 2 1 1 1 1 1 1 1 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 100.00 20.00 100.00 40.00 10.00 250.00 260.00 20.00 1000.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896	Individual	Other than promoter	AJAYA KI SANIIT KI SANIIT KI SUSHILB SAA RAM GOPA RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBHA PRATHAM G BHAMRE SURESH TASLEI BASIREDOV VISH VINE ABHISHEK PREM	LUMAR PANDA KUMAR MAJHI SAJINATH TELI NDEEP, LI KUSHAWAHA SHHER, ARBOUL ALI ANSARI UAYM HANA NAIK KU SNEHA SSISH GARU GANPAT WAGLE BIHAI MADLE BIHAI MADLE BIHAI MADLE EM AHMAD NU VARDHANA REDDY ET PATEL KUMAR GUPTA	Equity	each each each each each each each each	1203320083723221 1203320084814496 1203320085043458 1203320085043458 1203320085043987 1203320085045387 1203320085095728 1203320089325228 1203320093543513 1203320093543513 1203320096973789 12033200967117014 1203320097317191 1203320106350369 1203320106350369 120332010649018	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOP12636F GVLP58357A CMGPK8800A CBFP1344C DUSPA0468L AIPV9454A ALXPN3383K KTEP53325F BHTPG2062D AAKPV4486A CNKPB2403B AWYP1390D AGNPV7125Q DYSPP1422C BSNPG6449M		1 100 100 1 1 1 25 36 299 2 100 1 1 1 35 1 1 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 100.00 20.00 100.00 40.00 10.00 256.00 2690.00 1000.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897	Individual	Other than promoter	AJAYA KI SANJIT KI SUSHIL BI SUSHIL BI SAN RAM GOPA JAS ABU HANZALA VI ARADI SUNN SUBNA FRATHAM C BHAMRE SURESH TASLE BASHREDDY VISH VINE ABHISHEK PREM	LUMAR PANDA KUMAR MAHI BALINATH TELJ NDEEP . NDEEP . KL KUSHAWAHA SHMER . R ABDUL ALI ANSARI TILIAY M HANA NAIK KU SNEHA SISH GARU GANPAT WAGLE BHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY KET PATEL KUMAR GUPTA SHANKAR	Equity	each each equily share of Rs. 10 each equily share of Rs. 10 equily	1203320083723221 1203320084814496 1203320085043458 1203320085043458 1203320085043987 1203320085045387 1203320085095728 1203320085095789 1203320093543513 1203320093543513 1203320096523759 12033200967317191 1203320097317191 1203320106350369 1203320106350369 120332010678050	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV9454A ALXPW3383K KTEP55325F BHTP02062D AAKPW4486A CNKF92403B AWYPA1390D AGNV7125Q DYSPP1422C BSNPG6449M RHKP31011N HHQPK5882N		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 1 5	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 100.00 250.00 20.00 1000.00 1000.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899	Individual	Other than promoter	AJAYA KI SANJIT KI SANJIT KI SUSHIL BI SASA RAM GOPA JAS ABU HANZALA VI ARADA SUNN SUBNA FRATHAM C BHAMRE SURESH TASLE BASHREDDY VISH VINE ABHISHEK PREM KALE ALDU	LUMAR PANDA CUMAR MAIH BALINATH TELJ NDEEP. NDEEP. LI KUSHAWAHA SHMER. R ABDUL ALI ANSARI TILIAY M HANA NAIK KU SNEHA SISH GARU GANPAT WAGLE BHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MBAR NARAYAN	Equity	each each each equily share of Rs. 10 each equily share of Rs. 10 each each each each each each each each	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043458 1203320085045367 1203320085045367 1203320085058728 1203320089325228 1203320093543513 1203320096523267 12033200967317191 12033200967317191 1203320106350369 1203320106779029 1203320107780590 1203320111542882	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV9454A ALXPN3383K KTEP55325F BHTP02062D AAKPW4486A CNKF92403B AWYPA1390D AGNV7125Q DYSPP1422C BSNPG6449M RHKP31011N HHQPK9882N BQCP/5010J		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 1 5 30	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 100.00 250.00 20.00 1000.00 1000.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899 900	Individual	Other than promoter	AJAYA KI SANJIT KI SANJIT KI SUSHIL BI SAN SAN RAM GOPA JAS ABU HANZALA VI ARADA SURMA SUBMA PRATHAM C BHAMRE SURESH TASLE BASHREDDY VISH VINE ABHISHEK PREM KALE ALDU PAN	LUMAR PANDA CUMAR MAIH BALINATH TELJ NDEEP. NDEEP. LI KUSHAWAHA SHMER. R ABDUL ALI ANSARI TIJAY M HANA NAIK KU SNEHA SISH GARU GANPAT WAGLE BHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MMAR NARAYAN MKAJ JAN KKAJ JAN KKAJ JAN	Equity	each each each equity share of Rs. 10 each equity share of Rs. 10 each each each each each each each each	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043458 1203320085045367 1203320085045367 1203320085085788 1203320089325228 1203320093543513 1203320096523267 1203320096523759 12033200967317191 12033200967317191 1203320106350369 120332010778059 120332010778059 1203320111545656	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV8454A ALXPN3383K KTEP55325F BHTP02062D AAKPW4486A CNKF82403B AWYPA1390D AGNV7125Q DYSPP1422C BSNPG6449M RHKP31011N HHQPR5882N BQCP55101 CNMP34978A		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 1 5 30 5	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 100.00 250.00 20.00 1000.00 1000.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899	Individual	Other than promoter	AJAYA KI SANJIT KI SANJIT KI SUSHIL BI SAN SAN RAM GOPA JAS ABU HANZALA VI ARADA SURMA SUBMA PRATHAM C BHAMRE SURESH TASLE BASHREDDY VISH VINE ABHISHEK PREM KALE ALDU PAN	LUMAR PANDA CUMAR MAIH BALINATH TELJ NDEEP. NDEEP. LI KUSHAWAHA SHMER. R ABDUL ALI ANSARI TILIAY M HANA NAIK KU SNEHA SISH GARU GANPAT WAGLE BHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MBAR NARAYAN	Equity	each each e	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043458 1203320085045367 1203320085045367 1203320085085788 1203320089325228 1203320093543513 1203320096523267 1203320096523759 12033200967317191 12033200967317191 1203320106350369 120332010778059 120332010778059 1203320111545656	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV9454A ALXPN3383K KTEP55325F BHTP02062D AAKPW4486A CNKF92403B AWYPA1390D AGNV7125Q DYSPP1422C BSNPG6449M RHKP31011N HHQPK9882N BQCP/5010J		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 1 5 30	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 100.00 250.00 20.00 1000.00 1000.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899 900	Individual	Other than promoter	AJAYA KI SANJIT KI SUSHIL BI SUSHIL BI SAA RAM GOPA JAS ABU MANZALA VI ARADI ARADI SUNN SUBHA FRATHAM C BHAMRE SURESH TASLE BASIREDOV VISH VINE ABHISHEK PREM KALE ALDU PAN	LUMAR PANDA CUMAR MAIH BALINATH TELJ NDEEP. NDEEP. LI KUSHAWAHA SHMER. R ABDUL ALI ANSARI TIJAY M HANA NAIK KU SNEHA SISH GARU GANPAT WAGLE BHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MMAR NARAYAN MKAJ JAN KKAJ JAN KKAJ JAN	Equity	each each e	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043458 1203320085045367 1203320085045367 1203320085085788 1203320089325228 1203320093543513 1203320096523267 1203320096523759 12033200967317191 12033200967317191 1203320106350369 120332010778059 120332010778059 1203320111545656	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0468L AIPV8454A ALXPN3383K KTEP55325F BHTP02062D AAKPW4486A CNKF82403B AWYPA1390D AGNV7125Q DYSPP1422C BSNPG6449M RHKP31011N HHQPR5882N BQCP55101 CNMP34978A		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 1 5 30 5	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 100.00 250.00 20.00 1000.00 1000.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899 900 901	Individual	Other than promoter	AJAYA KI ANAIT KI SUSHIL BI SUSHIL BI SAA RAM GOPA JAS ABU MANZALA VI ARADAI SUNN SUBHA PRATHAM C BHAMRE SURESH VINE BASIREDOV VISH VINE ABHISHEK PREM KALE ALDU PAN JII MEH	LUMAR PANDA KUMAR MAIH BALINATH TELJ NDEEP. NDEEP. KL KUSHAWAHA SHMER. KA ABDUL ALI ANSARI TILIAY M HANNA NAIK KU SNEHA SISSH GARU GANPAT WAGLE BEHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MEBAR NARAYAN KKU JAIN KKU JAIN KU SHANKAR	Equity	each each e	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043458 1203320085045367 1203320085045367 1203320085058728 1203320085958763 1203320085958763 1203320095253267 1203320095253267 1203320096523759 12033200967317191 1203320097317191 1203320106350369 1203320107780590 1203320111542682 1203320111542682 1203320115468988	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK6800A CBFP11344C DUSPA0466L AIPV9454A ALXPN3383K KTEP55325F BHTP02002D AAKPW4486A CNKP92403B AWYPA1390D AGNIV7125Q DVSPP1422C BSNPG6440M KHKP51011N HHQPK9882N BCCP560101 CNMP4979A FTDP40587H		1 100 11 2 10 4 11 25 36 299 2 100 1 1 1 5 35 1 1 9	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 110.00 250.00 260.00 1000.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00 110.00
882 883 884 885 886 887 888 889 890 891 892 893 894 895 896 897 898 899 900 901 902	Individual	Other than promoter	AJAYA KI ANATA KI SANIT KI SUSHIL BI SUSHIL BI SAA RAM GOPA JAS ABU MANZALA VI ARADA SUNN SUBHA PRATHAM PRATHAM BHAMRE SURESH VINE ABHISHEK PREM KALE ALDU PAN JII MEH MD SAR BHOOPENDRA	LUMAR PANDA KUMAR MAIH BALINATH TELJ NDEEP. NEEP. KLEUSHAWAHA SHMER. KA ABDUL ALI ANSARI HANA NAIK KU SNEHA SISHA GARU GANPAT WAGLE BEHAI MADHUKARBHAI EM AHMAD NU VARDHANA REDDY LET PATEL KUMAR GUPTA SHANKAR MEBAR NARAYAN KKAJ JAIN KKAJ JAIN TESH . HENDRA.	Equity	each each each each each each each each	1203320083723221 1203320084814496 1203320084814496 1203320085043458 1203320085043987 1203320085068728 1203320085068728 1203320089325228 1203320089325228 12033200985252267 1203320096523759 1203320096523759 12033200967177014 1203320097177014 1203320097177014 1203320106350369 12033201150505069 12033201150505069 1203320115050506	India	Mate Mate Mate Mate Mate Mate Mate Mate	Income Tax PAN	BWZPP5425Q APUPM4868A AIOPT2636F GVLP58357A CMGPK8800A CBFP11344C DUSPA0466L AIFV9454A ALXPN3353K KTEP55325F BHTP02062D AAKPW4486A CNKP92403B AWYPA1390D AGNPV7125Q DYSPP1422C BSNPG6449M KHKP51011N HHQPK8882N BQCP50101 CNMP4879A FTDPM0587H EFLPA9637F		1 100 1 1 2 10 4 1 1 25 36 299 2 100 1 1 1 5 35 1 1 1 5 30 5	10 10 10 10 10 10 10 10 10 10 10 10 10 1	10.00 1000.00 110.00 20.00 110.00 40.00 110.00 250.00 260.00 110.00

							,						
905	Individual	Other than promoter	BHARAT CHOUDHARY	Equity	Equity share of Rs. 10 each	1203320128283449	India	Male	Income Tax PAN	BRXPC8891E	50	10	500.00
906	Individual	Other than promoter	MITHUN MOHANBHAI KUNDHNANI	Equity	Equity share of Rs. 10 each	1203320128854345	India	Male	Income Tax PAN	CCIPK0637B	67	10	670.00
907	Individual	Other than promoter	SHASHANK SHARMA	Equity	Equity share of Rs. 10 each	1203320130375541	India	Male	Income Tax PAN	BSVPS3385J	4	10	40.00
908	Individual	Other than promoter	NEERAJ .	Equity	Equity share of Rs. 10	1203320135454937	India	Male	Income Tax PAN	CHEPN2804E	10	10	100.00
909	Individual	Other than promoter	IMRAN ANSARI	Equity	each Equity share of Rs. 10	1203320135819509	India	Male	Income Tax PAN	CJVPA1343Q	1	10	10.00
910	Individual	Other than promoter	SHANATAN BHUE	Equity	each Equity share of Rs. 10	1203320136227241	India	Male	Income Tax PAN	CDNPB4463J	10	10	100.00
911	Individual	Other than promoter	ARVIND KUMAR	Equity	each Equity share of Rs. 10	1203320140968549	India	Male	Income Tax PAN	JLXPK693BQ	5	10	50.00
912	Individual		SUKHDEVSINGH		each	1203320147809534		Male	Income Tax PAN	AVSPS4266K		10	200.00
		Other than promoter		Equity	Equity share of Rs. 10 each		India				20		
913	Individual	Other than promoter	SANKLA AAKASH	Equity	Equity share of Rs. 10 each	1203320150919512	India	Female	Income Tax PAN	EOEPA4214Q	1	10	10.00
914	Individual	Other than promoter	CHITANAND KUMAR	Equity	Equity share of Rs. 10 each	1203320151147065	India	Male	Income Tax PAN	AMOPK2167Q	1	10	10.00
915	Individual	Other than promoter	SANJAY MANE	Equity	Equity share of Rs. 10 each	1203320157868521	India	Male	Income Tax PAN	BAQPM5164E	2	10	20.00
916	Individual	Other than promoter	KOKILABEN KANAIYALAL THAKAR	Equity	Equity share of Rs. 10 each	1203320159922805	India	Female	Income Tax PAN	AIAPT7520J	1	10	10.00
917	Individual	Other than promoter	SURBHI TANEJA	Equity	Equity share of Rs. 10	1203320180354396	India	Female	Income Tax PAN	BBGPT1638B	80	10	800.00
918	Individual	Other than promoter	MANA RAM	Equity	each Equity share of Rs. 10	1203320185464664	India	Male	Income Tax PAN	CIQPR3181M	49	10	490.00
919	Individual	Other than promoter	SACHIN KASHINATH JARAS	Equity	each Equity share of Rs. 10	1203320186035552	India	Male	Income Tax PAN	AXXPJ8392G	20	10	200.00
920	Individual	Other than promoter	GHANSHYAM HUBLAL KASHIKAR	Equity	each Equity share of Rs. 10	1203320197648753	India	Male	Income Tax PAN	BJCPK6955Q	67	10	670.00
	Individual		VIKAS KUMAR		each	1203320199312072	India	Male	Income Tax PAN	BVPPK3684M	10	10	100.00
921		Other than promoter		Equity	Equity share of Rs. 10 each								
922	Individual	Other than promoter	 NEELESH KUMAR	Equity	Equity share of Rs. 10 each	1203320205674453	India	Male	Income Tax PAN	KZHPK0015F	1	10	10.00
923	Individual	Other than promoter	 MAHENDRAKUMAR NARSINHBHAI PATEL	Equity	Equity share of Rs. 10 each	1203320236408140	India	Male	Income Tax PAN	ANHPP5151D	252	10	2520.00
924	Individual	Other than promoter	ANIL VERMA	Equity	Equity share of Rs. 10 each	1203320236625622	India	Male	Income Tax PAN	AFIPV4451R	1	10	10.00
925	Individual	Other than promoter	MOHD FAHEEM	Equity	Equity share of Rs. 10	1203320242500859	India	Male	Income Tax PAN	AFRPF3554N	120	10	1200.00
926	Individual	Other than promoter	ANJNA TIWARI	Equity	each Equity share of Rs. 10	1203320243554497	India	Female	Income Tax PAN	BQJPT0417L	25	10	250.00
927	Individual	Other than promoter	KALYANA RAO CHIRIKOTI	Equity	each Equity share of Rs. 10	1203320249565189	India	Female	Income Tax PAN	AHLPC5558M	36	10	360.00
928	Individual	Other than promoter	BRAJESH NAMA	Equity	each Equity share of Rs. 10	1203320252002149	India	Male	Income Tax PAN	CTBPN3547F	90	10	900.00
929	Individual	Other than promoter	PRABHAT KUMAR YADAV	Equity	each Equity share of Rs. 10	1203320256258255	India	Male	Income Tax PAN	AIBPY9919K	10	10	100.00
		·			each								
930	Individual	Other than promoter	KETAN PRANJEEVAN SHINGALA	Equity	Equity share of Rs. 10 each	1203320258954000	India	Male	Income Tax PAN	BUWPS0647A	50	10	500.00
931	Individual	Other than promoter	AKASH SINGH	Equity	Equity share of Rs. 10 each	1203320269276172	India	Male	Income Tax PAN	KPFPS5101L	3	10	30.00
932	Individual	Other than promoter	USHA USHA	Equity	Equity share of Rs. 10 each	1203320269711334	India	Female	Income Tax PAN	AHAPU5486B	1	10	10.00
933	Individual	Other than promoter	DEVARAJ SHIVANNA KAINADU	Equity	Equity share of Rs. 10 each	1203320270123521	India	Male	Income Tax PAN	DNHPK1674P	40	10	400.00
934	Individual	Other than promoter	YOGESWARA RAO MAGUPALLI	Equity	Equity share of Rs. 10	1203320270222299	India	Male	Income Tax PAN	CYAPM0044A	10	10	100.00
935	Individual	Other than promoter	UDAY ARUN MALI	Equity	each Equity share of Rs. 10	1203320285777725	India	Male	Income Tax PAN	HPXPM1311B	2	10	20.00
936	Individual	Other than promoter	HEMANT YUVRAJ BHANDARKAR	Equity	each Equity share of Rs. 10	1203320288011722	India	Male	Income Tax PAN	AZNPB8939P	2	10	20.00
937	Individual	Other than promoter	AMIT KUMAR	Equity	each Equity share of Rs. 10	1203320291882695	India	Male	Income Tax PAN	BWBPK7551A	4	10	40.00
			BHARTI HADA		each	1203320300783943				ABTPH2101F	47	10	470.00
938	Individual	Other than promoter		Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	· ·		·	
939	Individual	Other than promoter	SUSHIL KUMAR TARAI	Equity	Equity share of Rs. 10 each	1203320302972273	India	Male	Income Tax PAN	BTLPT9543A	100	10	1000.00
940	Individual	Other than promoter	MONAL GOYAL	Equity	Equity share of Rs. 10 each	1203320305694605	India	Male	Income Tax PAN	CHIPG9893A	5	10	50.00
941	Individual	Other than promoter	SAYYED KHADEER SAYYEDZAMEER	Equity	Equity share of Rs. 10 each	1203320311437302	India	Male	Income Tax PAN	IZGPS2740A	170	10	1700.00
942	Individual	Other than promoter	SHAJIN KUMAR H	Equity	Equity share of Rs. 10	1203320326809365	India	Male	Income Tax PAN	ANOPH7903E	275	10	2750.00
943	Individual	Other than promoter	VISHNU KUMAR	Equity	each Equity share of Rs. 10	1203320327327402	India	Male	Income Tax PAN	DCRPK4175E	201	10	2010.00
944	Individual	Other than promoter	SANDEEP SHIVRAMJI TEMBHARE	Equity	each Equity share of Rs. 10	1203320363124447	India	Male	Income Tax PAN	BJQPT0827C	1	10	10.00
945	Individual	Other than promoter	ANDANAGOUDA CHANNAPPA GOUDAR	Equity	each Equity share of Rs. 10	1203320371037611	India	Male	Income Tax PAN	AKFPC0949K	2	10	20.00
946	Individual	Other than promoter	MAYABAI DILIP MESHRAM	Equity	each Equity share of Rs. 10	1203320375295598	India	Male	Income Tax PAN	HNSPM8944R	4	10	40.00
		·			each								
947	Individual	Other than promoter	PANKAJ PANWAR	Equity	Equity share of Rs. 10 each	1203320376892680	India	Male	Income Tax PAN	DEJPP1655C	12	10	120.00
948	Individual	Other than promoter	SATISH KUMAR MEHRA	Equity	Equity share of Rs. 10 each	1203350001398977	India	Male	Income Tax PAN	AASPM9564D	50	10	500.00
949	Individual	Other than promoter	RAJIV MAHESHWARI	Equity	Equity share of Rs. 10 each	1203350001406079	India	Male	Income Tax PAN	AAAPM1959Q	5	10	50.00
950	Individual	Other than promoter	PAVITRA PRANAV PATIL	Equity	Equity share of Rs. 10	1203350003195139	India	Female	Income Tax PAN	HPMPP8372E	1	10	10.00
951	Individual	Other than promoter	ANITA DILIP OSWAL	Equity	each Equity share of Rs. 10	120353000001638	India	Female	Income Tax PAN	ABNPJ2752J	21	10	210.00
952	Individual	Other than promoter	JIGARBHAI HASMUKHBHAI NAROLA	Equity	each Equity share of Rs. 10	1203550000017021	India	Male	Income Tax PAN	AMKPN2201Q	300	10	3000.00
953	Individual	Other than promoter	SURENDRA KUMAR TANGRI	Equity	each Equity share of Rs. 10	1203600003427271	India	Male	Income Tax PAN	AFJPT6873N	1	10	10.00
954	Individual	Other than promoter	TEYNAMPET SHANMUGANATHAN	Equity	each Equity share of Rs. 10	1203600010358255	India	Male	Income Tax PAN	ABRPH8593B	10	10	100.00
		·	HARIHARAN		each								
955	Individual	Other than promoter	K KALAPANA	Equity	Equity share of Rs. 10 each	1203690000077534	India	Male	Income Tax PAN	ATOPK2722L	300	10	3000.00
956	Individual	Other than promoter	 HARISH CHHABRA	Equity	Equity share of Rs. 10 each	1203840000815444	India	Male	Income Tax PAN	AFIPC0533M	27100	10	271000.00
957	Individual	Other than promoter	KOTESWARA PRASAD DIVVELA	Equity	Equity share of Rs. 10 each	1203840001683312	India	Male	Income Tax PAN	AMXPD8503A	1	10	10.00
958	Individual	Other than promoter	AJAY SHARMA	Equity	Equity share of Rs. 10 each	1203840001780593	India	Male	Income Tax PAN	ARTPS8616E	9300	10	93000.00
959	Individual	Other than promoter	MANOJ KUMAR	Equity	Equity share of Rs. 10	1203840001858931	India	Male	Income Tax PAN	AUPPK8202M	28900	10	289000.00
960	Individual	Other than promoter	KRISHAN KUMAR	Equity	each Equity share of Rs. 10	1203840001864158	India	Male	Income Tax PAN	AVOPK8996J	26100	10	261000.00
1					each								i

1015	Individual	Other than promoter										
		Other than promoter	SUKETU NARESHKUMAR SHAH	each Equity Equity share of Rs. 10	1206920000044871	India	Male	Income Tax PAN	BFJPS7035G	100	10	1000.00
1014	Individual	Other than promoter	SAGAR NARESHKUMAR SHAH	each Equity Equity share of Rs. 10	1206920000036592	India	Male	Income Tax PAN	CDXPS0253D	100	10	1000.00
1013	Individual	Other than promoter	KOUMUDI NARESHKUMAR SHAH	each Equity Equity share of Rs. 10	1206920000003786	India	Male	Income Tax PAN	BFJPS7032B	100	10	1000.00
1012	Individual	Other than promoter	CHANDER SHEKHAR	each Equity Equity share of Rs. 10	1206690008056279	India	Male	Income Tax PAN	BPEPS6778B	5	10	50.00
1011	Individual	Other than promoter	SANTOSH BHUTANI	each Equity Equity share of Rs. 10	1206690007954882	India	Male	Income Tax PAN	AALPB1813D	1	10	10.00
1010	Individual	Other than promoter	SHRIPAL SINGH MOHNOT	each Equity Equity share of Rs. 10	1206690006375456	India	Male	Income Tax PAN	ADHPM8617M	3	10	30.00
1009	Individual	Other than promoter	SEEMA SUKHANI.	each Equity Equity share of Rs. 10	1206640000017582	India	Female	Income Tax PAN	APIPS1731D	150	10	1500.00
1007	Individual	Other than promoter	DIVESH GOYAL	each Equity Equity share of Rs. 10	1208420002042414	India	Male	Income Tax PAN	BDUPG5108H	23500	10	235000.00
1006	Individual	Other than promoter Other than promoter	RENU LATA SAXENA	each Equity Equity share of Rs. 10	1206120000233388	India	Female	Income Tax PAN	BFHPS9967M	72	10	720.00
1005	Individual	Other than promoter Other than promoter	VINAY RUNGTA	each Equity Equity share of Rs. 10	1205910000554592	India	Male	Income Tax PAN	AFVPR8110G	1	10	10.00
1004	Individual	Other than promoter Other than promoter	CHANDER MOHAN KOHLI TARIQ ALI KHAN	Equity Equity snare of Rs. 10 each Equity Equity share of Rs. 10	1205820000094385	India	Male	Income Tax PAN	AMJPK2017J	2	10	20.00
1003	Individual	Other than promoter Other than promoter	VALENTINE SANTIAGO FERNANDO CHANDER MOHAN KOHLI	Equity Equity share of Rs. 10 each Equity Equity share of Rs. 10	1205790000005250	India	Male Male	Income Tax PAN	AAGPF1780J BEAPK8445J	2	10	20.00
1002	Individual	Other than promoter	PARDEEP KUMAR MEHTA	Equity Equity share of Rs. 10 each	1205170000025297	India	Male	Income Tax PAN	ABOPM2545B AAGPF1780J	1000	10	20.00
1001	Individual	Other than promoter	CHETAN LAXMICHAND SHAH	Equity Equity share of Rs. 10 each	1205150000029084	India	Male	Income Tax PAN	AAFPS7001N	300	10	3000.00
1000	Individual	Other than promoter	SANTOSH BEHERA .	Equity Equity share of Rs. 10 each	1204720043037741	India	Male	Income Tax PAN	BLRPB4600G	1	10	10.00
999	Individual	Other than promoter	SHASHANK KUMAR.	Equity Equity share of Rs. 10 each	1204720041131336	India	Male	Income Tax PAN	BSGPK4428P	200	10	2000.00
998	Individual	Other than promoter	SHARANU.	Equity Equity share of Rs. 10 each	1204720024959979	India	Male	Income Tax PAN	FNEPS0402N	5	10	50.00
997	Individual	Other than promoter	LAXMI KANT RAJWAR	Equity Equity share of Rs. 10 each	1204720023910730	India	Female	Income Tax PAN	ARUPR5057P	1	10	10.00
996	Individual	Other than promoter	VIJAY KUMAR YADAV	Equity Equity share of Rs. 10 each	1204720023051372	India	Male	Income Tax PAN	ACAPY8525G	1	10	10.00
995	Individual	Other than promoter	PRAMILA KUMARI	Equity Equity share of Rs. 10 each	1204720022891012	India	Female	Income Tax PAN	BIFPK0543L	8	10	80.00
994	Individual	Other than promoter	DHARMENDRA DUBEY	Equity Equity share of Rs. 10 each	1204720017454610	India	Male	Income Tax PAN	BTLPD3260L	10	10	100.00
993	Individual	Other than promoter	SAFANATH P P	Equity Equity share of Rs. 10 each	1204720016717742	India	Male	Income Tax PAN	LEPPS4878J	20	10	200.00
992	Individual	Other than promoter	SWARUPSINGH	Equity Equity share of Rs. 10 each	1204720015465406	India	Male	Income Tax PAN	AWOPS0721N	10	10	100.00
991	Individual	Other than promoter	NIRAV DESAI	Equity Equity share of Rs. 10 each	1204720005361085	India	Male	Income Tax PAN	ALHPD7450M	37	10	370.00
990	Individual	Other than promoter	SANJAYKUMAR	Equity Equity share of Rs. 10 each	1204720005272664	India	Male	Income Tax PAN	AVKPK9238K	30	10	300.00
989	Individual	Other than promoter	JAI PRAKASH	Equity Equity share of Rs. 10 each	1204720002254429	India	Male	Income Tax PAN	AEYPP1113K	100	10	1000.00
988	Individual	Other than promoter	JAYSHREE SATISH JOSHI	Equity Equity share of Rs. 10 each	120454000000100	India	Male	Income Tax PAN	AAVPI0621P	528	10	5280.00
987	Individual	Other than promoter	CHANDRAKALA P K	Equity Equity share of Rs. 10 each	1204470030070993	India	Male	Income Tax PAN	AMUPC2357A	499	10	4990.00
986	Individual	Other than promoter	SWAYAM RASTOGI	Equity Equity share of Rs. 10 each	1204470028658334	India	Male	Income Tax PAN	FHOPR5405N	373	10	3730.00
985	Individual	Other than promoter	MOIZ MURAD KHETANI	Equity Equity share of Rs. 10 each	1204470027375869	India	Male	Income Tax PAN	IYVPK8408P	234	10	2340.00
984	Individual	Other than promoter	SANDIPKUMAR NARESH URKUDE	Equity Equity share of Rs. 10 each	1204470022394823	India	Male	Income Tax PAN	ACZPU6768L	2	10	20.00
983	Individual	Other than promoter	VINAY MAHAJAN	Equity Equity share of Rs. 10 each	1204470017974644	India	Male	Income Tax PAN	AGGPM5897B	200	10	2000.00
982	Individual	Other than promoter	RAKESH KUMAR	Equity Equity share of Rs. 10 each	1204470013881296	India	Male	Income Tax PAN	AAEPC6716B	100	10	1000.00
981	Individual	Other than promoter	ASHOK MANILAL KAPADIA	Equity Equity share of Rs. 10 each	1204470009711575	India	Male	Income Tax PAN	AALPK2966L	100	10	1000.00
980	Entity	Promoter	S A S SERVIZIO PRIVATE LIMITED	Equity Equity share of Rs. 10 each	1204470006631548	India	Not applicable	CIN	U31200DL1990PTC042544	148400	10	1484000.00
979	Individual	Other than promoter	VIVEK SOMANI	Equity Equity share of Rs. 10 each	1204470005570579	India	Male	Income Tax PAN	BMVPS7000N	130	10	1300.00
978	Individual	Other than promoter	RUBINA BALANI	Equity Equity share of Rs. 10 each	1204470000078289	India	Female	Income Tax PAN	AMLPB6968K	90	10	900.00
977	Entity	Other than promoter	RAJESH KUMAR SHAW HUF .	Equity Equity share of Rs. 10 each	1204320000037921	India	Not applicable	Other registration number	AAPHR8949Q	10	10	100.00
976	Individual	Other than promoter	DEEPAKKUMAR DHANSUKHLAL BHAVANIWALA	Equity Equity share of Rs. 10 each	1204310000211101	India	Male	Income Tax PAN	ANVPB3433E	9	10	90.00
975	Individual	Other than promoter	INDUJOSHI	Equity Equity share of Rs. 10 each	1204190000206004	India	Male	Income Tax PAN	AIPPJ8330H	10	10	100.00
974	Individual	Other than promoter	DEEPAK JOSHI	Equity Equity share of Rs. 10	1204190000205997	India	Male	Income Tax PAN	AGWPJ7584L	10	10	100.00
973	Individual	Other than promoter	NEELAM SHARMA	Equity Equity share of Rs. 10 each	1204190000129504	India	Female	Income Tax PAN	BGDPS7850N	135	10	1350.00
972	Individual	Other than promoter	SHABNAM AANIL MITTAL	Equity Equity share of Rs. 10 each	1204150001585750	India	Female	Income Tax PAN	ABGPM6121P	50	10	500.00
971	Individual	Other than promoter	AANIL RATANLAL MITTAL	Equity Equity share of Rs. 10 each	1204150001585731	India	Male	Income Tax PAN	ACHPM0672M	50	10	500.00
970	Individual	Other than promoter	NIRMAL MANOHARLAL JAIN .	Equity Equity share of Rs. 10 each	1204150000167244	India	Male	Income Tax PAN	AJFPJ8656H	158	10	1580.00
969	Individual	Other than promoter	MONIKA CHHABRA	Equity Equity share of Rs. 10	1203840001932561	India	Female	Income Tax PAN	AOUPC0217M	29300	10	293000.00
968	Individual	Other than promoter	TAIVEER SINGH NEGI	Equity Equity share of Rs. 10 each	1203840001920273	India	Male	Income Tax PAN	CFGPS5055C	5200	10	52000.00
967	Individual	Promoter	SUNIL CHHABRA	Equity Equity share of Rs. 10 each	1203840001909025	India	Male	Income Tax PAN	AADPC4828R	19000	10	190000.00
966	Individual	Other than promoter	INISH URMIL MERCHANT	Equity Equity share of Rs. 10 each	1203840001897521	India	Male	Income Tax PAN	BENPM7849R	29600	10	296000.00
965	Individual	Other than promoter	RAKESH CHHABRA	Equity Equity share of Rs. 10 each	1203840001885972	India	Male	Income Tax PAN	AQJPC3376J	29400	10	294000.00
964	Individual	Other than promoter	RAMESH ARORA	Equity Equity share of Rs. 10	1203840001870383	India	Male	Income Tax PAN	AAPPA6625A	7500	10	75000.00
963	Individual	Other than promoter	ANUPKUMARSAH	Equity Equity share of Rs. 10 each	1203840001868357	India	Male	Income Tax PAN	DHMPS1574M	7500	10	75000.00
962	Individual	Other than promoter	SIMPLE MEHTA	Equity Equity share of Rs. 10 each	1203840001864941	India	Female	Income Tax PAN	AQYPM1179J	4400	10	44000.00
961	Individual	Other than promoter	PRIYA MEHNDIRATTA	Equity Equity share of Rs. 10 each	1203840001864177	India	Female	Income Tax PAN	AQNPM1514C	3900	10	39000.00

1017	Entity	Other than promoter	SUNIL KUMAR BHALA HUF	Equity Equity share of Rs. 10 each	120698000000055	India	Not applicable	Other registration number	AAHHS4210B	954	10	9540.00
1018	Entity	Other than promoter	GANPATI FINSEC PRIVATE LIMITED	Equity Equity share of Rs. 10 each	1207080000002272	India	Not applicable	CIN	U67120RJ1998PTC014683	478	10	4780.00
1019	Entity	Other than promoter	KAILASH CHANDER AND SONS HUF	Equity Equity share of Rs. 10 each	1207080000031158	India	Not applicable	Other registration number	AAGHK1110H	6	10	60.00
1020	Entity	Other than promoter	SATISH KUMAR AGGARWAL HUF	Equity Equity share of Rs. 10	1207080000057299	India	Not applicable	Other registration number	AAMHS6095R	210	10	2100.00
1021	Individual	Other than promoter	KIRAN MATOLIA	each Equity Equity share of Rs. 10	1207470000000523	India	Female	Income Tax PAN	AKGPM8970R	5	10	50.00
1022	Individual	Other than promoter	KIRAN DEVI JAIN	each Equity Equity share of Rs. 10	1207650000211574	India	Female	Income Tax PAN	AESPP0521R	200	10	2000.00
1023	Individual	Other than promoter	SAIDULU MUKKIDI	each Equity Equity share of Rs. 10	1208160000614285	India	Male	Income Tax PAN	AQPPM1497C	1	10	10.00
1024	Individual	Other than promoter	DEEPAK KUMAR AGARWALA	each Equity Equity share of Rs. 10	1208160001336196	India	Male	Income Tax PAN	APZPA7234G	140	10	1400.00
1025	Individual	Other than promoter	ADITYA VIKRAM	each Equity Equity share of Rs. 10	1208160001901223	India	Male	Income Tax PAN	AQIPV4446K	1	10	10.00
			JAIMIN BHARAT SHAH	each								
1026	Individual	Other than promoter		Equity Equity share of Rs. 10 each	1208160002834579	India	Male	Income Tax PAN	DUUPS0275Q	265	10	2650.00
1027	Individual	Other than promoter	GAURAV SINGH TOMAR	Equity Equity share of Rs. 10 each	1208160003064781	India	Male	Income Tax PAN	AGKPT8926E	654	10	6540.00
1028	Individual	Other than promoter	MANIBRAHMAM TADEPALLI	Equity Equity share of Rs. 10 each	1208160008079259	India	Male	Income Tax PAN	ARTPT1853A	1	10	10.00
1029	Individual	Other than promoter	NIKHILESH KUMAR YADAV	Equity Equity share of Rs. 10 each	1208160008946094	India	Male	Income Tax PAN	AllPY3071B	1	10	10.00
1030	Individual	Other than promoter	RUSHI ANANDAN KARICHALIL	Equity Equity share of Rs. 10 each	1208160014697948	India	Female	Income Tax PAN	AADPK2647N	65	10	650.00
1031	Individual	Other than promoter	KRUNAL HASMUKHLAL PATEL	Equity Equity share of Rs. 10 each	1208160016210658	India	Male	Income Tax PAN	AZOPP3293P	1	10	10.00
1032	Individual	Other than promoter	RITESH SHASHIPRAKASH SINGH	Equity Equity share of Rs. 10	1208160016368769	India	Male	Income Tax PAN	BXLPS1343F	9	10	90.00
1033	Individual	Other than promoter	RADHA MUJALDA	each Equity Equity share of Rs. 10	1208160017083013	India	Female	Income Tax PAN	BSAPM5785R	25	10	250.00
1034	Individual	Other than promoter	NEERAJ KUMAR SHARMA	each Equity Equity share of Rs. 10	1208160017086808	India	Male	Income Tax PAN	ATUPS5367F	1	10	10.00
1035	Individual	Other than promoter	PRADNYA PITAMBAR MORE	each Equity Equity share of Rs. 10	1208160018046221	India	Male	Income Tax PAN	ARKPM8151B	227	10	2270.00
1036	Individual	Other than promoter	ABHISHEK UPADHYAY	each Equity Equity share of Rs. 10	1208160018883468	India	Male	Income Tax PAN	AEBPU5896H	100	10	1000.00
	Individual	Other than promoter	HANUMANT GANGARAM RAUT	each Equity Equity share of Rs. 10	1208160020347461	India	Male	Income Tax PAN	AHRPR5477J	15	10	150.00
1037	Individual		HANUMANI GANGAKAM KAU I DEBABRATA DEBNATH	each	1208160020347461	India	Male	Income Tax PAN	BRMPD6659L			150.00
1038		Other than promoter		each						150	10	
1039	Individual	Other than promoter	SUDHARSHAN.	Equity Equity share of Rs. 10 each	1208160020661713	India	Male	Income Tax PAN	CJMPS0335M	10	10	100.00
1040	Individual	Other than promoter	BIKRAM BHOWMICK	Equity Equity share of Rs. 10 each	1208160021527254	India	Male	Income Tax PAN	AVEPB8825H	1	10	10.00
1041	Individual	Other than promoter	ANMOL JAIN	Equity Equity share of Rs. 10 each	1208160021919804	India	Male	Income Tax PAN	AMVPJ1383L	1	10	10.00
1042	Individual	Other than promoter	BRIJ KISHORE SHARDA	Equity Equity share of Rs. 10 each	1208160022200490	India	Male	Income Tax PAN	ARRPK1808J	10	10	100.00
1043	Individual	Other than promoter	ABHISHEK CHAURASIA	Equity Equity share of Rs. 10	1208160023140971	India	Male	Income Tax PAN	BEVPC9727E	33	10	330.00
1044	Individual	Other than promoter	SANDEEP KUMAR TIWARI	each Equity Equity share of Rs. 10	1208160023733691	India	Male	Income Tax PAN	AFNPT2564E	10	10	100.00
1045	Individual	Other than promoter	KANNAN NEPPOLIYAN	each Equity Equity share of Rs. 10	1208160024319347	India	Male	Income Tax PAN	AIWPN4793R	1	10	10.00
1046	Individual	Other than promoter	TEJASHKUMAR JAYANTILAL MISTRY	each Equity Equity share of Rs. 10	1208160024984269	India	Male	Income Tax PAN	AQDPM4519P	2	10	20.00
1047	Individual	Other than promoter	SANJAY KUMAR DESHMUKH	each Equity Equity share of Rs. 10	1208160025302423	India	Male	Income Tax PAN	BEOPD1542R	2	10	20.00
1048	Individual	Other than promoter	RAVI KUMAR GUPTA	each Equity Equity share of Rs. 10	1208160025796715	India	Male	Income Tax PAN	ANXPR4104J	10	10	100.00
1049	Individual	Other than promoter	SUNIL DINKARRAO GUDADHE	each Equity Equity share of Rs. 10	1208160027449048	India	Male	Income Tax PAN	AHGPG0910L	217	10	2170.00
				each								
1050	Individual	Other than promoter	RAMESH PENDYALA	Equity Equity share of Rs. 10 each	1208160029334637	India	Male	Income Tax PAN	DDVPP5409K	4	10	40.00
1051	Individual	Other than promoter	BIBASH KUMAR DAS	Equity Equity share of Rs. 10 each	1208160030481566	India	Male	Income Tax PAN	BDDPD1311E	6	10	60.00
1052	Individual	Other than promoter	KULDEEP MEHTA	Equity Equity share of Rs. 10 each	1208160030871952	India	Male	Income Tax PAN	CPRPM0969J	5	10	50.00
1053	Individual	Other than promoter	VIJAYKUMAR TELGADI	Equity Equity share of Rs. 10 each	1208160031360603	India	Male	Income Tax PAN	ABBPT0904C	130	10	1300.00
1054	Individual	Other than promoter	JAIMIN ANILBHAI RANA	Equity Equity share of Rs. 10 each	1208160032629607	India	Male	Income Tax PAN	AVDPR4878F	5	10	50.00
1055	Individual	Other than promoter	JAGABANDHU MOHANTY	Equity Equity share of Rs. 10	1208160035175618	India	Male	Income Tax PAN	EDRPM0126D	4	10	40.00
1056	Individual	Other than promoter	SHYAMALURAWN	Equity Equity share of Rs. 10	1208160038448568	India	Male	Income Tax PAN	ACOPU0097R	2	10	20.00
1057	Individual	Other than promoter	RITURAJ AMBESH	each Equity Equity share of Rs. 10	1208160038597642	India	Male	Income Tax PAN	BIGPA3017C	2	10	20.00
1058	Individual	Other than promoter	JYOTI MAHAWAR	each Equity Equity share of Rs. 10	1208160042869691	India	Female	Income Tax PAN	BZCPM5449K	3	10	30.00
1059	Individual	Other than promoter	RAJENDRA SINGH SHAKTAWAT	each Equity Equity share of Rs. 10	1208160045570616	India	Male	Income Tax PAN	CBVPS3806G	10	10	100.00
1060	Individual	Other than promoter	RAHUL GUPTA	each Equity Equity share of Rs. 10	1208160047992742	India	Male	Income Tax PAN	AVCPG7625G	248	10	2480.00
1061	Individual	Other than promoter	SREEJITHV	each Equity Equity share of Rs. 10	1208160054366719	India	Male	Income Tax PAN	AEAPV8506J	51	10	510.00
				each								
1062	Individual	Other than promoter	WASIMAHMAD	Equity Equity share of Rs. 10 each	1208160054677434	India	Male	Income Tax PAN	BJRPA5220R	71	10	710.00
1063	Individual	Other than promoter	RUCHI BANSAL	Equity Equity share of Rs. 10 each	1208160056237400	India	Female	Income Tax PAN	AJBPB1663J	578	10	5780.00
1064	Individual	Other than promoter	ASAVARI RAJARAM POTDAR	Equity Equity share of Rs. 10 each	1208160061121319	India	Male	Income Tax PAN	AUWPP1604R	3	10	30.00
1065	Individual	Other than promoter	AKSHAT KASHYAP	Equity Equity share of Rs. 10 each	1208160065086984	India	Male	Income Tax PAN	CDRPK6111N	15	10	150.00
1066	Individual	Other than promoter	MANOJ KUMAR RAJOLE	Equity Equity share of Rs. 10 each	1208160065437262	United Arab Emirates	Male	Income Tax PAN	AJMPR1418C	518	10	5180.00
1067	Individual	Other than promoter	RACHIT PAHWA	Equity Equity share of Rs. 10	1208160066068890	India	Male	Income Tax PAN	DVEPP2700L	1	10	10.00
1068	Individual	Other than promoter	RAJENDRAN DHINESH	each Equity Equity share of Rs. 10	1208160066348638	India	Male	Income Tax PAN	AOVPD8348D	1	10	10.00
1069	Individual	Other than promoter	SANCHIT AGARWAL	each Equity Equity share of Rs. 10	1208160066814921	India	Male	Income Tax PAN	ALGPA6201Q	15	10	150.00
1070	Individual	Other than promoter	SURAJ MARUTI SHET	each Equity Equity share of Rs. 10	1208160067249110	India	Male	Income Tax PAN	FYYPS5421J	1	10	10.00
1071	Individual	Other than promoter	PARDEEP KUMAR	each Equity Equity share of Rs. 10	1208160067337112	India	Male	Income Tax PAN	EQCPK8045P	6	10	60.00
	Individual	Other than promoter	JAGADESH PENDYALA	each Equity Equity share of Rs. 10	1208160067529523	India	Male	Income Tax PAN	CEMPP6632P	100	10	1000.00
1072	murviduat	Julei triali promotef	MGADEESH PENDIALA	Equity Equity share of Hs. 10 each	120810000/328323	moia	nate	IIICOIIIE I BX PAN	GENTP0032P	100	10	1000.00

1073	Individual	Other than promoter		RAMAYAN KUMAR	Equity	Equity share of Rs. 10 each	1208160067798942	India	Male	Income Tax PAN	AUKPK7654C		219	10	2190.00
1074	Individual	Other than promoter		INDERJEET SINGH	Equity	Equity share of Rs. 10 each	1208160070133387	India	Male	Income Tax PAN	CHNPS8224E		7	10	70.00
1075	Individual	Other than promoter		SANGEETHA MUSINI	Equity	Equity share of Rs. 10	1208160070437954	India	Male	Income Tax PAN	FNYPM2574P		10	10	100.00
1076	Individual	Other than promoter		SIVA JYOTHI DUGGYALA	Equity	each Equity share of Rs. 10	1208160073477753	India	Male	Income Tax PAN	BSWPD3120K		1	10	10.00
1077	Individual	Other than promoter		RAVINDRA KUMAR PANDEY	Equity	each Equity share of Rs. 10	1208160076994801	India	Male	Income Tax PAN	CKIPP5456K		10	10	100.00
1078	Individual	Other than promoter		HEMANT KUMAR MEGHWAL	Equity	each Equity share of Rs. 10	1208160077087392	India	Male	Income Tax PAN	DLFPM3623E		1	10	10.00
				NRIPENDRA KUMAR PANDEY		each									
1079	Individual	Other than promoter		·	Equity	Equity share of Rs. 10 each	1208160077267504	India	Male	Income Tax PAN	AXUPP7071K		11	10	110.00
1080	Individual	Other than promoter		KUSUM BANSAL	Equity	Equity share of Rs. 10 each	1208160077903446	India	Female	Income Tax PAN	AQSPB5560E		20	10	200.00
1081	Individual	Other than promoter		RAVI DHETARWAL	Equity	Equity share of Rs. 10 each	1208160079027905	India	Male	Income Tax PAN	CPXPD6674K		7	10	70.00
1082	Individual	Other than promoter		NEERAJ SHUKLA	Equity	Equity share of Rs. 10	1208160079482031	India	Male	Income Tax PAN	DCGPS0315R		175	10	1750.00
1083	Individual	Other than promoter		AKRITI GOYAL	Equity	each Equity share of Rs. 10	1208160080509263	India	Female	Income Tax PAN	DAYPG9742J		3	10	30.00
1084	Individual	Other than promoter		PADMAJA OGIRALA	Equity	each Equity share of Rs. 10	1208160080569074	India	Female	Income Tax PAN	ANAPK0600P		1	10	10.00
1085	Individual	Other than promoter		AKSHAY VAUNATH HEDE	Equity	each Equity share of Rs. 10	1208160081046300	India	Male	Income Tax PAN	ASJPH6727Q		50	10	500.00
						each									
1086	Individual	Other than promoter		SUMIT NIKUNJ SHAH	Equity	Equity share of Rs. 10 each	1208160081759181	India	Male	Income Tax PAN	BCRPS4990K		1	10	10.00
1087	Individual	Other than promoter		ANIL KUMAR BISHOYI	Equity	Equity share of Rs. 10 each	1208160086273230	India	Male	Income Tax PAN	ASAPB9385R		2	10	20.00
1088	Individual	Other than promoter		USHA PRMOD SOMANI	Equity	Equity share of Rs. 10 each	1208160087827539	India	Female	Income Tax PAN	BJFPS6445G		10	10	100.00
1089	Individual	Other than promoter		NAVEEN .	Equity	Equity share of Rs. 10	1208160089789600	India	Male	Income Tax PAN	BJTPN7896J		2	10	20.00
1090	Individual	Other than promoter		SWATHI BAI JARAPALA	Equity	each Equity share of Rs. 10	1208160093094422	India	Female	Income Tax PAN	CDJPJ4460P		10	10	100.00
1091	Individual	Other than promoter		MUKESH TAK	Equity	each Equity share of Rs. 10	1208160093189185	India	Male	Income Tax PAN	AOJPM1032K		1	10	10.00
		· ·				each									
1092	Individual	Other than promoter		GEETANJALI RANA	Equity	Equity share of Rs. 10 each	1208160099338529	India	Female	Income Tax PAN	CYBPR9326P		1	10	10.00
1093	Individual	Other than promoter		FATHIMA SAHALA PULIKKAPARAMBIL	Equity	Equity share of Rs. 10 each	1208160104378987	India	Female	Income Tax PAN	HDUPP9046K	T	30	10	300.00
1094	Individual	Other than promoter		ARAVIND KUMAR VISHWAKARMA	Equity	Equity share of Rs. 10 each	1208160105148343	India	Male	Income Tax PAN	CKDPV5747A		1	10	10.00
1095	Individual	Other than promoter		NITIN LALCHAND GUPTA	Equity	Equity share of Rs. 10	1208160106491140	India	Male	Income Tax PAN	ASEPG5125A		10	10	100.00
1096	Individual	Other than promoter		GURPREET SINGH	Equity	each Equity share of Rs. 10	1208160107447191	India	Male	Income Tax PAN	CMEPS8161E		3	10	30.00
1097	Individual	Other than promoter		MICHAEL AJIN MILTON	Equity	each Equity share of Rs. 10	1208160109589466	India	Male	Income Tax PAN	ALDPA4469P		5	10	50.00
1098	Individual	Other than promoter		EUGINE STANLY JASON JIJO	Equity	each Equity share of Rs. 10	1208160111697521	India	Male	Income Tax PAN	BHIPJ0078D		1	10	10.00
						each									
1099	Individual	Other than promoter		SANJAY SESHADRI	Equity	Equity share of Rs. 10 each	1208160120333265	India	Male	Income Tax PAN	QEKPS0166B		50	10	500.00
1100	Individual	Other than promoter		PRAFUL DINANATH MORE	Equity	Equity share of Rs. 10 each	1208160123117845	India	Male	Income Tax PAN	ASEPM6292Q		10	10	100.00
1101	Individual	Other than promoter		GURUBASAYYA.	Equity	Equity share of Rs. 10 each	1208160124341637	India	Male	Income Tax PAN	AMEPG4108M		2	10	20.00
1102	Individual	Other than promoter		MANRAJ SINGH	Equity	Equity share of Rs. 10	1208160126060329	India	Male	Income Tax PAN	MXLPS4900D		1	10	10.00
1103	Individual	Other than promoter		JYOTI ARORA	Equity	each Equity share of Rs. 10	1208160126076611	India	Female	Income Tax PAN	AISPA5874G		100	10	1000.00
1104	Individual	Other than promoter		UJJAL KUMAR DEY	Equity	each Equity share of Rs. 10	1208160126601399	India	Male	Income Tax PAN	ADVPD6518N		65	10	650.00
1105	Individual	Other than promoter		SUHAS.	Equity	each Equity share of Rs. 10	1208160128955493	India	Male	Income Tax PAN	AFEPW8989H		4	10	40.00
						each									
1106	Individual	Other than promoter		RAJAN KUMAR DOKANIA	Equity	Equity share of Rs. 10 each	1208160131418195	India	Male	Income Tax PAN	AHVPD1161F		2	10	20.00
1107	Individual	Other than promoter		TARA KUMARI BARMAN	Equity	Equity share of Rs. 10 each	1208160131447771	India	Male	Income Tax PAN	DLXPB4260E		1	10	10.00
1108	Individual	Other than promoter		SACHIN RAI	Equity	Equity share of Rs. 10 each	1208160132682744	India	Male	Income Tax PAN	AWOPR6618R		7	10	70.00
1109	Individual	Other than promoter		HIMANSHU SHARMA	Equity	Equity share of Rs. 10	1208160134717887	India	Male	Income Tax PAN	CUUPS7766P		1	10	10.00
1110	Individual	Other than promoter		HARESHBHAI PANCHABHAI DOBARIYA	Equity	each Equity share of Rs. 10	1208160137328211	India	Male	Income Tax PAN	AJIPD8599A		51	10	510.00
1111	Individual	Other than promoter		NAVYAKEERTHANA PUNABAKA	Equity	each Equity share of Rs. 10	1208160138439931	India	Male	Income Tax PAN	FKLPP9558J		195	10	1950.00
1112	Individual	Other than promoter		ANITA DEVI	Equity	each Equity share of Rs. 10	1208160138830299	India	Female	Income Tax PAN	BGMPD2660N		1	10	10.00
		· ·				each									
1113	Individual	Other than promoter		SAURABH DURGESH NANDANWAR	Equity	Equity share of Rs. 10 each	1208160139117331	India	Male	Income Tax PAN	BBWPN7108J		1	10	10.00
1114	Individual	Other than promoter		SARAVANAN SEKAR	Equity	Equity share of Rs. 10 each	1208160144903931	India	Male	Income Tax PAN	IQPPS5261G		50	10	500.00
1115	Individual	Other than promoter		NIDHI ATISH JAIN	Equity	Equity share of Rs. 10 each	1208160146135537	India	Female	Income Tax PAN	AHOPJ7008G		2	10	20.00
1116	Individual	Other than promoter		PREM CHAND KULTHIA	Equity	Equity share of Rs. 10	1208160147061089	India	Male	Income Tax PAN	AFYPK3689N		3	10	30.00
1117	Individual	Other than promoter		NITIN AGGARWAL	Equity	each Equity share of Rs. 10	1208160150845588	India	Male	Income Tax PAN	AHRPA0977E		103	10	1030.00
1118	Individual	Other than promoter		FAHEEM AHMAD	Equity	each Equity share of Rs. 10	1208160154911430	India	Male	Income Tax PAN	BBHPA2095Q		55	10	550.00
1119	Individual	Other than promoter		KANTA JHANWAR	Equity	each Equity share of Rs. 10	1208160156747990	India	Male	Income Tax PAN	AGFPJ4679M		19	10	190.00
						each									
1120	Individual	Other than promoter		POONAM DHANKHAR	Equity	Equity share of Rs. 10 each	1208160157030424	India	Female	Income Tax PAN	BCJPD2194J		31	10	310.00
1121	Individual	Other than promoter		SAGUFTA KHATUN	Equity	Equity share of Rs. 10 each	1208160157995421	India	Male	Income Tax PAN	LIPPK6109L		6	10	60.00
1122	Individual	Other than promoter		SANJAY GUPTA	Equity	Equity share of Rs. 10 each	1208160164459853	India	Male	Income Tax PAN	AAAPG6859K		390	10	3900.00
1123	Individual	Other than promoter		ANURADHA SINGH	Equity	Equity share of Rs. 10	1208160167562895	India	Male	Income Tax PAN	DPKPS4340D		3	10	30.00
1124	Individual	Other than promoter		RANJEET KAUR SHERGILL	Equity	each Equity share of Rs. 10	1208160168484263	India	Male	Income Tax PAN	DBDPK0189K		2	10	20.00
1125	Individual	Other than promoter		AMARJIT KUMAR	Equity	each Equity share of Rs. 10	1208160168554799	India	Male	Income Tax PAN	BCIPA6764L		747	10	7470.00
1126	Individual			PREMLATA ASHOK PUROHIT		each	1208160169868166	India			BFKPP2504L			10	
		Other than promoter			Equity	Equity share of Rs. 10 each			Male	Income Tax PAN			1		10.00
1127	Individual	Other than promoter		DEVANAKONDA JAGADESWARA REDDY	Equity	Equity share of Rs. 10 each	1208160171796483	India	Male	Income Tax PAN	BKTPD7248D		5	10	50.00
1128	Individual	Other than promoter	-	PARAMJEET SINGH	Equity	Equity share of Rs. 10 each	1208160172180285	India	Male	Income Tax PAN	BMFPS1453P		1	10	10.00
-						cauii	1	 1							,

1129	Individual	Other than promoter	PURUSHOTTAM DATTATRAY KHATAL	Equity	Equity share of Rs. 10 each	1208160173049627		India	Male	Income Tax PAN	HFFPK7235Q		15	10	150.00
1130	Individual	Other than promoter	SANDEEP KAUR GREWAL	Equity	Equity share of Rs. 10 each	1208160176753537		India	Male	Income Tax PAN	AJSPG5920G		3	10	30.00
1131	Individual	Other than promoter	RASHMI MISHRA	Equity	Equity share of Rs. 10	1208160177059523		India	Female	Income Tax PAN	COJPM8139K	:	10	10	100.00
1132	Individual	Other than promoter	VIDIT SINGH	Equity	each Equity share of Rs. 10	1208160184674875		India	Male	Income Tax PAN	KRDPS5764K		11	10	110.00
1133	Individual	Other than promoter	VIVEK OMPRAKASH SINGH	Equity	each Equity share of Rs. 10	1208180000589737		India	Male	Income Tax PAN	HCFPS4303J		15	10	150.00
		· ·			each										
1134	Individual	Other than promoter	AMIT KUMAR SRIVASTAVA	Equity	Equity share of Rs. 10 each	1208180000854191		India	Male	Income Tax PAN	CKWPS2100P		6	10	60.00
1135	Individual	Other than promoter	SHRINIWAS NANDKISHOR RAUT	Equity	Equity share of Rs. 10 each	1208180005961448		India	Male	Income Tax PAN	DQXPR7437C		1	10	10.00
1136	Individual	Other than promoter	ANIES JOSE	Equity	Equity share of Rs. 10	1208180008638481		India	Male	Income Tax PAN	CCBPJ4275P		70	10	700.00
1137	Individual	Other than promoter	DINESH KUMAR VARMA	Equity	each Equity share of Rs. 10	1208180009217465		India	Male	Income Tax PAN	ABAPV1262G	:	24	10	240.00
1138	Individual	Other than promoter	NAVEEN BANKAPALLI	Equity	each Equity share of Rs. 10	1208180010226847		India	Male	Income Tax PAN	EZYPB2465M		1	10	10.00
1139	Individual	Other than promoter	MOHD AARIF	Equity	each Equity share of Rs. 10	1208180031330718		India	Male	Income Tax PAN	DLNPA0772C		1	10	10.00
					each										
1140	Individual	Other than promoter	VIKAS SAWAN WAGHELA	Equity	Equity share of Rs. 10 each	1208180031987435		India	Male	Income Tax PAN	ACHPW5344A		10	10	100.00
1141	Individual	Other than promoter	INDERJEET SINGH	Equity	Equity share of Rs. 10 each	1208180043564445		India	Male	Income Tax PAN	FQTPS1386D		5	10	50.00
1142	Individual	Other than promoter	AASHISH KUMAR VINAY JAISWAR	Equity	Equity share of Rs. 10	1208180045031859		India	Male	Income Tax PAN	BBXPJ3226L		4	10	40.00
1143	Individual	Other than promoter	AMOL KAILAS GIRI	Equity	each Equity share of Rs. 10	1208180046521181		India	Male	Income Tax PAN	BLUPG8044A	:	10	10	100.00
1144	Individual	Other than promoter	ARCHANA .	Equity	each Equity share of Rs. 10	1208180046977716		India	Female	Income Tax PAN	DFXPA1515R		5	10	50.00
					each										
1145	Individual	Other than promoter	RENJITH RAVEENDRAN NAIR	Equity	Equity share of Rs. 10 each	1208180047552741		India	Male	Income Tax PAN	AUOPN5913B		2	10	20.00
1146	Individual	Other than promoter	RANJAN SINGH	Equity	Equity share of Rs. 10 each	1208180048305443		India	Male	Income Tax PAN	OCBPS6533K		4	10	40.00
1147	Individual	Other than promoter	MOHIT KHARI	Equity	Equity share of Rs. 10 each	1208180048521989		India	Male	Income Tax PAN	GFQPK4296M		1	10	10.00
1148	Individual	Other than promoter	RAMESH SAINI	Equity	Equity share of Rs. 10	1208180062807551		India	Male	Income Tax PAN	CPHPS8143E		3	10	30.00
1149	Individual	Other than promoter	SHAILESH JANRAO SHANKHPAL	Equity	each Equity share of Rs. 10	1208180064411688		India	Male	Income Tax PAN	GTWPS9677G		1	10	10.00
1150	Individual	Other than promoter	CHELLA THANGAM ANAND	Equity	each Equity share of Rs. 10	1208180064556188		India	Male	Income Tax PAN	BXEPA5875P		130	10	4300.00
					each										
1151	Individual	Other than promoter	AKASH SHESHERAO GOSAVI	Equity	Equity share of Rs. 10 each	1208180078583571		India	Male	Income Tax PAN	CQZPG8871J		2	10	20.00
1152	Individual	Other than promoter	POONAM SINGH	Equity	Equity share of Rs. 10 each	1208180078913076		India	Female	Income Tax PAN	BFEPS9781J		3	10	30.00
1153	Individual	Other than promoter	SONU VASHISTHA	Equity	Equity share of Rs. 10	1208180085857278		India	Male	Income Tax PAN	CECPV3280D		3	10	30.00
1154	Individual	Other than promoter	SOURABH SUNIL LONKAR	Equity	each Equity share of Rs. 10	1208180087993477		India	Male	Income Tax PAN	BANPL0078D		5	10	50.00
1155	Individual	Other than promoter	PINTU KUMAR SAH	Equity	each Equity share of Rs. 10	1208180094175412		India	Male	Income Tax PAN	EDHPS0941G		1	10	10.00
					each								-		
1156	Individual	Other than promoter	ABHISHEK SURYA	Equity	Equity share of Rs. 10 each	1208180099450142		India	Male	Income Tax PAN	LAQPS6305D		30	10	300.00
1157	Individual	Other than promoter	ROSHAN KUMAR JHA	Equity	Equity share of Rs. 10 each	1208180152678256		India	Male	Income Tax PAN	BCSPJ8483P		1	10	10.00
1158	Individual	Other than promoter	SARITA CHOUDHARY	Equity	Equity share of Rs. 10 each	1208180171759808		India	Female	Income Tax PAN	CVUPC5169D		1	10	10.00
1159	Individual	Other than promoter	CHETAN SHANKARRAO LOKHANDE	Equity	Equity share of Rs. 10	1208180174211383		India	Male	Income Tax PAN	AHVPL8316J		18	10	180.00
1160	Individual	Other than promoter	MANISH ARORA	Equity	each Equity share of Rs. 10	1208250007662808		India	Male	Income Tax PAN	ABHPA3327N	1	125	10	1250.00
1161	Individual	Other than promoter	SAHIL ANIL NAKTI		each	1208250037082973		India	Male	Income Tax PAN	BXMPN3485N		1		10.00
		· ·		Equity	Equity share of Rs. 10 each									10	
1162	Entity	Other than promoter	SAURABH AGARWAL HUF.	Equity	Equity share of Rs. 10 each	1208340010207246		India	Not applicable	Other registration number	ABIHS1084F	1	179	10	1790.00
1163	Individual	Other than promoter	DOLLY PARESH DOSHI	Equity	Equity share of Rs. 10 each	1208340013591955		India	Male	Income Tax PAN	ANBPJ8170G	4	176	10	4760.00
1164	Individual	Other than promoter	SANDEEP.	Equity	Equity share of Rs. 10	1208340022095213		India	Male	Income Tax PAN	OCUPS2356P		5	10	50.00
1165	Individual	Other than promoter	SRIDHAR CHANDRASEKARAN	Equity	each Equity share of Rs. 10	1208430000440276		India	Male	Income Tax PAN	AEHPC0458B		5	10	50.00
1166	Individual	Other than promoter	DEEPAK BABULAL SHAH	Equity	each Equity share of Rs. 10	1208430001117781		India	Male	Income Tax PAN	AALPS9251J		10	10	100.00
		· ·			each										
1167	Individual	Other than promoter	BHAVESHKUMAR MANUBHAI PATEL	Equity	Equity share of Rs. 10 each	1208430001340684		India	Male	Income Tax PAN	AGOPP3192L		1	10	10.00
1168	Individual	Other than promoter	HARSHITA SATYENDRA SHUKLA	Equity	Equity share of Rs. 10 each	1208530004242890	T	India	Female	Income Tax PAN	OMPPS0176A		1	10	10.00
1169	Individual	Other than promoter	SANJAY KUMAR BHAVSAR	Equity	Equity share of Rs. 10 each	1208670000014676		India	Male	Income Tax PAN	ABSPB1100B	:	31	10	310.00
1170	Individual	Other than promoter	SYED ZAFAR SYED UMAR	Equity	Equity share of Rs. 10	1208670002134671		India	Male	Income Tax PAN	AEBPU8668P		1	10	10.00
1171	Individual	Other than promoter	PRATIBHA PATHAK	Equity	each Equity share of Rs. 10	1208770000000714		India	Female	Income Tax PAN	ALIPP7436M		5	10	50.00
1172	Individual	Other than promoter	KI ISI IM PATHAK	Equity	each Foulty share of Rs. 10	1208770000002783		India	Female	Income Tax PAN	APHPP4976N		10	10	100.00
					each			mdlä					**	10	100.00
1173	Individual	Other than promoter	HARI KRISHAN PATHAK	Equity	Equity share of Rs. 10 each	1208770000002941		India	Male	Income Tax PAN	ABOPP8331J		5	10	50.00
1174	Individual	Other than promoter	DIPAK KUMAR	Equity	Equity share of Rs. 10 each	1208870001420331		India	Male	Income Tax PAN	AMPPK4479G		10	10	100.00
1175	Individual	Other than promoter	SAI KRISHNA MUTHUKURU	Equity	Equity share of Rs. 10	1208870001711467		India	Male	Income Tax PAN	FNDPM1151B		20	10	200.00
1176	Individual	Other than promoter	SURESH KUMAR PRAJAPATI	Equity	each Equity share of Rs. 10	1208870003615271		India	Male	Income Tax PAN	AYYPP7795B		2	10	20.00
1177	Individual	Other than promoter	DHARMESHBHAI SANJAYBHAI GAVLI	Equity	each Equity share of Rs. 10	1208870005422121		India	Male	Income Tax PAN	DAUPG2121K		1	10	10.00
		· ·			each										
1178	Individual	Other than promoter	ROHIT KUMAR	Equity	Equity share of Rs. 10 each	1208870007411526		India	Male	Income Tax PAN	EKJPK7699A		10	10	100.00
1179	Individual	Other than promoter	VAIBHAV TULSHIDAS KUNGHADKAR	Equity	Equity share of Rs. 10 each	1208870007542224	T	India	Male	Income Tax PAN	DWOPK7570Q		5	10	50.00
1180	Individual	Other than promoter	GANGA KUMARI SAH	Equity	Equity share of Rs. 10	1208870010759141		India	Male	Income Tax PAN	JKHPS8867R		10	10	100.00
1181	Individual	Other than promoter	ALLABOX SAHA	Equity	each Equity share of Rs. 10	1208870014083932		India	Male	Income Tax PAN	KPLPS4734B		2	10	20.00
1182	Individual	Other than promoter	VEVEK SRIVASTAVA	Equity	each Equity share of Rs. 10	1208870014150519		India	Male	Income Tax PAN	AFEPS4892R		3	10	30.00
		· ·	PRATAP KUMAR SHEE		each Equity share of Rs. 10	1208870014464180				Income Tax PAN	DPSPS7079D		22	10	220.00
1183	Individual	Other than promoter		Equity	each			India	Male						
1184	Individual	Other than promoter	ISHFAQ NAZIR	Equity	Equity share of Rs. 10 each	1208870014969466		India	Male	Income Tax PAN	BZPPN9437F		4	10	40.00
-															

1185	Individual	Other than promoter	SURAJ ANSHUMAN GUPTA	Equity	Equity share of Rs. 10 each	1208870015986844	India	Male	Income Tax PAN	DBOPG1155A	3	10	30.00
1186	Individual	Other than promoter	GOWTHAM BHATT KOLIWAD BALACHANDRA	Equity	Equity share of Rs. 10 each	1208870018431101	India	Male	Income Tax PAN	CGHPB3007K	16	10	160.00
1187	Individual	Other than promoter	VIJAY THAKUR	Equity	Equity share of Rs. 10 each	1208870022723579	India	Male	Income Tax PAN	ATYPT3301J	15	10	150.00
1188	Individual	Other than promoter	KALURAM PATEL RAJU	Equity	Equity share of Rs. 10	1208870022840080	India	Male	Income Tax PAN	BWYPR4574D	10	10	100.00
1189	Individual	Other than promoter	VIKASH KUMAR	Equity	each Equity share of Rs. 10	1208870028666754	India	Male	Income Tax PAN	FQOPK5199B	100	10	1000.00
1190	Individual	Other than promoter	SUNILKUMAR	Equity	each Equity share of Rs. 10	1208870029686899	India	Male	Income Tax PAN	EPRPK8276J	2	10	20.00
1191	Individual	Other than promoter	GAJENDRA SINGH SISODIYA	Equity	each Equity share of Rs. 10	1208870033706346	India	Male	Income Tax PAN	COAPS3520R	13	10	130.00
1192	Individual		SANDEEP.		each	1208870034428812	India	Male	Income Tax PAN	BNHPS6048F		10	10.00
		Other than promoter		Equity	Equity share of Rs. 10 each						1		
1193	Individual	Other than promoter	CHERYL ADITYA PORWAL	Equity	Equity share of Rs. 10 each	1208870034531687	India	Male	Income Tax PAN	BSPPP3123F	1	10	10.00
1194	Individual	Other than promoter	ALOK KUMAR	Equity	Equity share of Rs. 10 each	1208870036099586	India	Male	Income Tax PAN	CWAPK7423H	1	10	10.00
1195	Individual	Other than promoter	ANUPAM KUMAR	Equity	Equity share of Rs. 10 each	1208870039529166	India	Male	Income Tax PAN	FRIPK3361N	1	10	10.00
1196	Individual	Other than promoter	ARUN KUMAR.	Equity	Equity share of Rs. 10 each	1208870040238087	India	Male	Income Tax PAN	BZVPA2171H	55	10	550.00
1197	Individual	Other than promoter	BIPINCHANDRA AMBALAL RAVAL	Equity	Equity share of Rs. 10 each	1208870040703421	India	Male	Income Tax PAN	AELPR7671B	30	10	300.00
1198	Individual	Other than promoter	MOTIBUR RAHMAN	Equity	Equity share of Rs. 10	1208870041462297	India	Male	Income Tax PAN	EVXPR4626B	1	10	10.00
1199	Individual	Other than promoter	AMIT KUMAR	Equity	each Equity share of Rs. 10	1208870045642611	India	Male	Income Tax PAN	LTTPK5447C	1	10	10.00
1200	Individual	Other than promoter	PANKAJ KUMAR	Equity	each Equity share of Rs. 10	1208870046768742	India	Male	Income Tax PAN	JWRPK5805H	1	10	10.00
1201	Individual	Other than promoter	IMRAN EDURURU	Equity	each Equity share of Rs. 10	1208870047366523	India	Male	Income Tax PAN	AEVPE3127M	35	10	350.00
1202	Individual	Other than promoter	SANDEEP.	Equity	each Equity share of Rs. 10	1208870047998614	India	Male	Income Tax PAN	IXXPS0176P	1	10	10.00
					each	1208870047998614				BHZPS3252D			50.00
1203	Individual	Other than promoter	HIRA SINGH	Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN		5	10	
1204	Individual	Other than promoter	AHMAD SAMEER	Equity	Equity share of Rs. 10 each	1208870055375673	India	Male	Income Tax PAN	AUPPS2814R	150	10	1500.00
1205	Individual	Other than promoter	BRAJENDRA SINGH	Equity	Equity share of Rs. 10 each	1208870059729786	India	Male	Income Tax PAN	IXYPS273BN	280	10	2800.00
1206	Individual	Other than promoter	RAJBAHADUR BHARDWAJ	Equity	Equity share of Rs. 10 each	1208870062491456	India	Male	Income Tax PAN	CNXPB0790E	6	10	60.00
1207	Individual	Other than promoter	MITESH RAJUSING PARDESHI	Equity	Equity share of Rs. 10 each	1208870063252684	India	Male	Income Tax PAN	BSAPP5518H	110	10	1100.00
1208	Individual	Other than promoter	PAVAN KUMAR	Equity	Equity share of Rs. 10	1208870064459746	India	Male	Income Tax PAN	KTGPK3564L	2	10	20.00
1209	Individual	Other than promoter	KANHAIYA KUMAR	Equity	Equity share of Rs. 10	1208870066189511	India	Male	Income Tax PAN	GBWPK1998G	1	10	10.00
1210	Individual	Other than promoter	GOPAL PARAMESHWAR NAIK	Equity	each Equity share of Rs. 10	1208870066588108	India	Male	Income Tax PAN	ABMPN6917C	2	10	20.00
1211	Individual	Other than promoter	RAJASEKHAR CHITTIPOTHULA	Equity	each Equity share of Rs. 10	1208870071185814	India	Male	Income Tax PAN	AWEPC8451D	35	10	350.00
1212	Individual	Other than promoter	GANESH KRISHNA JANGAM	Equity	each Equity share of Rs. 10	1208870076240671	India	Male	Income Tax PAN	AXKPJ1528R	10	10	100.00
1213	Individual	Other than promoter	FURKAN AHMAD	Equity	each Equity share of Rs. 10	1208870077485459	India	Male	Income Tax PAN	BILPA9541C	41	10	410.00
1214		Other than promoter Other than promoter	SATINATH GANGULY		each Equity share of Rs. 10	1208870078560755	India		Income Tax PAN	BOAPG1932E	30	10	300.00
	Individual	· ·		Equity	each			Male					
1215	Individual	Other than promoter	THULASI RAMA .	Equity	Equity share of Rs. 10 each	1208870083598092	India	Male	Income Tax PAN	ALRPT4010B	1	10	10.00
1216	Individual	Other than promoter	SUDHANSHU KUMAR	Equity	Equity share of Rs. 10 each	1208870085736215	India	Male	Income Tax PAN	KWXPK3346E	2	10	20.00
1217	Individual	Other than promoter	SANJAY KUMAR	Equity	Equity share of Rs. 10 each	1208870087602629	India	Male	Income Tax PAN	CLNPK0103N	2	10	20.00
1218	Individual	Other than promoter	VINIT KUMAR	Equity	Equity share of Rs. 10 each	1208870087665937	India	Male	Income Tax PAN	CKLPK4116Q	7	10	70.00
1219	Individual	Other than promoter	RAJESH AHLAWAT	Equity	Equity share of Rs. 10 each	1208870089855636	India	Male	Income Tax PAN	BSRPA1922K	3	10	30.00
1220	Individual	Other than promoter	SHASHI KUMAR	Equity	Equity share of Rs. 10	1208870092733225	India	Male	Income Tax PAN	FWMPK0050H	1	10	10.00
1221	Individual	Other than promoter	GOLAM GAUS	Equity	each Equity share of Rs. 10	1208870093810231	India	Male	Income Tax PAN	DGBPG9715E	30	10	300.00
1222	Individual	Other than promoter	RITU RAJ SHARMA	Equity	each Equity share of Rs. 10	1208870098563844	India	Male	Income Tax PAN	EEHPS6244K	1	10	10.00
1223	Individual	Other than promoter	SANTHOSHA.	Equity	each Equity share of Rs. 10	1208870099085242	India	Female	Income Tax PAN	DPKPS9928K	10	10	100.00
1224	Individual	Other than promoter	PARMINDER SINGH	Equity	each Equity share of Rs. 10	1208870099893421	India	Male	Income Tax PAN	IIBPS4120N	10	10	100.00
		· ·			each								
1225	Individual	Other than promoter	PUSHPENDRA SINGH	Equity	Equity share of Rs. 10 each	1208870104929555	India	Male	Income Tax PAN	HWQPS3936A	3	10	30.00
1226	Individual	Other than promoter	PANKAJ SARMAH	Equity	Equity share of Rs. 10 each	1208870107181051	India	Male	Income Tax PAN	DKHPS8693M	23	10	230.00
1227	Individual	Other than promoter	SANJAY KUMAR JAISWAL	Equity	Equity share of Rs. 10 each	1208870111355557	India	Male	Income Tax PAN	AGYPJ8474B	100	10	1000.00
1228	Individual	Other than promoter	SHASTRI KUMAR SAH	Equity	Equity share of Rs. 10 each	1208870111881738	India	Male	Income Tax PAN	FUXPS7068N	1	10	10.00
1229	Individual	Other than promoter	SARIKA.	Equity	Equity share of Rs. 10 each	1208870112916102	India	Female	Income Tax PAN	FVVPS3196C	20	10	200.00
1230	Individual	Other than promoter	FAZIL KHAN PATTAN	Equity	Equity share of Rs. 10	1208870117209520	India	Male	Income Tax PAN	GJHPP0051A	1	10	10.00
1231	Individual	Other than promoter	BASANT KUMAR JHA	Equity	each Equity share of Rs. 10	1208870118049399	India	Male	Income Tax PAN	AHSPJ9802A	25	10	250.00
1232	Individual	Other than promoter	LOMNOKTESIA	Equity	each Equity share of Rs. 10	1208870124328631	India	Male	Income Tax PAN	AWNPT4720D	558	10	5580.00
1233	Individual	Other than promoter	AMIT GOYAL	Equity	each Equity share of Rs. 10	1208870130771336	India	Male	Income Tax PAN	BIBPG9015R	10	10	100.00
1234	Individual	Other than promoter	SUDEEP MITRA	Equity	each Equity share of Rs. 10	1208870138877896	India	Male	Income Tax PAN	AWMPM3027B	5	10	50.00
	Individual	· ·	BIRENDRA KUMARSINGH VIKASHKUMAR		each Equity share of Rs. 10	1208870141200261		Male	Income Tax PAN	AMYPV4827E		10	10.00
1235		Other than promoter		Equity	each		India				1		
1236	Individual	Other than promoter	SAMEER DATTATRAY SASANE	Equity	Equity share of Rs. 10 each		India	Male	Income Tax PAN	HPAPS8247M	1	10	10.00
1237	Individual	Other than promoter	SHANU.	Equity	Equity share of Rs. 10 each		India	Female	Income Tax PAN	NKKPS9071L	139	10	1390.00
1238	Individual	Other than promoter	SANJAY CHOUBEY	Equity	Equity share of Rs. 10 each	1208870184584862	India	Male	Income Tax PAN	AGEPC9602J	71	10	710.00
1239	Individual	Other than promoter	SHOAIB AKHTAR KHAN	Equity	Equity share of Rs. 10 each	1208870193610445	India	Male	Income Tax PAN	BIXPK2052A	10	10	100.00
1240	Individual	Other than promoter	ARUN KUMAR	Equity	Equity share of Rs. 10	1208870199034841	India	Male	Income Tax PAN	CRLPK4857R	29	10	290.00
\Box			1		each	I .	 L						,

1241	Individual	Other than promoter	KESHAV KUMAR	Equity	Equity share of Rs. 10 each	1208870202533791		India	Male	Income Tax PAN	BWSPK7682P		100	10	1000.00
1242	Individual	Other than promoter	SHITAL AMAR SATPUTE	Equity	Equity share of Rs. 10 each	1208870217733052		India	Female	Income Tax PAN	CLNPS4110D		11	10	110.00
1243	Individual	Other than promoter	DEVENDRA KUMAR SINHA	Equity	Equity share of Rs. 10	1208870220959755		India	Male	Income Tax PAN	AOBPS1514C		5	10	50.00
1244	Individual	Other than promoter	SAURABH RATURI	Equity	each Equity share of Rs. 10	1208870221358479		India	Male	Income Tax PAN	FHOPR3627C		7	10	70.00
1245	Individual	Other than promoter	KRISHNA SAHU	Equity	each Equity share of Rs. 10	1208870222040320		India	Male	Income Tax PAN	MSAPS6464G		5	10	50.00
		· ·			each										
1246	Individual	Other than promoter	DEEPAKBHAI ANANDBHAI HIRANI	Equity	Equity share of Rs. 10 each	1208870224656531		India	Male	Income Tax PAN	ABZPP3586G		10	10	100.00
1247	Individual	Other than promoter	THIMMASANDRA NAGOJI RAO RASHMI	Equity	Equity share of Rs. 10 each	1208870238903478		India	Male	Income Tax PAN	DPNPR2695P		170	10	1700.00
1248	Individual	Other than promoter	GHANSHYAM.	Equity	Equity share of Rs. 10	1208870241760295		India	Male	Income Tax PAN	EJPPG2286E		2	10	20.00
1249	Individual	Other than promoter	YUVRAJ.	Equity	each Equity share of Rs. 10	1208870251580929		India	Male	Income Tax PAN	BRIPY9784R		2	10	20.00
1250	Individual	Other than promoter	AMIT SIKARWAR	Equity	each Equity share of Rs. 10	1208870255988159		India	Male	Income Tax PAN	JUQPS9749D		1	10	10.00
		· ·			each										
1251	Individual	Other than promoter	RAJENDRA PRASAD RAM PRASAD MALI	Equity	Equity share of Rs. 10 each	1208870256733841		India	Male	Income Tax PAN	AYTPM8626M		2	10	20.00
1252	Individual	Other than promoter	NETRA PAL SINGH	Equity	Equity share of Rs. 10 each	1208870258854612		India	Male	Income Tax PAN	AWEPS3198K		100	10	1000.00
1253	Individual	Other than promoter	AMOL DEORAOJI BONDRE	Equity	Equity share of Rs. 10	1208870270642457		India	Male	Income Tax PAN	ALPPB9778E		10	10	100.00
1254	Individual	Other than promoter	VIRAJ VIJAYKUMAR GAVHANE	Equity	each Equity share of Rs. 10	1208870274200125		India	Male	Income Tax PAN	EJJPG5710D		2	10	20.00
1255	Individual	Other than promoter	SHIVANGI.	Equity	each Equity share of Rs. 10	1208870279999128		India	Female	Income Tax PAN	PARPS6629K		2	10	20.00
		· ·			each										
1256	Individual	Other than promoter	IQBAL SAYAD	Equity	Equity share of Rs. 10 each	1208870282262106		India	Male	Income Tax PAN	AHGPH4292L		13	10	130.00
1257	Individual	Other than promoter	TREEZA SAJI JOHN .	Equity	Equity share of Rs. 10 each	1208870294139259		India	Male	Income Tax PAN	BAXPP8598N		22	10	220.00
1258	Individual	Other than promoter	AJJURRAHAMAN .	Equity	Equity share of Rs. 10	1208870294959074		India	Male	Income Tax PAN	BYYPA0314C		5	10	50.00
1259	Individual	Other than promoter	PRAKASH KASHAPPA KOPPAD .	Equity	each Equity share of Rs. 10	1208870297811681		India	Male	Income Tax PAN	CMYPK8067R		30	10	300.00
1260	Individual	Other than promoter	DAMLING WANGSA.	Equity	each Equity share of Rs. 10	1208870301152613		India	Male	Income Tax PAN	AEDPW6708A		1	10	10.00
		· ·			each										
1261	Individual	Other than promoter	 ARCHANA SINGH.	Equity	Equity share of Rs. 10 each	1208870307830548		India	Female	Income Tax PAN	JTMPS3445D		374	10	3740.00
1262	Individual	Other than promoter	RUMA	Equity	Equity share of Rs. 10 each	1208870308266127		India	Female	Income Tax PAN	DUVPR5102Q		100	10	1000.00
1263	Individual	Other than promoter	SAI KALYAN MACHIRAJU	Equity	Equity share of Rs. 10	1208870324475515		India	Male	Income Tax PAN	GCLPM2129D		14	10	140.00
1264	Individual	Other than promoter	RAJU PARASAPPA BHAVIMANI	Equity	each Equity share of Rs. 10	1208870324538693		India	Male	Income Tax PAN	AUTPB1253F		25	10	250.00
1265	Individual	Other than promoter	KURUVA MAHESH	Equity	each Equity share of Rs. 10	1208870338237064		India	Male	Income Tax PAN	GCFPM8484M		17	10	170.00
1266	Individual	Other than promoter	SANDEEP NIKESH POONDLA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	CEWPP7950L		10	10	100.00
					each										
1267	Individual	Other than promoter	SANJEET KUMAR	Equity	Equity share of Rs. 10 each	1208870353246191		India	Male	Income Tax PAN	LXSPK1312D		1	10	10.00
1268	Individual	Other than promoter	SANJAY KUMAR BHUIA	Equity	Equity share of Rs. 10 each	1208870354227368		India	Male	Income Tax PAN	BUAPB0112K		1	10	10.00
1269	Individual	Other than promoter	NAGARAJ BHARATH	Equity	Equity share of Rs. 10	1208870356136463		India	Male	Income Tax PAN	HRUPB7535P		1	10	10.00
1270	Individual	Other than promoter	MAMATHA	Equity	each Equity share of Rs. 10	1208870360241599		India	Female	Income Tax PAN	HYXPM0122B		20	10	200.00
1271	Individual	Other than promoter	MANISH RAJ	Equity	each Equity share of Rs. 10	1208870365137314		India	Female	Income Tax PAN	BBTPR3650L		1	10	10.00
					each										
1272	Individual	Other than promoter	ARJUN SAHANI	Equity	Equity share of Rs. 10 each	1208880001536637		India	Male	Income Tax PAN	DYEPS2079Q		53	10	530.00
1273	Individual	Other than promoter	SANDEEP KUMAR	Equity	Equity share of Rs. 10 each	1208880002413223		India	Male	Income Tax PAN	ATCPK1819N		38	10	380.00
1274	Individual	Other than promoter	NARENDRA KUMAR V THEGELA	Equity	Equity share of Rs. 10 each	1208880018904337		India	Male	Income Tax PAN	AEXPT8672C		10	10	100.00
1275	Individual	Other than promoter	SHIV KUMAR GUPTA	Equity	each Equity share of Rs. 10	1208880020047340		India	Male	Income Tax PAN	BBZPG0005L		1	10	10.00
1276	Individual	Other than promoter	NITIN DUTTA	Equity	each Equity share of Rs. 10	1208880023850828		India	Male	Income Tax PAN	AEAPD6126L		2	10	20.00
					each										
1277	Individual	Other than promoter	AJAY KUMAR AGRAWAL	Equity	Equity share of Rs. 10 each			India	Male	Income Tax PAN	AMDPA0994L		6	10	60.00
1278	Individual	Other than promoter	RAJ NAYYAR	Equity	Equity share of Rs. 10 each	1208940000142880		India	Male	Income Tax PAN	BBQPN8733B		5	10	50.00
1279	Individual	Other than promoter	SWAPNIL ANNA SHEWALE	Equity	Equity share of Rs. 10	120900000068281		India	Male	Income Tax PAN	GLIPS1999M		20	10	200.00
1280	Individual	Other than promoter	WILSON ANTU BARDESKAR	Equity	each Equity share of Rs. 10	1209290000833189		India	Male	Income Tax PAN	AJRPB9890M		2	10	20.00
1281	Individual	Other than promoter	MUNMUN DAS	Equity	each Equity share of Rs. 10	1209290001463912		India	Female	Income Tax PAN	BHIPD4136Q		8	10	80.00
1282	Individual	Other than promoter	SEEMA GOEL	Equity	each Equity share of Rs. 10	1209500007501749		India	Female	Income Tax PAN	AFYPG0701R		3	10	30.00
					each										
1283	Individual	Other than promoter	 NILESH PADMANATH VALWAIKAR	Equity	Equity share of Rs. 10 each	1209550000412584		India	Male	Income Tax PAN	ACPPV6517J		25	10	250.00
1284	Individual	Other than promoter	 KRISHNAPPA DIVAKARA	Equity	Equity share of Rs. 10 each	1209550002623126		India	Male	Income Tax PAN	AHFPD8314A		1	10	10.00
1285	Individual	Other than promoter	VIJAY BHAURAO UPRIKAR	Equity	Equity share of Rs. 10	1209550006227129		India	Male	Income Tax PAN	ABAPU4897L		9	10	90.00
1286	Individual	Other than promoter	NAGARAJU MERUGU	Equity	each Equity share of Rs. 10	1209550006855992		India	Male	Income Tax PAN	AOBPM3304A		27	10	270.00
1287	Individual	Other than promoter	VIJAY RAMSAHAY GUPTA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	BTEPG9196H		1	10	10.00
					each										
1288	Individual	Other than promoter	 KARTHICK RAJENDRAN	Equity	Equity share of Rs. 10 each	1209550014660067		India	Male	Income Tax PAN	DZBPK6776G		1	10	10.00
1289	Individual	Other than promoter	 STEPHENDAVID FEDINSTEPHY	Equity	Equity share of Rs. 10 each	1209550015391852		India	Male	Income Tax PAN	AAUPF2658K		24	10	240.00
1290	Individual	Other than promoter	SAIKATJANA	Equity	Equity share of Rs. 10	1209550015890420		India	Male	Income Tax PAN	AYJPJ3286E		10	10	100.00
1291	Individual	Other than promoter	POOJA.	Equity	each Equity share of Rs. 10	1209600003426227		India	Female	Income Tax PAN	HXOPP6118Q		287	10	2870.00
1292	Individual	Other than promoter	KAILASH CHANDRA SHARMA	Equity	each Equity share of Rs. 10			India	Male	Income Tax PAN	BCYPS6710G		5	10	50.00
					each										
1293	Individual	Other than promoter	SURAJ MURLIDHAR KAKDE	Equity	Equity share of Rs. 10 each	1209600005261998		India	Male	Income Tax PAN	EKEPK7348F		10	10	100.00
1294	Individual	Other than promoter	 AJAY KUMAR SINGH	Equity	Equity share of Rs. 10 each	1209600005626861		India	Male	Income Tax PAN	AVIPS8260M		50	10	500.00
1295	Individual	Other than promoter	RAJU RAM PRAJAPAT	Equity	Equity share of Rs. 10	1209600007087365		India	Male	Income Tax PAN	ELDPP1276D		6	10	60.00
\vdash	Individual	Other than promoter	SANDEEP CHOUDHARY	Equity	each Equity share of Rs. 10	1209600007718299		India	Male	Income Tax PAN	AIFPC3405N		15	10	150.00
1296			1		each	1	1	1	1			1			

1297	Individual	Other than promoter	PAWAN KUMAR RATHI	Equity	Equity share of Rs. 10 each	1209600008777331	India	Male	Income Tax PAN	AFOPR8475H	2	10	20.00
1298	Individual	Other than promoter	PAKKI VENKATA TATAJI	Equity	Equity share of Rs. 10 each	1209600010367111	India	Male	Income Tax PAN	DXAPP1776E	4	10	40.00
1299	Individual	Other than promoter	HANSIKA SANDEEP ZAVERI	Equity	Equity share of Rs. 10 each	1301240002609450	India	Female	Income Tax PAN	AAJPZ9487F	1	10	10.00
1300	Individual	Other than promoter	SOLANKI MAHENDRABHAI ARJUNBHAI	Equity	Equity share of Rs. 10 each	1301240003295190	India	Male	Income Tax PAN	GIKPS6184K	100	10	1000.00
1301	Individual	Other than promoter	MAHENDRA RAJMAL GADIA	Equity	Equity share of Rs. 10 each	1301540000093281	India	Male	Income Tax PAN	AABPG0115D	10	10	100.00
1302	Individual	Other than promoter	KALPESH NAVNITLAL SHAH	Equity	Equity share of Rs. 10 each	1301670000265200	India	Male	Income Tax PAN	AFEPS2769F	10	10	100.00
1303	Individual	Other than promoter	JAYANTIBHAI K. PATEL	Equity	Equity share of Rs. 10 each	1301670000588586	India	Male	Income Tax PAN	AQQPP9504J	120	10	1200.00
1304	Individual	Other than promoter	SANJAY CHHAGANLAL BHUTADA	Equity	Equity share of Rs. 10 each	1302310000104320	India	Male	Income Tax PAN	AQYPB4659E	1	10	10.00
1305	Individual	Other than promoter	BHANUMATI C SAVLA	Equity	Equity share of Rs. 10 each	1302340000033956	India	Female	Income Tax PAN	AADPS8862P	250	10	2500.00
1306	Individual	Other than promoter	NATASHA FRANCIS D'SOUZA	Equity	Equity share of Rs. 10 each	1302590001326086	India	Female	Income Tax PAN	AOQPD1230B	100	10	1000.00
1307	Individual	Other than promoter	SANDEEP JAIN	Equity	Equity share of Rs. 10 each	1304140000633197	India	Male	Income Tax PAN	ADIPJ5790R	2	10	20.00
1308	Individual	Other than promoter	LOKESH GUPTA	Equity	Equity share of Rs. 10 each	1304140001647317	India	Male	Income Tax PAN	AIYPG5987C	2	10	20.00
1309	Individual	Other than promoter	EKTA JAIN	Equity	Equity share of Rs. 10 each	1304140002347187	India	Female	Income Tax PAN	AHVPJ8281G	1	10	10.00
1310	Individual	Other than promoter	SHRUTIJAIN	Equity	Equity share of Rs. 10 each	1304140003208758	India	Female	Income Tax PAN	AlYPJ1488M	1	10	10.00
1311	Individual	Other than promoter	KAMLA PANT	Equity	Equity share of Rs. 10 each	1304140004318441	India	Female	Income Tax PAN	AOSPP7359H	11	10	110.00
1312	Individual	Other than promoter	AYUSH GUPTA	Equity	Equity share of Rs. 10 each	1304140007635382	India	Male	Income Tax PAN	BNZPG5594E	5	10	50.00
1313	Entity	Other than promoter	MEGA HEIGHTS REALTORS PRIVATE LIMITED	Equity	Equity share of Rs. 10 each	1304140008316784	India	Not applicable	CIN	U45200BR2015PTC024367	101	10	1010.00
1314	Individual	Other than promoter	SAPNA GUPTA	Equity	Equity share of Rs. 10 each	1304140009640275	India	Female	Income Tax PAN	CXCPG8452R	118	10	1180.00
1315	Individual	Other than promoter	PREETI KAUSHIK	Equity	Equity share of Rs. 10 each	1306130000030031	India	Female	Income Tax PAN	AUGPK7016A	51	10	510.00
1316	Individual	Other than promoter	RAMA REDDY RAMI REDDY	Equity	Equity share of Rs. 10 each	1601430102912943	India	Male	Income Tax PAN	BDSPR1504E	25	10	250.00